Compulsory English
Marking Scheme Set (4)

1. This question carries 5 marks. Award 1 mark for each correct answer.
I. True
ii. False
iii. True
iv. True
V. False

2. A. This question carries 5 marks. Award 1 mark for each correct answer. Possible answers
a. Hat

eggs

Working

All the caterpillars

‘alright’

©® o0 o

B.
a. The man frowned his face because he saw the school children looking for the job in his
farm.
b. The reason behind Saraha and Jamie looking for the job is to support their parents.
c. Sarah and Jamiee should have been at school because they were students.
d. The eggs transform into caterpillar.
e. The idea about supporting their parents made the man provide the job for the children.
3. A. This question carries 5 marks. Award 1 mark for each correct answer.
a. (if) Branch manager  b. (iii) qualified and dynamic Nepalese candidates
c. (iii) three years for branch manager and five years for legal officer
d. (iii) oral and written communication properly
e. (i) candidates with required qualification and experience
B.A. This question carries 5 marks. Award 1 mark for each correct answer.
a. June 22nd, 2025
b. branch manager and legal officer
c. CV, two references, Citizenship Certificate Copy, Password Sized Photo,
Academic Certificates Copies
d. The bank seeks for two references compulsorily to make a confirmation and verifications
of candidates’ details.
e. Because the practitioner lawyer holding advocate license work for legally related issues in
the bank.

4. A. This question carries 5 marks. Award 1 mark for each correct answer. Possible answers

Column A Column B

A. Bliss ii. Perfect happiness

B. magnificent iv. Elegant or splendid in appearance
C. trail v. the track or indication marking the route

d. hikers iii. Travellers on long walk for pleasure



€. scenery

B. the correct order is as below.

1. People in Pokhara were observing the festival ‘Tihar’

ii. People were riding bicycles near the lakeside

iii. The writer with his friends went on boating

iv. Some hikers were stopping midway because of the steep trail

v, They could see the clear view of the city with the sun shining on it.
C. This question carries 5 marks. Each correct answer carries 1 mark.
I. The writer found the journey unforgettable because he saw many beautiful sceneries and
the journey was very exciting.
ii. The two things that the writer saw in Pokhara are (a) street bustling with tourists (b)
magnificent view of the mountains etc
iii. The writer and his friends could not reach the top because of the steep trail.
iv. The writer went to visit the hiking trail with a Shiva statue at the top on the second day
v, The weather was windy on the first day.

5. Writing rules and regulations: Award marks based on the following rubrics.

i. view or landscape

Marks/ | Content (3) Vocabulary,Layout& Grammar&Mechanics
Criteria Organization(1) (1)
3 Effectivelystatedandstrongly
supportedcontentbyfullyaddre
ssing the prompt
25 Effectively stated and
adequately
supportedcontentbyfullyaddress
ing
theprompt
2 Clearéystatedandadequatelysup
porte
contentinlinewiththeprompt
1.5 Clearlystatedcontentwithsome
support
1 Meregeneralizedandrepeatedan \/tariedvocabulary,cohere Raregt]ra{nmati(cjal, i
: cci n unctuationandspelli
d/or missing content sentencestructuresandlink ﬁg errors P
ing words
0.5 Ideasshowthoughtbutnottiedtot | Varied vocabulary, Frequent
he topic incoherent grammatical,
sentencestructuresandlink| punctuationandspelli
ing ng
words errors
0 Norelevantcontentatall
6. Writing a message of condolence.Award marks based on the following rubrics.
Marks/ | Content (3) Vocabulary,Layout& Grammar&Mechanics
Criteria Organization(1) (1)




3 Effectivelystatedandstrongly
supportedcontentbyfullyaddre
ssing the prompt
2.5 Effectively stated and
adequately
supportedcontentbyfullyaddress
ing
theprompt
2 Clearg/statedandadequatelysup
porte
contentinlinewiththeprompt
1.5 Clearlystatedcontentwithsome
support
1 Meregeneralizedandrepeatedan | Varied vocabulary, Rare grammatical,
d/or missing content coherent punctuationandspelli
sentencestructuresandlink| ng
ing errors
words
0.5 Ideasshowthoughtbutnottiedtot | Varied vocabulary, Frequent
he topic incoherent grammatical,
sentencestructuresandlink| punctuationandspelli
ing ng
words errors
0 Norelevantcontentatall

7. Composing a dialogue: Award marks based on the following rubrics.

Marks/ | Content (3) Vocabulary,Layout& Grammar&Mechanics
Criteria Organization(2) (1)
3 Effectivelystatedandstrongly
supportedcontentbyfullyaddre
ssing the prompt
2.5 Effectivelystatedandadequately
supported content by fully
addressing
the prompt
2 Clearly stated and adequately \varied vocabulary,
iﬁgg%ﬁ%é:ontent inline with |o5herent sentence
structures and linking
words with
appropriate format
1.5 Clearly stated content with Varied vocabulary, often
some support incoherent sentence
structures and linking
words
appropriate format
1 Mere generalized and repeated |Limited vocabulary, Rare grammatical,
and/for missing content incoherent but punctuation and
comprehensible sentence spelling errors




structures
0.5 Ideas show thought but not tied |_imited vocabulary, Frequent grammatical,
to the topic haphazard sentence punctuation and
structures with more spelling errors
errors
0 No relevant content at all Complete use of No structured
transliteration sentences
at all
8. Writing a personal letter. Award marks based on the following rubrics.
Marks/ | Content (5) Vocabulary,Layout& Grammar&Mechanics
Criteria Organization(2) (1)
5 Effectivelystatedand strongly
supportedcontentbyfully
addressing the prompt
4.5 Effectivelystatedand adequately
supportedcontentbyfully
addressing the prompt
4 Adequatelystatedandsupported
content by fully addressing the
prompt
3.5 Adequatelystatedandsupported
contentbypartiallyaddressingthe
prompt
3 Clearly stated and adequately
supportedcontentinlinewiththe
prompt
25 Clearlystatedandsupportedbut
oftendeviatedcontentinlinewith
the prompt
2 Partiallystated,oftenmisinterpret| VVariedvocabulary,coher
ed content with some support ent sentence structures
and linking words with
appropriateformat
1.5 Partiallystated,oftenrepeated Varied vocabulary, often
content with some support incoherent sentence
structuresandlinkingwor
ds
appropriateformat
1 Limitedcontentoftenwithbroken | Limitedvocabulary, Raregrammatical,
punctuationandspelli
ng
sentences with no support incoherent but errors
comprehensible sentence
structures
0.5 Ideas show thought but not tied | Limited vocabulary, Frequent
to the topic haphazard sentence grammatical,
structures with more punctuation and
errors spelling errors




0 No relevant content at all Complete use of No structured
transliteration sentences at all

9. Grammar. Reproduction: This question carries 6 marks. Award 1 mark for each correct answer.
Possible answers.
a. Aren’t I?
b. Muskan never smiles in classroom.
c. When does our school start?
d. Did Hari ask Ram for help?
e. His parents are disobeyed by him.
f. The teacher asked if | had been absent the before/ previous day
10. Grammar in Context/MCQ. This question carries 5 marks. Award 0.5 for each correct answer.
1.on 2.An 3. Had reached 4.Wasrung 5. Take6. Because 7. Was he?
8. He didn’t wear 9. Was laughing 10. Wouldn’t have laughed



COMPULSARY ENGLISH
Reading and Writing
(Written Test)
Grade: 10 Full Marks: 75

Time: 3 Hours
Candidate are required to give answer according to the given instructions.
1. Read the text given below and do the tasks: 5
Sugarloaf Mountain is a striking natural landmark overlooking Rio de Janeiro

that sits at the entrance to Guanabara Bay in southeastern Brazil.
Known as Pao de Acucar in Portuguese, it is named for its unique shape that resembles
a traditional form of refined sugar used in the 19th century. A tall granite cone with a
circular top, it reaches up some 1299 feet, or 396 metres. Here are 5 interesting facts
about this spectacular part of Rio de Janeiro, Brazil.
Sugar Loaf Mountain is one of the largest and most popular urban rock-climbing
destinations in the world. There are 270 different routes to explore in the area as you
climb high above the Atlantic Ocean and the sprawling Rio de Janeiro. You can give it
a hand yourself, or watch other adventurers conquer the iconic mountain.
A. Write True for true statements and False for the false ones. [5x1=5]
i. Sugarloaf Mountain is a beautiful symbolic mountain in Brazil.
ii. Sugarloaf Mountain is a 396 metres tall granite cone with a cubical top.
iii. Sugarloaf Mountain is a popular rural destination.
iv. Sugar Loaf Mountain offers a unique blend of adventure and stunning scenery.
V. Sugarloaf's rich variety of routes and iconic setting make it a must-visit destination.
2. Read the text given bellow and do the tasks: [ 10]

Pratap Malla was one of the most famous kings of Malla Dynasty. He constructed
some architectural structure around Kathmandu. The way he came to the throne is
very interesting and controversial at the same time. He had the experience of
administration even when his father was alive. When his father Laxmi Nara Singh's
madness grew worse, he imprisoned his father and he himself ruled as a regent of his
father in Kantipur.
He was an able administrator. Kantipur was highly developed during his reign. Trade
with Lhasa (Tibet) was also going on well. By his tact he was making the kings of
Lalitpur and Bhaktapur play against each other. Sometimes he sided with Bhaktapur
and posed a threat to Lalitpur. On other occasions, he aligned with Lalitpur and fell
upon Bhaktapur.
Pratap Malla was a religious-minded person. He built a beautiful temple at
Guhyeshwari and fenced it. He renovated the temple of Pashupatinath and raised a
pinnacle over it. At Swayambhu he built Pratappur, Kabeendrapur and many other
temples and also set up a copper gilt 'Bajra’. He also renovated the temples of Basuki
Bhimsen, Taleju, and Degutale. With a view to warding off evils, he erected an image
of Hanuman, the monkey god, by the side of his palace gate and called the palace
Hanumandhoka. He erected the golden gate of the palace, set up an image of Nri
Simha, Kal Bhairab, and Vishwaroop at Layaku Bahi. Inside the palace, he also set up
Sundari Chowk and Mohan Chowk. A pond was dug at Bhandarkhal and filled with
water brought from Budhanilakantha. He installed an image of Narayan lying in the
pond, an exact from Budhanilakantha Temple.



Pratap Malla was vastly-learned king and a poet. He could compose poems in
Sanskrit, Nepal Bhasa, Nepali, Bengali and Hindi. He also knew Arabic, Roman and
English scripts. Because of his excellent poems, he conferred on himself the title of

'Kabeendra', a king of poets. Himself learned, Pratap Malla had a galaxy of learned
men in his palace as the Mughal Emperor Akbar had. Like Akbar, he also respected
and patronised the scholars of his time.
A. Rewrite the following sentences rearranging them in the correct
order: [5x1=5]

i. Temples were built, rebuilt and set up Bajras.

ii. Business with Lhasa flourished during Pratap Malla's time.

iii. Pratap Malla was a great literary figure and multilingual scholar in his time.
iv. How Pratap Malla became the king of Kantipur is really amazing.

v. Hanuman is the God of monkeys.

B. Answer these questions. [5x1=5]

a. Why did Pratap Malla keep his father in jail?

b. Where did Pratap Malla place the image of Lord Hanuman?

c. How did Pratap Malla keep his kingdom safe from Lalitpur and Bhaktapur?

d. Make a list of his contributions to arts.

e. Pratap Malla conferred himself with the title 'Kabeendra'. Do you think this title
suit him? Give reasons.

3. Read the following text and do the tasks followingly. [ 10]

You probably know this famous song. Americans have been singing it
for more than 250 years. But where does this song come from? What exactly is a
Yankee Doodle? And what’s this business about macaroni? The song was written
around 1750 by a British composer—nobody knows his name. But one thing is certain:
The composer didn’t like Americans very much. Like most British people, he thought
that people living across the ocean in the American colonies were a bunch of
unsophisticated slobs. The word Yankee was a nickname for the colonists. The word
doodle was another word for “fool.” Get the picture? Now for the macaroni part. Back
in colonial days, fashionable men in London wore their hair long and tied up in a bun
on top of their heads. They called this style the macaroni. (Aren’t you dying to try it
yourself?) The song jokes that Yankees were so uncool that they thought that wearing
a feather in a cap was the same as having a fancy macaroni hairdo. How insulting!
During the Revolutionary War, British soldiers tried to infuriate American colonists
by singing “Yankee Doodle.” But their joke backfired like a broken cannon. The
American soldiers thought the song was so funny they made it their song. They sang
it when they marched. They sang it after they won battles. They sang it any time they
felt like it. After the Americans won the war, “Yankee Doodle” remained a big hit. It’s
still popular today. And nobody seems to mind that it started out as a big joke!

A.Complete the following sentences using the appropriate words based on
the text. [5x1= 5]



a. The song "Yankee Doodle" was written around the year .
b. In colonial days, fashionable London men wore a hairstyle called
was a bun tied on top of their heads.
c. The British soldiers sang Yankee Doodle to make fun of the American

, which

colonists, but the Americans____ the song and made it their own.
d. Even though Yankee Doodle was originally meant as an insult, it is still
popular today because .
e. The word doodle in the song Yankee Doodle originally meant .
B. Answer the following questions based on the text. [5x1=5]

a. Who wrote the song “Yankee Doodle”?
b. How did American soldiers use the song “Yankee Doodle” during the
Revolutionary War?
c. What does the word “macaroni” refer to in the song?
d. Why did the British composer write the song to mock Americans?
e. How did the meaning of the song “Yankee Doodle” change over time?
4. Read the following text and do the activities. [ 15]

‘Oonko Sweater’: A love knitted in silence
'Oonko Sweater', directed by Nabin Chauhan and presented by Artmandu, is a
heartwarming portrayal of love and connection. The story revolves around
Dharanidhar Kafle and Phool, brought to life by Bipin Karki and Miruna Magar.
Known primarily for producing music videos, Artmandu takes a commendable step
into feature filmmaking with this debut. Their debut presentation is praise-worthy,
and Chauhan's writing and direction deserve equal credit for such a grounded,
emotionally rich narrative. For both the director and the production house, 'Oonko
Sweater' marks the beginning of a creative journey.
The movie features a diverse cast, including dancer Alex Biswokarma, marking his
acting debut. Pariksha Limbu also takes on a supporting role, contributing to the
film's overall narrative. Wilson Bikram Rai's comic timing is praiseworthy-his
presence on screen never fails to bring a smile. Sunil Pokharel, playing the father of
Dharanidhar Kafle, delivers a solid performance, while Maotse Gurung adds depth
to the film with his fine acting as Mit Buwa, Dharanidhar's father figure.
The film is a gentle look at how society's expectations shape people's lives, and how
some quietly resist them. Through its characters and setting, it shows how caste
beliefs are still deeply rooted, especially among higher castes who are unwilling to let
go of pride and tradition.
The simplicity of the cinematography complements the understated elegance of the
film's storyline, highlighting the warmth and authenticity of the characters. The
rural settings are not just a backdrop but integral to the film's tone, reflecting the
characters' struggles, hopes, and deep connections to the land. The film captures the
region's beauty, with shots of yaks grazing and the cold, foggy winters surrounding
the hills. Such a breathtaking backdrop not only showcases Nepal's diverse beauty
but also makes every Nepali feel proud of their homeland's scenic beauty.
The title 'Oonko Sweater' itself carries a deeper meaning. The sweater, knitted with
love by a lover, becomes a metaphor for warmth and connection. Every stitch in the
fabric of their story ties them together through moments of tenderness, loss, and
longing, transforming an ordinary sweater into a profound symbol of affection.
A. Match the meanings in column 'A' with the words in column': [ 5X1=5 ]



a) portrayal i) to refuse to accept

b) revolve ii) very different
¢) debut iil) to move in a circle
d) resist iv) a person's first performance in a particular role
e) diverse v) very great or intense
vi) a picture
B. Choose and copy the best answeer. [5X1= 5]

a) In the film '‘Oonko Sweater' Nabin Chauhan is...........

i) only the director

i1) the director and writer

iii) the producer

iv) the music composer

b) Who is the comic charcter in the film ‘Oonko Sweater'.?

1) Wilson Bikram Rai

i1) Pariksha Limbu

iii) Sunil Pokharel

iv) Alex Biswokarma

¢) The film 'Oonko Sweater’is set in.................

1) Uninhabited area

i) City area

iii)Terai area

iv) Hilly rural area

e) The film '‘Oonko Sweater’ shows that...........

i) there is still racial discriminatiomn in the society.

ii) there is not any racial discriminatiomn in the society.

iii) there is racial equality in the society

iv) there is not any gender discrimination in the society

e) The film '‘Oonko Sweater' is about............

1) revenge

i1) hatred

iii) Love and affection

iv) betrayal

C. Answer the following questions: [5X1=51]
a) Who are the main actors of the film ‘Oonko Sweater'?

b) What role does Sunil Pokharel play in the film?

c) How does the film reflect village life?

d) What does the 'Sweater' symbolize in the film '‘Oonko Sweater'?
e) Would you recommend this film to your friend? Why? Why not?
5. Write a set of rules and regulations to be followed by the students in an
examination hall in about 100 words using the guidelines given below. [5]

No mobile phones and notebooks......... Enter on time......As per seating plan....
copying prohibited........ follow invigilators instructions.....submit before bell rings.

6. Suppose one of your school friends has received the first prize in a
debate competition organized by your municipality. Write a formal



message of congratulation to be published in a newspaper in about 100
words by using the following clues. [5]

Name.......class........ first prize in speech competition......Hard work, discipline,
oratory skill......happy and proud.......congratulations.... best wishes.

7. Write a few paragraphs about climate change mentioning its causes,
consequences and measures to control it in the present world in about
120 words. [6]

8.Imagine that you are unable to attend your friend's birthday due to
your sickness. Write an email to your friend apologizing for your
absence in the party in about 150 words. [8]

9. Reproduce the following sentences as indicated in the brackets. [6x1=6]
(a) Walk carefully .............. ? (supply the correct question tag)

(b) Did they help you? (change into statement)

(c) She has been studying for three hours. (Change into 'How long' question)
(d)Listen! The baby.......... (cry) (Use the correct tense of the verb cry)

(e) She said to me “Where will you go tomorrow? ". (Change into indirect speech)

(f) People are cutting down the trees. (Change into passive voice)

10. Choose and copy the best answer or the numbered blanks below.
Rewriting is not compulsory. [ 10x0.5=5]
One day, ...... a.... (in, on, at, between) a small farm in Maine, a man...b.... (sit, sits, sat,
is sitting) in a barn watching ......... C...... (a, an, the, no article) large grey spider spin a
web ...... d....... (beauty, attractively, nice, attractive). The man ...e...... (whom, whose,
when, who) was called as E.B. White. E.B. or Andy. Spiders were spectacular
creatures, ...f....? (don’t they, were they, weren’t they, wasn’t it). He thought that one
day he ...... g.... (might, may, can, will) like to write a children’s book about a spider
...... h...... (but, in spite of, and, so) writing was hard work for Andy. Mmany articles
and essays and poems ...i...... (are written, was written, had written, had been written)
by him. He had also written one children’s book, Stuart Little. But Andy could never
just rush to turn an idea into an article or book. He told his editor that he ......j.... (need,
needed, needs, will need) to let his ideas “ripen.”

THE END




Compulsory English

Marking Scheme Set
(1011)

1. This question carries 5 marks. Award 1 mark for each correct answer.
1. True

ii. false

iii. False

iv. True

v. True

2. A. This question carries 5 marks. Award 1 mark for each correct
answer.

(i) How Pratap Malla became the king of Kantipur is really amazing.

(ii) Business with Lhasa flourished during Pratap Malla’s time.

(iii) Temples were built, rebuilt and set up Bajras.

(iv) Hanuman is the God of monkeys.

(v) Pratap Malla was a great literary figure and multilingual scholar in his time.

B. This question carries 5 marks. Award 1 mark for each correct answer.
Answer should be given in Full sentences minor grammatical mistakes
should be considered.

(i) because he wanted to seize power and rule the kingdom himself.

(ii) at the gate of Hanumandhoka palace.

(iii) by establishing good diplomatic relations with Lalitpur and Bhaktapur and
avoiding conflicts.

(iv) Krishna temple at Patan, Rani Pokhari, etc

(v) Yes, because he was a great lover of literature, poetry and arts. He composed
poems too.

3. A. This question carries 5 marks. Award 1 mark for each correct
answer. Correct information:

(i) 1750

(ii) fool

(iii) macaroni

(iv) embraced/ adopted / liked/ used

(v) Americans turned it into a patriotic song/ they found it funny/ it became part of
their history

B. This question carries 5 marks. Award 1 mark for each correct answer.
Possible answers:

(i) A British composer wrote it, but his name is unknown

(ii) It means fool

(iii) They sang it when they marched, after winning battles and whenever they felt like
it

(iv) It refers to a fancy hairstyle worn by fashionable men in London at that time

(v) It changed from an insult to a patriotic and popular American song

4. A. This question carries 5 full marks. Award 1 mark for each correct
answer.
A. a) portrayal- vi) a picture

b) revolve - iii) to move in a circle



c)debut - iv) a person's first performance in a particular role
d)resist - i) to refuse to accept
e) diverse - ii) very different
B. This question carries 5 full marks. Award 1 mark for each correct
answer.
a) In the film 'Oonko Sweater' Nabin Chauhan is......
ii) the director and writer
b) Who is the comic character in the film '‘Oonko Sweater'.?
1) Wilson Bikram Rai
¢) The film ‘Oonko Sweater’is set in................
iv) Hilly rural area
e) The film '‘Oonko Sweater’ shows that..........
i) there is still racial discrimination in the society.
e) The film 'Oonko Sweater’is about............
iii) Love and affection
C. This question carries 5 full marks. Award 1 mark for each correct
answer.
a) Bipin Karki and Miruna Magar
b) The father of Dharanidhar Kafle
c) characters' struggles, hopes, and deep connections to the land. The film captures
the region's beauty, with shots of yaks grazing and the cold, foggy winters surrounding
the hills.
d) Love and affection.
e) Would you recommend this film to your friend? Why? Why not?

5. Rules and regulations. 51

5. Award marks | Content (3) vocabulary, Grammar &

based on the Layout & | Mechanics (1)

following Organization (1)

rubrics. Marks/

Criteria

3 Effectively stated and strongly
supported content by fully
addressing the prompt

2.5 Effectively stated and adequately
supported content by fully
addressing the prompt

2 Clearly stated and adequately
supported content in line with the
prompt

1.5 Clearly stated content with some
support

1 Mere Varied Rare

generalized and | vocabulary, grammatical,

coherent




repeated and/or | sentence punctuation and
missing content | structures and | spelling errors
linking words
0.5 Ideas show | Varied Frequent
thought but not | vocabulary, grammatical,
tied to the topic | incoherent punctuation and
sentence spelling errors
structures and
linking words
0 No relevant content at all

6. Message of congratulations. 5]
6. Award marks | Content (3) Vocabulary, Grammar &
based on the Layout & | Mechanics (1)
following Organization (1)
rubrics. Marks/
Criteria
3 Effectively stated and strongly
supported content by fully
addressing the prompt
2.5 Effectively stated and adequately
supported content by fully
addressing the prompt
2 Clearly stated and adequately
supported content in line with the
prompt
1.5 Clearly stated content with some
support
1 Mere Varied Rare
generalized and | vocabulary, grammatical,
repeated and/or | coherent punctuation and
missing content | sentence spelling errors
structures and
linking words
0.5 Ideas show | Varied Frequent
thought but not | vocabulary, grammatical,
tied to the topic | incoherent punctuation and
sentence spelling errors
structures and
linking words
0 No relevant content at all

7. Paragraph writing.

[6]




7. Award marks | Content (3) Vocabulary, Grammar &
based on the Layout & | Mechanics (1)
following Organization (2)
rubrics. Marks/
Criteria
3 Effectively stated and strongly
supported content by fully
addressing the prompt
2.5 Effectively stated and adequately
supported content by fully
addressing
| the prompt
2 Clearly stated and | Varied vocabulary,
adequately supported | coherent sentence
content in line with the | structures and linking
prompt words with appropriate
format
1.5 Clearly stated content | Varied vocabulary,
with some support often incoherent
sentence structures and
linking words
appropriate format
1 Mere generalized | Limited Rare
and repeated | vocabulary, grammatical,
and/or missing | incoherent but | punctuation and
content comprehensible | spelling errors
sentence
structures
0.5 Ideas show | Limited Frequent
thought but not | vocabulary, grammatical,
tied to the topic | haphazard punctuation and
sentence spelling errors
structures with
MOore errors
0 No relevant | Complete use of | No  structured
content at all transliteration sentences at all

8. Email writing.

[8]




8. Award marks
based on the
following
rubrics. Marks/
Criteria

Content (5)

Grammar &

Mechanics (1)

Vocabulary,
Layout &
Organization (2)

5

Effectively stated and
supported  content
addressing the prompt

strongly

by fully

4.5

Effectively stated and adequately
supported content by fully
addressing the prompt

Adequately stated and supported
content by fully addressing the
prompt

3:5

Adequately stated and supported
content by partially addressing the
prompt

Clearly stated and adequately
supported content in line with the
prompt

2.5

Clearly stated and supported but
often deviated content in line with
the prompt

Partially stated, often
misinterpreted content
with some support

Varied vocabulary,
coherent sentence
structures and linking
words with appropriate
format

1.5

Partially stated, often
repeated content with
some support

Varied vocabulary,
often incoherent
sentence structures
and linking words

appropriate format

Limited content
often with
broken
sentences
no support

with

Rare
grammatical,
punctuation and
spelling errors

Limited
vocabulary,
incoherent but

comprehensible  sentence

structures

0.5

Ideas show
thought but not
tied to the topic

Limited Frequent

vocabulary,
haphazard
sentence
structures with
more errors

grammatical,
punctuation and
spelling errors




0 No relevant | Complete use of | No  structured
content at all transliteration | sentences at all

9. Grammar: Reproduction [5]
This question carries 5 marks. Award 1 mark for each correct answer.
(i) will you?

(ii) They helped you.

(iii) How long has she been studying?

(iv) is crying

(v) She asked me where I would go the following/next day.

(vi) The trees are being cut down.

10. Contextual Grammar: 5]

This question carries 5 marks. Award 0.5 to each correct answer.

(a) on (b) sat (c) a (d) attractively (e) who (f) weren’t they (g) might
(h) but (i) had been written (j) needed

THE END



COMPULSORY ENGLISH
Reading and Writing
(Written Test)
Grade: 10 Full Marks: 75
Time: 3 hours
Candidates are required to give the answers in their own creative ways as far as possible.

1. Read the text given below and do the tasks.

A snow-covered forest in winter can be a quiet place. In spring, however, this same spot is filled with the
chirps, chatter, and calls of birds. Where do they go during the winter? In the past, people used to think that
during the winter, birds slept in holes that they dug in the ground. Others thought they hid in the mud on the
bottoms of ponds-alive, but waiting for spring. Others claimed that familiar summer birds transformed into
other types of birds in the winter. The truth is, in some ways, more incredible. What birds do during this time
is migrate: They fly over land and oceans without a roadmap or compass to destinations that are sometimes
thousands of miles away.

A. Write ‘True’ for the true statements and ‘False’ for the false ones. (5x1=15)
a. The snow-covered forest is occupied with the voice of birds in spring. (LC)
b. People thought that the birds came out of the hole in the winter. (LC)
c. The birds went under the ground and died. (Re)
d. Some people claimed that summer birds change into other types of birds. (LC)
e. The birds travel a long distance with their natural knowledge. (I)
2. Read the text given below and do the tasks.

Anuja, my daughter, is only 13. She spends most of her time on computer chatting with her friends and sending
messages. She has many e-friends. A couple of days ago she told me about her new e-friend. She is 12 and
Anuja is very fond of her. And now she is going to meet her. I warned her about bad people who fake
themselves as teenager, chat with girls like her and seek opportunities to take advantage of innocent girls. But
she doesn't listen to me. She thinks [ am an old man who is overprotective of his daughter, a man who sees
ghosts in every dark corner.

"Look, honey. I'm not saying you can't meet your friend. All I'm saying is let me come with you. I will not get
out of the car first and if I see a girl of 12 waiting, I'll do some window shopping and you can go and meet
her. But if there is no girl, we will wait for 10 minutes and then come back. OK?" "This is ridiculous." She
stamped her feet.

A. Fill in the blanks with the correct words/phrases from the text above. (5x1=35)
a. Anuja spends more time on ............... with her friends. (LC)
b. Anuja's father warned that bad people might tryto ................ of Anuja. (Re)
c. Anuja’s father wants to go with.......... to meet the new friend. (LC)
d. Anuja’s father will be busy in ............... to pretend as an unknown person. (I)
e. Anuja and her father will wait for ................. (LC)
B. Answer the following questions. (5x1=95)

a. When did Anuja tell her father about her new e-friend? (LC)
b. Why is Anuja going to meet her friend? (Re)
c. How does Anuja characterize her father? (I)




d. Do Anuja and her father walk on foot to meet the new friend? Explain. (I)
e. Does Anuja like her father’s suggestion? Give a reason. (E)

3. Read the following news story given below and do the tasks.

Leaders, Scientists Meet to Protect Oceans
NFK Editors - June 11, 2025
Nice, France

On Monday, scientists and government leaders came together in Nice, France for the third United Nations
(UN) Ocean Conference. The meeting is focused on the many challenges facing the world’s oceans, and
what can be done to help. The event comes as the US has suddenly taken a step back from protecting the
oceans.

The UN Ocean Conference is an international meeting aimed at helping the world do a better job of
protecting the oceans. It was first held in 2017. This year’s meeting is being held in France from June 9 to
13. It’s hosted by the governments of France and Costa Rica.

Scientists from around the world met last week in Nice to discuss ocean problems and to come up with
suggestions. This week, government leaders, scientists, and others are working to turn those suggestions into
real actions that can be taken to protect the oceans.

The scientists point out that we already know a lot about the problems facing the oceans, and the actions
needed. Scientist Diva Amon, who works at the University of California, Santa Barbara, says we already
know “...more than enough for global leaders to make the right decisions to save our oceans.”

A. Choose the best answer and write it down. (5x1=15)
a) Where was the news published from? (LC)
1.The US
11.Costa Rica
iii.France
v.California
b) What is the aim of the UN Ocean Conference? (LC)
1.Getting a better job for the world
i1.Protecting the ocean
iii.Helping the government of France
iv.Helping the scientists
¢) Who is going to host the meeting from June 9 to 13 ? (Re)
1.The United Nations
11.The government of Costa Rica
1i1. The governments of France and Costa Rica
v.Scientists from around the world.
d) Where did scientists around the world meet last week? (LC)
1.California
11.Nice
iii.Costa Rica
iv.Santa Barbara




e) Who can better explain the problems related to oceans? (I)
1. The scientists
1. The global leaders
ii1.Government of France
iv.Government of the US
B. Answer the following questions. (5x1=15)

a. What was the focus of the third UN Ocean Conference? (Re)
Why is the event of the UN Ocean Conference organized? (LC)
How can scientists help the Ocean problems? (I)

Why is the UN Ocean Conference called an international meeting? (I)
Will the US participate in the conference? Give a reason. (E)
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4. Read the following biography given below and do the tasks.

Grandma Moses

Very few artists are able to make a living from their art. Even fewer become famous around the world, set
attendance records when their work is displayed, and have their paintings hanging everywhere from the
White House to European and Asian museums. Only one artist has ever done all of that, despite the fact that
she had no training and didn’t even start painting until she was more than seventy years old!

The incredible story of Anna “Grandma*“Moses sounds like a corny movie plot, but it’s

all true.

The mother of ten children, Moses was a very active grandmother and great-grandmother, known in the
little town of Hoosick Falls, New York for doing lovely sewing. But arthritis was making it more difficult
for her to do her needlework, and she wanted to make a Christmas gift for her postman. Moses decided to
try painting him a picture instead.

The postman loved his painting, and Moses found that she enjoyed working with paint and canvas. Soon she
was painting all the time, and giving her artwork away to friends and relatives.

Anna Moses’s paintings were so charming that other people wanted to buy them, so the woman who was
about to take the art world by storm started selling her paintings for two to three dollars each.

Then, when Moses was seventy-eight years old, the miracle happened. In 1938, an art collector just
happened to be passing through Hoosick Falls and saw some of her paintings for sale in the local drug store.
He bought everyone, tracked Anna Moses down, and then he bought every painting she had at home, too.

A. Match the words in column A with their meaning in column B. (5x1=15)

Colum A Column B

a. Corny I. painting

b. Arthritis ii. attractive

c. Canvas iii. shop

d. Charming iv. infect

e. Store v. not funny, sentimental

vi. pain in the joints
B. Arrange the following sentences in the correct order according to the text. (5x1=15)
a) Paintings of Anna Moses were put on sale in a drug store. (LC)
b) Anna Moses earned a lot of money by selling all her paintings. (I)
c) The story of Anna Moses sounded like a movie story.(LC)
d) Anna Moses started to paint pictures because arthritis made it difficult to do needlework. (Re)
e) Moses’ paintings were hung everywhere. (LC)




C. Answer the following questions.(5x1=15)
a) At what age did Anna Moses start painting? (LC)
b) Where was the hometown of Anna Moses? (LC)
¢) Why did Moses decide to try painting? (Re)
d) Why did Anna Moses start selling her paintings? (I)
e) Was the art collector important in Grandma Moses’s life? Give a reason. (E)

5. Momo is a popular Nepali dish. Write a recipe for making Momo in about 100 words using the
clues given below. 5

Making dough...................... prepare filling by mixing meat, vegetables and spices............ rolling
dough and filling................ steaming the Momos.................... serving hot.

6. One of your classmates was Killed in a plane crash two days ago. Now write a message of
condolence to be published in a newspaper in about 100 words using the clues given below. 5

Gitanjalee Thapa............. plane crash ............ close friend and class mate................. kind, helpful and
sincere ............ deep sympathy to family

7. A bank in your locality has announced a vacancy for the post of cashier. You want to apply. Write a
job application in about 150 words mentioning your qualifications, experience, and reasons why
you are suitable for the post. 6

8. Playing online games has been popular among Nepali youths nowadays. Write an essay on “Online
games in Nepal”. Mention introduction, advantages, disadvantages, and your suggestion to others
in your writing. 8

9. Reproduce the following sentences as instructed in the brackets. (6x1=6)

a. The cat was playing with therat, ................ (Supply question tag)

b. My small brother goes to school on foot. (Change into negative)

c. Sudip was invited to the party by Ramesh. (Change into active voice)

d. Sarita said to me, “I am not feeling well now.” (Change into indirect speech)

e. He sold his car to buy a new house. (Make a “Why” question)

f. When we reached home, mother (work) in the kitchen. (Write the appropriate form of the verb)

10. Choose and copy the best answer for the numbered blanks below. Rewriting is not compulsory.
(10x0.5=5)

In my youth, my story was based a. ...... (on/in/at/of) my experience. In gym class, | was always the last

one picked for teams. “Who will take Larry?” b........... (a/an/the/no article) gym teacher would ask. Girls

toldmeec......... (I want to be friends/ she wants to be friends/she wanted to be friends/I wanted to be

friends)but I wanted to be more than friends. My marks in school

d........ (was/were/did/had) not impressive. I passed, e...... (but/because/and/because of) that was about it.

After I dropped out of school at sixteen, I f.....(leave/left/had left/will leave) home and got a job. Things

seemed better at first. My jobs would seem interesting and fun at the beginning, but they soon became

drudgery. And the pay didn’t support much of a lifestyle. g (I might have accepted/might accept/may

accept/accept) that if I had seen a future, but I couldn’t.

The problem was: I was an expert on who I was not, but I didn’t have a clue h.....(who/whose/whom/that) I

was.

My story about me was about who I wasn’t and what I i. ....(can’t/won’t/mayn’t/couldn’t) do. The truth was

that I felt sorry for myself. j . .....(Clear/Clearly/clearing/cleared), the story I was telling myself about me

was holding me back. What I needed was some perspective, and I got that perspective from reading the

biographies of Anne Frank, Thomas Edison, and Benjamin Franklin.




Compulsory English
Marking Scheme Set
1. This question carries 5 marks. Award 1 mark for each correct answer.

Possible Answer
a. True b. False c. False d. True
2. A. This question carries 5 marks. Award 1 mark for each correct answer.

Possible answers:

a. Computer chatting
b. Take advantage

c. Anuja/you

d. Window shopping
e. 10 minutes

B This question carries 5 marks. Award 1 mark for each correct answer.
Possible answers:

a) Any answer that mentions 'a couple of days ago'

b) Any answer that mentions 'very fond of her'.

¢) Any answer that mentions 'overprotective/old man'

d) Any answer that mentions 'No. They use car.’

e) Any answer that mentions 'No. She says it’s ridiculous.'

3. A. This question carries 5 marks. Award 1 mark for each correct answer.
Possible answers:

France

Protecting the ocean

The governments of France and Costa Rica

Nice

. The scientists

B. This question carries 5 marks. Award 1 mark for each correct answer.
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Possible answers:

e. True

Any answer that mentions ‘challenges facing the world’s oceans, and what can be done to help'.
Any answer that mentions ‘as the US has suddenly taken a step back from protecting the oceans’.

Any answer that mentions ‘world leaders/people from many countries participate’.

a
b
c. Any answer that mentions ‘by giving suggestions.'
d
e

Any answer that mentions 'yes. Because world leaders participate/No. It has suddenly taken a step

back’

4. A. This question carries 5 marks. Award 1 mark for each correct answer.

Possible answers:

a. v. not funny, sentimental
b. vi. pain in the joints

c. 1. painting

d. ii. Attractive

e. iii. shop



B. This question carries 5 marks. Award 1 mark for each correct answer.

Possible answers:

Moses’ paintings were hung everywhere.

b) The story of Anna Moses sounded like a movie story.

Anna Moses started to paint pictures because arthritis made it difficult to do needlework.

d) Paintings of Anna Moses were put on sale in a drug store.

Anna Moses earned a lot of money by selling all her paintings.

This question carries 5 marks. Award 1 mark for each correct answer.

Possible answers:

(1) Any answer that mentions 'more than seventy years'.

(i)  Any answer that mentions ‘Hoosick Falls/New York’.

(ii1))  Any answer that mentions ‘arthritis was making it more difficult for her to do her needlework/ to
give gifts for postman’.

(iv)  Any answer that mentions ‘people wanted to buy them’.

(V) Any answer that mentions ¢ Yes. He made her famous/she earned money by selling him the

artworks.’
5. Preparing a recipe: Award marks based on the following rubrics.
Marks/ Criteria Content (3) Vocabulary, Layout & | Grammar &
Organization(1) Mechanics (1)
3 Effectively stated and strongly supported

content by fully addressing the prompt

2.5 Effectively stated and adequately
supported content by fully addressing the
prompt
2 Clearly stated and adequately supported
content in line with the prompt
1.5 Clearly stated content with some support
1 Mere generalized and repeated and/or Varied vocabulary, Rare grammatical,
missing content coherent sentence punctuation and
structures and linking | spelling errors
words
0.5 Ideas show thought but not tied to the Varied vocabulary, Frequent
topic incoherent sentence grammatical,
structures and linking | punctuation and
words spelling errors
0 No relevant content at all




6. Message of condolences: Award marks based on the following rubrics.

Marks/ Criteria | Content (3) Vocabulary, Layout | Grammar &
& Organization(1) Mechanics (1)
3 Effectively stated and strongly
supported content by fully addressing
the prompt
2.5 Effectively stated and adequately
supported content by fully addressing
the prompt
2 Clearly stated and adequately
supported content in line with the
prompt
1.5 Clearly stated content with some
support
1 Mere generalized and repeated Varied vocabulary, Rare grammatical,
and/or missing content coherent sentence punctuation and
structures and linking | spelling errors
words
0.5 Ideas show thought but not tied to Varied vocabulary, Frequent
the topic incoherent sentence | grammatical,
structures and linking | punctuation and
words spelling errors
0 No relevant content at all

7. Job application: Award marks based on the following rubrics. RE-1011KoP

Marks/ Content (3) Vocabulary, Layout & Grammar &
Criteria Organization(2) Mechanics (1)
3 Effectively stated and strongly

supported content by fully addressing

the prompt
2.5 Effectively stated and adequately

supported content by fully addressing

the prompt
2 Clearly stated and adequately Varied vocabulary, coherent

supported content in line with the
prompt

sentence structures and linking
words with appropriate format




1.5

Clearly stated content with some
support

Varied vocabulary, often
incoherent sentence structures
and linking words appropriate

format
1 Mere generalized and repeated Limited vocabulary, incoherent | Rare grammatical,
and/or missing content but comprehensible sentence punctuation and
structures spelling errors
0.5 Ideas show thought but not tied to Limited vocabulary, haphazard | Frequent
the topic sentence structures with more grammatical,
errors punctuation and
spelling errors
0 No relevant content at all Complete use of transliteration | No structured
sentences at all
8. Essay writing : Award marks based on the following rubrics.
Marks/ | Content (5) Vocabulary, Layout & Grammar &
Criteria Organization(2) Mechanics
1)
5 Effectively stated and strongly
supported content by fully
addressing the prompt
4.5 Effectively stated and adequately
supported content by fully
addressing the prompt
4 Adequately stated and supported
content by fully addressing the
prompt
3.5 Adequately stated and supported
content by partially addressing
the prompt
3 Clearly stated and adequately
supported content in line with the
prompt
2.5 Clearly stated and supported but
often deviated content in line with
the prompt
2 Partially stated, often | Varied vocabulary,
misinterpreted content with some | coherent sentence
support structures and linking
words with appropriate
format
1.5 Partially stated, often repeated | Varied vocabulary, often

content with some support

incoherent sentence
structures and linking
words appropriate format




1 Limited content often with Limited vocabulary, Rare grammatical,
broken sentences with no support | incoherent but punctuation and spelling
comprehensible sentence errors
structures
0.5 Ideas show thought but not tied to | Limited vocabulary, Frequent ~grammatical,
the topic haphazard sentence punctuation and spelling
structures with more errors
errors
0 No relevant content at all Complete use of No structured
transliteration sentences at all
9. Grammar/ Reproduction: This question carries 6 full marks. Award 1 mark for each correct answer.

a. The cat was playing with the rat, wasn’t it?

b. My small brother doesn’t go to school on foot.

c. Ramesh invited Sudip to the party.

d. Sarita told me that she was not feeling well then.

e. Why did he sell his car?

f. When we reached home, mother was working in the kitchen.
10. Grammar in Context/ MCQ: This question carries S full marks. Award 0.5 for each correct
answer.

Possible Answers:

a. on b. the c. she wanted to be friends d. were e. but
f. left g. I might have accepted h. who 1. couldn’t  j. clearly



English

Group:3
Class:10 F.M. 75
Time: 3 Hours
Test Matrix
Area Text Types | Fill In | Matching | True/False | SAQ Multiple | Sequencing | Vocabulary | Marks
The Choice
Gaps
Reading Seen Text 1 Poem 5 5
Seen Text 2 Essay 5 Essay 10
5
Unseen Text News Story | News 10
1 5 Story 5
Unseen Text | Film Film Film Review | 15
2 Review Review 5
5 5
Writing Guided Set of rules and Regulations (with Clues) 5
Writing 1
Guided Message Of congratulations (With Clues) 5
Writing 2
Free Writing | Dialogue about the places worth to be visited around students’ locality 6
1
Free Writing | Letter to the editor about poor condition of road 8
2
Grammar | Reproduction | 6 tasks representing each of tense, question tag, reported speech, voice, and interrogation | 6
and negation
Contextual 10 MCQs representing articles, prepositions, tense, question tag, voice, reported speech, | 5

connectives, conditional sentence, subject verb agreement, causative verbs, modals,

adjectives and adverbs, and relative pronouns

1. Read the poem and do the activity that follow.
WEATHERS

This is the weather the cuckoo likes,

And so do [;

When showers betumble the chestnut spikes,
And nestlings fly;

And the little brown nightingale bills his best;

And they sit outside at 'The Traveller's Rest',
And Maids come forth sprig-muslin dressed
And citizens dream of the south and west,

And sodol.

This is the weather the cuckoo shuns,

Andsodol

When beeches drip in brown and duns,
And thresh ad ply,
And hill-hid tides throb, throe and throe,
And meadow rivulets overflow;
And drops on gate bars hang in a row,
And rooks in families homewards go,

And sodo l.

Thomas Hardy




A. Answer the following questions.  5x1=5
a) What do the nestlings do as mentioned in the first stanza? (LC)
b) How do ladies come out? (LC)
c) Which weather does the speaker talk about in the second stanza? (Inf)
d) How do the beeches look like as mentioned in the second stanza? (LC)
e) Name any two birds mentioned in the poem. (RE)

2. Read the following passage and do the activities that follow:

Sugar Loaf Mountain is one of the largest and most popular urban rock —climbing destination in the world. There
are

. 'You can give it a hand yourself, or watch other adventurers conquer the iconic mountain.

It is the only unique landmark in the area. Its neighbors add to the [iEHGUINBEaEN of the whole peninsula. [NISHE
, or Urca's mountain are two neighboring natural wonders.
These two mountains are also accessible to the public and open the rock climbers. Morro de Urca offers a play

area for children and restaurant that serves up delicious dishes.
Sugar Loaf Mountain has made an appearance in Hollywood blockbusters. Thr
TORIRBIBIGISEIEEN. Pao de Acucar made its debut on screen in the 1942 film with Bette Davis. It
has also been featured in a James Bond film, ' We one the scenes unfolds in a cable car. It
has even been referenced in the popular cartoon sitcom, '

A. Write T for true and F for false statements. (5x1=5)

Sugar Loaf mountain is rural rock climbing area in the world. (LC)
Sugar Loaf mountain is only exclusive attraction in its area.(LC)
Sugar Loaf Mountain and Morro de Urca are great natural wonders. (Re- org)
Morro de Urca is primarily known for its challenging rock climbing routes, similar to Sugar Loaf
Mountain. (Inf)
e. Pao de Acucar is first on screen in 1942. (LC)
B. Answer the following questions: (5x1=5)

oo oTw

a. What makes Sugar Loaf Mountain a popular destination for the rock climbing? (Re Org)
b. What are the neighboring mountains of Sugar Loaf mountain? (LC)
c. Why is Morro de Urca a good choice for family visit? (Eva)
d. Why is Sugar Loaf Mountain considered a good location for filming movies?(Inf)
e. Write the names of any two films where Sugar Loaf Mountain has been displayed. (Re Org)
3. Read the following news report and do the tasks given. 10
Three killed after Bailey bridge collapses in Panchthar

By Laxmi Gautam, June 15,2025

Three workers died in the collapse of a Bailey bridge that was being installed over the Hewa River along the
Mechi Highway in Panchthar district.

According to Deputy Superintendent of Police Kaushal Kumar Budhathoki, the deceased have been identified as
22-year-old Rupalal Chaudhary, 27-year-old Rajan Chaudhary, and 22-year-old Prakash Chaudhary, all from
Simara Sub-metropolitan City in Bara district.

The incident occurred around 6 pm on Saturday when the single-span modular bridge—being installed between
ward 4 of Phidim Municipality and ward 7 of Hilihang Rural Municipality—collapsed shortly after one end was



placed. All three men succumbed to their injuries during treatment at Nobel Medical College in Biratnagar, DSP
Budhathoki said.

The injured are 25-year-old Bhuleshwar Chaudhary, 35-year-old Prakash Chaudhary, and 30-year-old Abhishek
Chaudhary, all from Simara.

Floods swept away the original concrete bridge over the river on June 17, 2023. A Bailey bridge installed as a
temporary alternative was also washed away in another flood on September 28, 2024. The new structure, touted
as Nepal’s longest Bailey bridge at 70 metres, was nearing completion. Authorities have allocated Rs 34.93
million on the project.

Following the collapse, concerns have grown about transportation disruptions during the monsoon. Currently, a
diversion using hume pipes facilitates traffic across the river, but it becomes impassable during heavy rainfall,
raising the risk of complete disconnection between Phidim and Taplejung, as well as Panchthar’s Hilihang,
Yangwarak, and Phalelung areas.

Word Count:233
Source: https://kathmandupost.com/province-no-1/2025/06/15)
A. Read the above news report and write T for true and F for false statement. 5%1=5

a) The bridge was under construction when it collapsed. (LC)

b) The injured are all the residents of Simara. (LC)

c) The total construction of the Baily bridge was more than 50 million. (LC)
d) The heavy rain during monsoon may sweep away the hume pipes. (Inf)
e) There is an alternative route to cross the river . (Inf)

B. Answer the following questions. 5%x1=5

a) In which river was the bridge installed? (LC)

b) Write the name of one person who died and one person who was injured in the collapse of the bridge. (Re)
c) Will it be possible for the vehicles to cross the river during the high flood season? Give reason. (Eva)

d) What happened to the workers when the bridge collapsed? (Re)

e) Which two districts' people are likely to be badly affected due to collapse of the bridge? (Re)

4. Read the following film review and do the tasks given below. 15

4. Read the following film review and do the tasks given below. 15

Jaari review: Mirror of Limbu culture

Jaari is a tradition prevalent in almost all communities of Nepal. It refers to the practice of paying compensation
OSSR ~ film based on this practice is currently being screened in the cinema

theatres with the same name. It is all about the Jaari practice prevalent in the Limbu community of EESIGH

NEREN Jaari, BiEECEEIBYIRBERERISHEEE 2nd produced by Ram Bahadur Gurung, is garnering an overwhelmingly

positive response from both the audience and critics.

With Dayahang Rai and Miruna Magar in the lead roles, the film has been drawing crowds to the halls right from

the first day of its screening. [ECENODEYGNANGIRaNIENg Hangma (Miruna Magar), both from Limbu caste, are

married for five years. But they have not had a child yet, which is causing distress in their relationship. Hangma



has been subjected to both physical and verbal abuse from Namsang. He accuses Hangma of being responsible
for their infertility. Hangma shows anger and Namsang goes to the extent of making a threat that he will marry
another woman to father a child.

Unable to tolerate the constant quarrel, Hangma leaves Namsang and returns to her parents” home. Ego prevents
Namsang from apologising to her and bringing her back home. The film portrays the Palam dance, a traditional
dance popular in the Limbu community. While Hamgma was residing with her parents, she met [SSlgig (Roydeep)
while dancing Palam at a fair held in the village. Serang won Hamgma in the Palam dance competition and they
got married.

Upon learning that Hangma had eloped with Serang, Namsang and his family demanded Jaari, a form of

compensation, from Hangma's parents. However, as they were [iGEICHOIDGICIUCHGNUCCRCOMDEHSaton.

Hangma decided to become a servant in Namsang's home to pay the Jaari. This is how the story of the film further
develops. Numerous exciting turns and twists in the relationships between the two main characters make the film
more interesting.

Word Count:330
Flesch Kincaide grade: 9.66

Source: https://risingnepaldaily.com/news/25649

A. Match the words in column A with their correct meanings in column B. One of the meanings
provided doesn’t match with anyone. 5x1=5

A B
a. Compensation I. Strong disagreement or Fight
b. Eloped ii. Payment given for loss or damage
c. Screening iii. Public show of a film or a TV show
d. Abuse iv. Secretly ran away to get married
e. Quarrel v. to speak politely and gently

vi. Cruel or violent treatment
B. Fill in the gaps with correct information from the text. ( Use only a single word) 5x1=5

a. The film Jaari is based on a traditional practices dominant in the................ community.(LC)

b. Audience and ........... have given a warm response to the movie.(LC)

c. The name of the actress who played Hangma is (LC)

d. Namsang wanted to marry another woman to have a child because he believed Hangma was
responsible fortheir _ (I)

e. While living with her parents, Hangma met Serang during a held in the village.(R)

C. Answer the following questions. 5x1=5

In which part of Nepal, is Jaari significantly practiced?(LC)

Who directed the film "Jaari"?(LC)

List the names of the two main male characters mentioned in the passage.(R)

Why did Hangma decide to become a servant in Namsang's home?(1)

Do you think the film "Jaari" effectively highlights cultural issues? Why or why not?(E)
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5. Prepare a set of rules and regulations in about 100 words to be followed in a public library using the
given outlines. S

Membership...... Opening hours and access.....Only two books can be borrowed
once....... Silence...... Garbage....... CCTV monitoring....... Consequences of rule violation.

6. One of your class friends has won ‘The Best Player Award’ in the National Cricket tournament and is
selected to play in the international level. Write a message of congratulations to be published in a

newspaper on behalf of your school family. Use the clues given below. 5
Clues: Ganesh Limbu ------------- best cricket player at school------ deserved the award----------- the result of his
hard work and sincerity --------- all proud of him---- ---------- wish further success ------------- make the nation feel
proud

7. Suppose you are a tourist guide. A tourist from abroad has recently arrived at your place. Prepare a
dialogue in about 150 words between you two about the places worth to be visited nearby. 6

8. Write a letter to the editor of a national daily in about 200 words drawing the attention of the
concerned authority about the poor condition of road in your locality. 8

Q.N. 9 Reproduce the following sentences as indicated in the brackets. [6x1=6]

a. | have been teaching here for 10 years. (Change into ‘How long’ question)

b. The wife goes to prison to see her husband. (Change into Negative)

c. Hari, have a cup of coffee,...... ? (Supply a suitable Question Tag )

d. Look, a deer......... (run) in the green field. (Write the correct form of verb given in the brackets)
e. Nita said to us, "I am going to picnic tomorrow." (Change into Indirect speech)

f. She admires people praising her. (Change into Passive voice)

Q.N. 10 Choose and copy the best answer for the numbered blanks below. Rewriting is not
compulsory. [10x0.5=5]

A cat remained hungry for a number of days. He ....(a)......... (is growing/was growing/grew/grows) thin day by
day. One day, he learnt that one of the birds of the neighbouring house .....(b)........ (is/was/are/were) sick and
the birds were looking for a doctor. The hungry cat devised. .....(c)....... (a/an/the/nothing) way to manage his
hunger. He got someone.......... d)............ (fetch/to fetch/fetched/fetching) a doctor's gown and wore it. With a
doctor's bag he went to the sick bird's house. The cat gently ........... ©)......... (knocked/was knocked/ had been
knocked/knocks) at the door, The birds peeped out through the hole and enquired about the reason for his visit.
In a very kind and humble note, Mr. cat said, "I'm your neighboring doctor. | heard that you......(f).......(are not/
was not/were not/ will not be) well.............. @)........ (so/because/although/ nevertheless) | have come to treat
you." As you know a doctor's duty towards his patients is above everything,......... (h).......... (isn't it/isn't
that/wasn't it/aren't they)? The birds were far smarter than the cat. They smiled cleverly and replied, "Thank
you....(1)......... (for/with/by/of) your kind gesture! Had you not been a cat, all your utterances. ..(j)............ (would
be/ will be/would have been/will have been) absolutely right. And now, we can expect our wellbeing only when
you are out of sight”



Class:10
Group:3
COMPULSORY ENGLISH
F. M. 75 P. M. 27

Marking Scheme

General instructions to the Scorers
1. The answers given below are suggestive. Award marks to the students to the points, which may not
have been included in the answers listed below. Consider all relevant answers where possible.

2. Consider minor spelling errors. Award full marks for all correct answers with negligible spelling
errors or answers given in words, phrases, or expressions as far as the answer addresses the question
prompt.

3. Award marks for all correct answers even if rewriting is not done where relevant. Do not deduct more
than 1 mark for exceeding or not reaching the word limit and minor errors in spelling, grammar and
punctuation especially in writing tasks.

4. Suggested break down of marks has been indicated against each question. Award marks accordingly.

5. Follow answer key and marking scheme strictly in order to avoid variation in marks.

6. Consider being lenient in marking/scoring if the total score falls in the margin, and it affects the Grade
and try rescoring where possible when the total scores fall to be 26, 29, 37, 44, 52, 59 and 67 respectively.

Q.N. Answer Marks
1 A. This question carries 5 marks. Award 1 mark for each correct | 1x5=5
answer.

Correct Answers:
a. Any responses which contain Start flying /fly

b. Any responses which suggest By wearing fine clothes/ sprig muslin
dress

c. Any responses which contain Winter/Cold.

d. Any responses which contain ‘drip in brown and duns.’

e. Any responses which contain any two of ‘Cuckoo, Nightingale

and Rooks

2 A. This question carries 5 marks. Award 1 mark for each correct | 1x5=5
answer.
Correct Answers:
a. False

b. False
c. True
d. False

1x5=5




e. True

B. This question carries 5 marks. Award 1 mark for each correct
answer.
Correct Answers:
a. Any responses which suggest 270 different routes to
explore in the area as you climb high above the Atlantic Ocean
and the sprawling Rio de Janerio

b. Any responses which contain Babylon Mountain and
Morro de Urca,
C. Any responses which contain area for children and

restaurant that serves up delicious dishes.
d. Any responses which suggest Tranquil beauty/ beauty of
the area makes it perfect for the big screen

e. Any responses which contain any two of 'Now, Voyager,

Moonraker and The Simpsons

A. This question carries 5 marks. Award 1 mark for each correct | 1x5=5
answer.
Correct Answers:
a. True
b. True
C. False
d. True
e. False
B. This question carries 5 marks. Award 1 mark for each correct
answer. 1x5=5
Correct Answers:
a. Any responses which contain Hewa River
b. Any responses which contain Any one of Rupalal
Chaudhary/Rajan Chaudhary and Prakash Chaudhary for deceased
and any one of Bhuleshwar Chaudhary/ Prakash Chaudhary and
Avishek Chaudhary for injured
c. Any responses which suggest No, because the hume pipes will be
swept away by flood
d. Any responses which suggest 6 workers were injured, among them 3
died in Nobel Hospital while undergoing treatment.
e. Any responses which contain Panchthar and Taplejung
A This question carries 5 marks. Award 1 mark for each correct | 1x5=5
answer.
Correct Answers:
a-ii
b-iv
c-iii
d-vi
e-i
B. This question carries 5 marks. Award 1 mark for each correct
answer. 1x5=5

Correct Answers:
a. Limbu




b. Critics
c. Miruna Magar
d. Infertility
e. Fair
B. This question carries 5 marks. Award 1 mark for each correct
answer.
Correct Answers: 1x5=5
a. Any responses which contain Eastern
b. Any responses which contain Upendra Subba.
c. Any responses which contain Namsang & Serang.
d. Any responses which suggest ‘Because her parents could not pay
the demanded Jaari compensation.’
e. Accept reasonable opinions, e.g.: Yes, because it portrays the
traditional Jaari system and its impact on relationships in the Limbu
community.)
5 This Question carries 5 marks. Award marks considering CONTENT,
VOCABULARY & MECHANICS SEPARATELY. Do not penalize
the students based on holistic judgment. Deduct marks where relevant.
CONTENT(3) Effectively stated and strongly supported content by fully addressing the 3
question prompt with negligible errors
Effectively stated and adequately supported content by fully addressing the | 2.5
prompt with a few errors
Clearly stated and adequately supported content in line with the prompt 2
often deviated or missing content but does not impede comprehension
Clearly stated content with or without some support often lacks track with | 1.5
deviated or missing ideas impeding comprehension
Mere generalized and repeated and/or a lot of missing content 1
Ideas show thought but not tied to the topic 0.5
No relevant content at all 0
Vocabulary, Varied vocabulary, coherent sentence structures and linking words with 1
Layout appropriate format
& Organization(1) | Limited vocabulary, incoherent sentence structures and linking words with | 0.5
or without appropriate format
Complete use of transliteration, broken sentence structure that impedes 0
meaning and inappropriate format
Grammar Rare grammatical, punctuation and spelling errors 1
&Mechanics Frequent grammatical, punctuation and spelling errors 0.5
(1) Serious errors in mechanics of writing 0




6 This Question carries 5 marks. Award marks considering CONTENT,
VOCABULARY & MECHANICS SEPARATELY. Do not penalize
the students based on holistic judgment. Deduct marks where relevant.
CONTENT(3) Effectively stated and strongly supported content by fully addressing the 3
question prompt with negligible errors
Effectively stated and adequately supported content by fully addressing the | 2.5
prompt with a few errors
Clearly stated and adequately supported content in line with the prompt 2
often deviated or missing content but does not impede comprehension
Clearly stated content with or without some support often lacks track with | 1.5
deviated or missing ideas impeding comprehension
Mere generalized and repeated and/or a lot of missing content 1
Ideas show thought but not tied to the topic 0.5
No relevant content at all 0
Vocabulary, Varied vocabulary, coherent sentence structures and linking words with 1
Layout appropriate format
& Organization(1) | Limited vocabulary, incoherent sentence structures and linking words with | 0.5
or without appropriate format
Complete use of transliteration, broken sentence structure that impedes 0
meaning and inappropriate format
Grammar Rare grammatical, punctuation and spelling errors 1
&Mechanics Frequent grammatical, punctuation and spelling errors 0.5
(1) Serious errors in mechanics of writing 0
7 This Question carries 6 marks. Award marks considering CONTENT,
VOCABULARY & MECHANICS SEPARATELY. Do not penalize
the students based on holistic judgment. Deduct marks where relevant.
CONTENT(3) Effectively stated and strongly supported content by fully addressing the 3
question prompt with negligible errors
Effectively stated and adequately supported content by fully addressing the | 2.5
prompt with a few errors
Clearly stated and adequately supported content in line with the prompt 2
often deviated or missing content but does not impede comprehension
Clearly stated content with or without some support often lacks track with | 1.5
deviated or missing ideas impeding comprehension
Mere generalized and repeated and/or a lot of missing content 1
Ideas show thought but not tied to the topic 0.5
No relevant content at all 0
Vocabulary, Varied vocabulary, coherent sentence structures and linking words with 2
Layout appropriate format
& Organization(2) | Varied vocabulary, often incoherent sentence structures and linking words | 1.5
with appropriate format
Limited vocabulary, incoherent but comprehensible sentence structures 1
Limited vocabulary, haphazard sentence structures with more errors 0.5
Complete use of transliteration, broken sentence structure that impedes 0

meaning and inappropriate format




Grammar Rare grammatical, punctuation and spelling errors 1
&Mechanics Frequent grammatical, punctuation and spelling errors 0.5
(1) Serious errors in mechanics of writing 0
8 This Question carries 6 marks. Award marks considering CONTENT,
VOCABULARY & MECHANICS SEPARATELY. Do not penalize
the students based on holistic judgment. Deduct marks where relevant.
CONTENT(5) Effectively stated and strongly supported content by fully addressing the 5
question prompt
Effectively stated and strongly supported content by fully addressing the 4.5
question prompt with negligible errors
Adequately stated & supported by fully addressing the question prompt 4
with some ideas missing
Adequately stated & supported by partially addressing the question prompt | 3.5
often with deviated ideas
Clearly stated & supported by partially addressing the question prompt 3
often impending comprehension
Clearly stated & supported but often deviated content in line with the 2.5
question prompt more often impending comprehension
Partially stated often repeated and/or misinterpreted and deviated content 2
without any support impending comprehension
Very little, often repeated content with no support causing errors more 1.5
often impending comprehension
Limited content often with broken sentences with no support 1
Ideas show thought but not tied to the topic 0.5
No relevant content at all 0
Vocabulary, Varied vocabulary, coherent sentence structures and linking words with 2
Layout appropriate format
& Organization(2) | Varied vocabulary, often incoherent sentence structures and linking words | 1.5
with appropriate format
Limited vocabulary, incoherent but comprehensible sentence structures 1
Limited vocabulary, haphazard sentence structures with more errors 0.5
Complete use of transliteration, broken sentence structure that impedes 0
meaning and inappropriate format
Grammar Rare grammatical, punctuation and spelling errors 1
&Mechanics Frequent grammatical, punctuation and spelling errors 0.5
(1) Serious errors in mechanics of writing 0
9 This question carries 6 marks. Award 1 mark for each correct answer. | 6x1=6
Correct Answers:
a. How long have you been teaching here?
b. The wife does not go to prison to see her husband.
c. Hari, have a cup of coffee, will you?
d. Look, a deer is running in the green field.
e. Nita told us that she was going to picnic the next day.
f. People praising her are admired by her.
10 This question carries 5 marks. Award 0.5 marks for each correct 10x0.5=5

answer.
Correct Answers:
a. was growing

b. was

c.a




d. to fetch

e. knocked

f. were not

g.so

h.isn't it

i. for

J. would have been




Koshi Province
English Grade 10 Group 4
(Written Test)

Class : 10 Fullmarks : 75
Subiject : English Time : 3hrs Passmarks :

Candidates are required to give answer according to the given instruction.

1. Read the text and write True or False for the given statements.

The Voice of the Rain
And who art thou? Said I to the soft- falling shower.
Which, strange to tell, gave me an answer, as here translated:
| am the poem of Earth, said the voice of the rain,
Eternal, I rise impalpable out of the land and the bottomless sea,
Upward to heaven, whence, vaguely form’d, altogether changed, and yes
the same,
I descend to lave the draughts, atomies, dust-layers of the globe,
And all that in them without me were seeds only, latent, unborn;
And forever, by day and night, | gave back life to my own origin,
And make pure and beautify it;
(For song, issuing from its birth-place, after fulfilment, wandering,
Reck’d or unreck’d, duly with love returns.)

\Walt \Whitman

A. Write True or False for the following statements. 5x1=5

i. The poem is a conversation between the rain and the poet. [ ]

ii. The river over floods during the draught. [ ]

iii. The life of rain is similar to that of asong. [ ]

iv. The showers are necessary for the earth. [ ]

v. When the rain changes its form or shape, its originality also gets
changed. [ ]

2. Read the given text and do the activities that follow.

Cabbage White
Sarah and Jamie stood on their tiptoe and gave the card from their school

to the tall man behind the counter of a farm. The man frowned and made a

face. "So you're looking for some work, And who are you?" "I'm Sarah.
I'm twelve. This is my brother Jamie; he's eleven.” Shouldn't you be at
school?" "We are on holiday. And would like to earn some money and
support our parents."

The man lifted his hat and scratched his head. "Working in the farm is
quite tough job for kids like you. | need somebody big and strong to
work here, "he said.

"There must be some work for us in this big farm. Could you you
please find one?" Sarah pleaded. "And right. Let's see. Do you know
what a Cabbage White is?" the man asked. "Yes. It's a beautiful white
butterfly that lays its eggs on cabbages. And those eggs change into
caterpillar.", answered Sarah. "And do you know what the caterpillars
do? "They eat the cabbage leaves!" shouted Jamie.

"Aren't afraid of caterpillars ?" asked the man. "Not at all." Retorted
Sarah. "All right. So, | think | have a job for you." Oh thank you very
much. And what is the work?," they said.

I want you to check every single cabbage in the garden and eliminate
all the caterpillars", replied the man. "Er.......... how?" wondered
Jamie. "You pick them off and collect them.” "Is it all right, if we
collect them in one of these pails?" "Alright." "How much will you
pay us?" Sarah asked.

A. Complete the following sentences by using the correct words from the

text. 5x1=5

a. The man picked up his ...

b. It's a beautiful white butterfly that produces its eggs on

c. The large farm would be prov1ded 10) 11 L, for
them.

d. The job was given to remove and collect .................cooevviviiiiiinnnnn. .

e. The children became happy and asked about

B. Answer the following questlons 5x1=5

a. Why did the man frown his face?

b. What was the reason behind Sarah and Jamie for looking a job?

¢. Why should Sarah and Jamie have been at school?

d. How are the caterpillars produced?

e. What made the man provide the job for the children?



. Read the text and do the Activities that follow.

VACANCY NOTICE
Prime Commercial Bank Ltd., an 'A'’ class financial institution brings you
opportunities to grow together professionally and managerially. We seek
application for following positions from suitably qualified, dynamic and
result oriented Nepalese Citizens with strong interpersonal skills and
pleasant personality.
1. BRANCH MANAGER
Required Experience and Qualification:
A minimum experience of 3 years or above with relevant and progressive
work exposure in Financial Institutions with focus in Credit, Business
Development, Trade Finance and Branch Management
2. LEGAL OFFICER
Required Experience and Qualification:
A minimum of 5 years of relevant and progressive work experience as
practitioner lawyer holding advocate license. Bachelor's Degree in Law
(Commercial Law as core) from recognized University.

Candidates with fluency in Nepali and English (both-oral and written),
along with computer literacy and a strong working knowledge of
Microsoft Office applications, will be given preference.

INSTRUCTION TO APPLICANT:

All applications should include Updated CV including name of two
references (compulsorily), application letter quoting the position applied
for in the subject line, Citizenship Certificate (Copy), Recent Passport Size
Photo & Academic Certificates (Copy). Only shortlisted candidates will be
called for the further selection process(es) as per the bank's rule.

The Bank reserves the right to reject any application without assigning any
reason.

Application Deadline:
The Deadline for the application is
Posted on: 2025-06-13 ,

A. Choose and write the best answer. (5X1=5)
a. Prime Commercial Bank Ltd. has announced the vacancies
fOr. e, . LC

i. branch officer
ii. branch manager
iii. legal manager

b. The bank is seeking application from .................... . LC
i. all interested Nepalese candidates
ii. all dynamic candidates
iii. qualified, and dynamic Nepalese candidates
c¢. What is the minimum experience for branch manager and legal
officer?..........
i. 3 years for legal officer and 5 years for branch manager
ii. 5 years for branch manager and 3 years for legal officer
iii. 3 years for branch manager and 5 years for legal officer
d. The candidates are expected to be fluent in both Nepali and English, so
that they can handle.........................
i. oral communication properly
ii. operating technologies properly
iii. oral and written communication properly
e. Who will be shortlisted for the further the further selection?
i. All candidate
ii. Candidate with required qualification and experience
iii. Candidate as per the bank's rule
B. Answer the following questions. (5X1=5)
a. What is the deadline of application?
b. What are the vacant posts in the bank as mentioned in the
advertisement?
c. Make a list of documents that the candidates must submit along with
the application?
d. Why do you think the bank seek for two references compulsorily?

e. How can the practitioner lawyer holding advocate license work for the
bank better?

4. Read the travelogue and do the tasks given below.

A Memorable trip to Pokhara

With friends, | explored Pokhara, a stunning city in Nepal, weaving an
everlasting string of memories. The journey started on October 29,
2022, full of excitement that couldn't be contained throughout the road
trip. The wind felt stronger when we ever so slightly rolled down the
windows of the car, and with every passing hour, we were closer to
the valley full of bliss. We reached the centre of Pokhara late in the
evening.




The place was full of people celebrating Tihar by singing and dancing. Tired,
we checked into our hotel room and started unpacking. Afterward, we went to
a restaurant for dinner and then walked through the streets bustling with
tourists. October 30th, the day after, was slow. It was the only day we had for
ourselves before returning to Kathmandu. The sun was high up, people rode
their bicycles near the lakeside, and we walked our way towards a nearby cafe
for breakfast. Then, we made our way towards Fewa Lake.

Fewa Lake, popular for its magnificent view of the mountains, was indeed
breathtakingly serene. We were on a boat with music filling our ears along
with the sound of light waves crashing on us while watching the birds fly high
up in the sky. The next place we went was a hiking trail with a Shiva statue at
the top. Upon arrival at the start of the trail, we got out of the car and started
walking along with the other hikers, including tourists and local people,
children, and adults. Halfway through the trail, a short breath caught up to us
as the trail got narrow and steep. Some of the hikers along with us stopped
midway as the hike got harder because of the steep trail. Even though we
didn’t reach the top, the scenery there was as beautiful as it could get. The
clear view of the city with the sun shining on it was truly magnificent. We
could see the wind blow as it grazed across the grass, and our hair too went
with the wind as we rested on the grassy hill. After a while of enjoying nature,
we headed back down the trail.

Source: The Rising Nepal, Friday, 11 August 2023

A. Match the words from the text in Column A with their meanings
in Column B. (5x1=5)

Column A Column B
a. Bliss i. view or landscape
b. Magnificent ii. perfect happiness
c. Trail iii. travellers on long walk
d. Hikers for pleasure
e. Scenery iv. elegant or splendid in
appearance
V. the track indication

marking the route

B. Re-Order the following sentences as they appear in the
text.(5x1=5)

i. They could see the clear view of the city with the sun
shining on it.

ii. People were riding bicycles near the lakeside.

iii. People in Pokhara were observing the festival ‘Tihar’.

iv. The writer with is friends went on boating.
V. Some hikers were stopping midway because of the steep
trail.

C. Answer the following questions. (5x1=5)
i Why did the writer find the journey unforgettable?
ii. List down the two things that the writer saw in Pokhara.
iii. Why couldnot the writer and his friends reach the top?
iv. Which place did the writer go to visit on the second day?
V. How was the weather in Pokhara on the first day?
5. Write a set of rules and regulations for the examinees. Write in about
100 words using the clues given below. )

Exam starting time: 11: 00am------------ admit card compulsory------ no

6. Compose a message of condolence in about 100 words to be published
in a local newspaper. Use the clues given in the box below. (5)

Laxmi G.C--------- at the age of 50-------- died in a plane
crash........ popular national singer......... rest in peace in the heaven.

7. Compose a dialogue in about six exchanges between two friends who
are talking on their vacation plan. (6)

8. Write a letter to your brother warning him about the drug abuse.
Write it in about 200 words mentioning its adverse effects on human
health. (8)

9. Do as indicated in the bracket. 5X1=5
a. I'man engineer, ........ccccooeue.e. ? (Supply question tag)

b. Muskan always smiles in classroom. (Change into negative)
c. Our school starts at 10 o'clock in the morning. (change into when question)
d. Hari asked Ram for help. (Change into Yes/No question)

e. He disobeys his parents. (Into passive voice)

f. The teacher said, " Were you absent yesterday?" (Into

indirect speech)

10. Choose and copy the best answer for the numbered blanks below.
Rewriting is not compulsory. (10x0.5=5)



Dinesh lives in a remote village of Eastern Nepal. He goes to

school...... (1)....(by, with, on, at) foot. It takes him.....(2)...... (a, an, the, no
article) hour to get there. One day, his friends ....(3)...... (had reached,
reached, reach, will reach) the school before he arrived. He kept his bag in
the classroom and began to play with his friends. When the bell .....(4)...
(was ringing, was rung, had rung, is rang) by the peon, he joined his class for
assembly. His PT teacher made them....... 5)....... (take, to take, taken,
taking) part in the PT. All the students were looking at

him....(6)....... (because of, since, because, therefore) he was not wearing
school uniform...(7)...( wasn’t he, was he, did he, didn’t he). The
headteacher asked him why ...... (8) ....(don’t you, didn’t you, he didn’t,
didn’t he) wear school uniform. He said, “ I’ve worn my school uniform, sir’
he said without looking at his dress. His friends laughed and then he looked
at his uniform. He felt ashamed of himself looking his rough dress. He came
in front of the assembly and said, “ I was very busy in my household works
so I forgot to wear my school uniform.”One of his friends.....(9)....... (was
laughing, were laughing, is laughing, are laughing at him. If he had worn the
school uniform, they.....(10)....... (wouldn’t laugh/ wouldn’t have laughed/
won’t laugh, hadn’t laughed) at him

)
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Subject : Mathematics Full marks : 75
Time : 3 hrs
S.N. Areas Total Knowledge Understanding Application Higher ability Total Total Total
working number | number | Marks
hours - of items of
Number | Marks | Number | Marks | Number | Marks y“Number | Marks uestions
of items of items of items of items 9
1. | Sets 12 1 1 1 1 1 3 1 1 4 1 6
2 Arithmetic 28 2 2 2 3 3 5 2 3 9 3 13
3. Mensuration 28 2 2 2 3 2 5 2 3 8 3 13
4, Algebra 32 2 2 2 4 3 7 1 2 8 3 15
5. | Geometry 28 2 2 2 3 2 5 2 3 8 3 13
6. Statistics and 24 2 2 2 3 2 4 2 2 8 2 11
Probability
7 Trigonometry 8 1 1 1 1 1 1 1 1 4 1 4
160 12 12 12 18 14 30 11 15 49 16 75
S.N. Area Question Topic Knowledge Understanding Application Higher Ability
ltem Marks ltem Marks ltem Marks ltem Marks |Total marks
1 Set lab,c,d |Set la 1 1b 1 1c 3 1d 1 6
2ab,c  |Compounde interest 2a 1 2b 2 2c 2 5
2 | Arithametic 3a,b,c  |Pop. & Grow. 3a 2 3b 1 3c 1 4
4ab,c  |Money Exchange 4a 4h 1 4c 2 4
S5ab,c  |Area &Volume 5a 5h 1 5¢ 2 4
3 | Mensuration bab,c |Area &Volume ba 2 6b 2 4
7ab,c  |Combind solid 7a 7b 3 Tc 1 5
Sequence & Series 8a 8b 2 8¢ 2 5
a Algebra 8a,b,c Qudratllc equajclon 9a 8h 2 9c 1 4
9a,b,c Algebric fraction 10a 3 3
10a,b Indices 10b 3 3
11a,b,c Area of Triangle 11a 1 11b 2 11c 2 5
5 Geometry 12a,b Construction 12a 3 3
13a,b,c Circle 13a 1 13b 1 12b 2 13c 1 5
14a,b,c,d Statistic 14a 1 14h 1 14c 2 14d 1 5
6 | Sta. & Prob. —
15a,b,c,d Probability 15a 1 15b 2 15¢c 2 15d 1 6
7 | Trigonometry | 16a,b,c,d Trigonometry 16a 1 16b 1 16¢c 1 16d 1 4
12 12 12 18 14 30 11 15 75
Model Question Paper
Subject: Com. Mathematics Full Marks: 75
Time: 3 hours Grade: Ten




T weree afHamd &1 (All the questions are compulsory)

1. U HTEATH formetaent shedT 10 |T STeT-=td 120 ST

20 students did not like any of two games.)

a. I C B o huT: fohone T aTeehestel T A TS foranelie®en! Geesels SHISS Wi 3d W

G Y TR ferameffent TURTeHRT TeTe |

(If C and B denote the sets of students who liked cricket and basketball game
respectively, write the cardinality of students did not like any of two games [ 1 k]

b. wferhT SIS Sefe=mT S e |

(Present the above information in a Venn-d

formeffesen! HEHT Hol&Tor &l 60 ST fohohe
T T TUCHT, 55 S STehestel Tl H TITEhT T 20 SHTe o Tet 9edl T af H Foeeh! argail

(In a survey conducted among 120 students studying in class 10 of a secondary school,
it was found that 60 students liked cricket game, 55 students liked basketball game and

iagram.) [ 1U]

C. fohohenm 7 s foremeifeseh! TrgeT ol TSR Y |
(Find the number of students who liked cricket only.) [3A]

d. fohehe T aTeehe et g Wel #9 TS T Al g8 alesh A Wl 7 s fereneffeseht gge fa=
qoT e |) Compare the number of students who liked both cricket and basketball

and who liked except these two games.) [1

Nepal bank has fixed the following rate of int
40,000 for 2 years in the bank.

HA]

AT Sgahet FFTTETERT SATSTat T 7/t | Jfe quTser 2 Seht SAThT % 40,000 ST 16 53870 A

erest. If your are going to depozite Rs.

@rdr A( Account A)

@rar B ( Account B)

Compound interest interest

12% gfca anfSes afsrar sarst 10% gfcrard srefanfver =fera sarst

12%. Per annum yearly | 10% per annum halls yearly Compound

a. ik =AoRa e o s ¥ Aiegeiy |

(write down the formula for finding the yearly Compound amount .) [ 1k]

b. @A B e ¥ g firsre frerregery |

Find the amount recived from account A and B. [ 2A]

C. TUTE F WIAHT ThHH SHT g, T fohT ?
In which account will you deposite the amount

after 2 years.)

a. U Feohl 4 %. V. AT fHergraat R% « T

and why? [1HA]

T3S BT AT . 80,000 1T Wite TR 3t Af-eR! TanTete 2 a¥9T % 30,000 3T 934
URETRT eIt gfda 20% T S g HAES T 2 auafs I Afed fashl i@ A photocopy

machine is purchased for Rs. 80,000. After using for 2 years, only Rs. 30,000 is earned.
The price of machine depreciates annually at the rate of 20% and the machine is sold

aafes AfeeRl 4o & Ve VIO 1 Vo, R%
« T o1 ®9H1 4% T | (The initial price of machine is Rs. Vo annual rate of




compound depreciation is R% and the price of machine after T years is Rs. VT,
express VT in terms of Vo, R% and T.) [ 1 K]
b. | AfGeh! 2 STt Teo T ST |

(Find the price of the machine after 2 years.) [2U]
C. 3 A4 forshl TTaT Wuehl et AT AT AR STRTHT ool TSRy |
(Find the total profit or loss in percentage on selling the machine.) [2HA ]
4, T ST AR TSI SR 1= .5, 80 I W &. 3,56,000 1 i ST TS| I feafes
LTI ST AT HUTA HET 2% o ST U T Ith fGTHT AT ATHET Woeh! Sregfera
SR I Tt HETHT |1eaA | (A businessman exchanged some Australian dollars with NRs.

3,56,000 at the exchange rate of Australian dollar 1 = NRs 80. After 5 days, Nepalese
currency was revaluated by 2% in comparison to Australian dollar and on that day
exchanged the dollars into Nepalese currency again.)

a. I %. 3,56,000 H it AT ST WIS ? U1 ST 1 (How many Australian dollars
did he exchanged with NRs. 3,56,000? Find it.) [ 1U]

b. Tet HETHT WUERT RIS ST fTa St AreaT SAiet hid Hureft wfua gra et ? Fepregey
I (How much Nepalese rupees did the businessman receive when he exchanged
Australian dollar after revaluation in Nepalese currency? Find it.) [2A]

C. SAUTIHT HIURE! ATHT d1 AT T I e | (Calculate his gain or loss amount.)
[1A]
5. e fasushi ot U3er siTieRR SATE wuehl fUTete Bl STeeht AT STl rsls AB = 6cm,
foreftesht Bgeh 39S PQ = 5¢m =iThe figure below is a pyramid with a square Z"l
base. The length of the base side is AB = 6¢cm, the height of the pyramid
is op = 4cm.)

a. o HATER AU TRrfienT HATEw S @ a, e 3918 h T+

IaTE | T 0 Hageh! & el g Tieferdl Write a formula to find

the total surface area of pyramid with a square base. (1K) A
b. <= fesuet farftest U wdeet athat oaT aisde ™ Find the total surface area of
the pyramid shown in the figure. (1U)

C. 3 frfiem shysierr wdent Rs 15 wfa & & wff 1 atet T aTmeet e @ T STTament
sttt A & 20 wfe 3 & H 1 Tt GTdeh! FHR STSaT A Gl e TR

Compare the cost of painting the triangular surface of the pyramid at the rate of "
Rs. 15 per square centimeter with the cost of covering the base with metal at

the rate of Rs. 20 per square centimeter.) (1HA)

6. <t for=HT |t T AT fiei skl W3 3 a&]  fesTah! 81 The figure below shows a <>
combined solid made up of a cylinder and a cone. oo . 20em
a. Wi T 1, 3918 N, Fom ok 395 | wa | @€ rTh 1 & =5 el If the —

radius of the cone is r, height is h, and slant height is | express | in
terms of r and h. 1(K)
b. STHTHR HITHT TS AR Jfd a7 &1, & 15 3 Tt g ST Tl T TS Te |

If the cylindrical part is to be painted at the rate of 15 per square cm,
find the total cost of painting. (2A)




c. SCTERI AT T HITASTHI HMTTeh! TG forerehl &3 id B 7 o1 eimsger@l What is the
difference between the volume of the cylinder and the volume of the cone? Find
it. (2HA)

7. oo fusht STaer Sardhient il avers, =ers 139 A 5m,2m ,1.5m =

The length, breadth, and height of a rectangular
tank shown in the figure are respectively 5 m, 2 m, and 1.5 m.

a. Ith aATshien! [l < FITHT & 50 2l 3Tt TG SIS A1 @ I S Jerd|

Find the cost of painting the four inner walls of the tank at the rate

of Rs. 50 per square meter. 2(U) f
b. 3w darehim urt o ufd e & 50 1 STt W AT A ST 9 ST i @ ars? uwT
THTISTE |

If filling the tank with water costs 50 paisa per liter, find the total cost to fill the tank. (3A)

8. 227 T4 ST GHHTRIT TEIHT TGS ¥,
a) Ufedl U @, FHHT-ARE HeET d T SIFHT 98 ST N A AR 98 e 9 eeted] (1K)
b) 4 3T TN HeaT faFTeTeEl (2U)
C) THFINT STFHUIEH! Teehl ATTHS 555 T3 foh gar et Ter ) (2HA)
9. ggoT fafd T st BTeTeRT ST AT 34 T T SRR IR TR 288
a) TRl X TEfR3fHee @t b wu o afferr deged] (1K)
b) fafe T veenr SATewAT =i et sre i wftreRTr fmior T (1U)
c) fafieeent BTeteh! SHT Fid g, T TS Te ] (2A)
10. a. 8 THe: 52% — 6x5°+1 = —125 (3A)
b. a2 = 25y R A i g, T eTTeTREl (3A)

2m+1 | m+2  2m2+5m+2

11. faguar femmm Bt PQR ?WWFQST@WWPQ??&TWR T 5

@ SR fa= e frqe ¥ gwm=r =qds g1 10 In the given figure, triangle PQR

and parallelogram PQST are constructed on the same base PQ and

between the same pair of parallel lines SR. P T Q
a. s PQR 7 gam=R FIqqst PQST fa=rel a¥ e d&ted |

Write the relation between triangle PQR and parallelogram PQST . [1K]
b. B PQR @1 g 12cm? wu game=r =il PQST &1 éoher gt 7 areera . If the area
of triangle PQR is 12cm?, what will be the area of parallelogram PQST? Calculate it.
[1U]
c. AT e : AR aqas PQST &1 eawa = 2 X faqs1 PQR &1 &%«
Prove that: Area of parallelogram PQST = 2 x Area of triangle PQR. [2A]
d. afe PQ = QU 5 s fsist PUR &1 &9%ha ¥ FAMTR Aq9st PQST #1 &r%as! qFaed & &ral 7 R
afed sretee | If PQ = QU , what will be the relationship between the area of triangle
PUR and parallelogram PQST ? Write with reason. [2HA]

12 feguar fot, wgar stwa =rqsfst ABCD @1




The given figure represents a cyclic quadrilateral ABCD .
a) FRT ATHSH THE FIUETH q¥ed dETad |

Write the relationship between opposite angles of a cyclic quadrilateral. [1K]

b) fagusr o s w=TAT ggeier o amrs, ART wqea

13.
a)

TFEHT HUREH] Fed TR THed | (AR ATATH FRIHAT 3cm g ATEATF B )
Create at least two diagrams similar to the given one and verify the relationship

between opposite angles in cyclic quadrilaterals.(The radius of the circle must be at
least 3cm) [2A]

qoe® EF = 6cm, EH = 5.4cm ¥ FH = 3.5cm 90U U3l A9l EFH &1 =1 THe 4
T ST EFH 1 a7aR &A% U U3l H0 600 U s &1 =1 T |
Construct a triangle EFH with sides: EF = 6¢cm, EH = 5.4cm and FH = 3.5cm

.Then, construct another triangle with an angle of 60° that has the same area as triangle
EFH . [3A]

b wfer T Tt PR{STehT &bt BT SIS &t g1 ST aqest ToHT 7 | foh afshe sror afea aregerm? (1 HA)

14. T3aT 12m AT FUH! Jarhr Gr@iehl (& [a=rdr, qeETedr 7m sf@w TR T3er @ Meua

g |

A pole is planted exactly at the center of a circular pond with a 12m diameter, and it is 7m

visibl

a)

e above the water surface.
I Gr@Ihl [FARTETE ThSTAT fchel @¥elTehl STHT 8al &l B o7 ? Aelad |
What type of angle is formed when a person looks at the top of the pole from the edge
of the pond? Write it. [1K]

b) I drEdIR AIATE Hidarar 7 s d |

c)

What is the radius of the pond? Calculate. [1U]

faraer drgdrerT fepARTaTE @TeTeRT TUTAT BaT 450 &1 0T gATgs 9, Rt 39T
[T e |

If Shiva looks at the top of the pole from the edge of the pond forming a 45° angle,
find Shiva’s height. [1A]

d) frART are 300 fediier I=aier I FATIR Gl THMHT adls @bl 95 Hid A

a7 FE ATl 7 ITOAT TR |
If a person wants to see the top of the pole at an angle of 30° from the edge, by how
much should the height of the pole be increased or decreased? Calculate. [IHA]

15| T3S &M WUHN 50 1 foemeffeeer ot foweshl STaTgs dorehl drciehmn fGgusl S| The

marks obtained by 50 students of a class in Mathematics are given in the following table.

BIRICED 0-10 10-20 20-30 30-40 40-50 50-60 60-70

4




12

15

N
a. dfedlaqaFE Qr = L+4ch X1 w cfa %8s ? Agerd In the formula First Quartile

N

Q1) = L+7;—Cf x I, what does c.f. denote? Write it. 1(K)

b. Tasush! qeaTgaRen! afeetl =g o TRTISTe™ | Find the first quartile from the given data. (2A)
c. 3iTEd STHTSS Ul TRMSTer| Find the mean marks. 1U
d. Ffe 30-40 3rgeh AT 7T foremelf @ed 10 SHT U A HTHd TTRIGHAT it Tk Te5? T HIISTE

| If the number of students scoring between 30-40 marks is 10, how much difference does it

make in the average score? Find out.

(IHA)

16. TIT FAIATHT 4 FT TR T 6 T BT 34 T I Tele® o] 2 FT Seies Ueh Ufed Iehi 71a I Faeht

fafrur 3

a. ST ST FTA % TeIE-02(1K)
b. TEATTI BfeTeR! TROTTHATS &7 fermmT SR T (2U)
c. 33 TTEE el TGTHI T FFITIAT ORI TSI (2A)

d. T e aet §: TR el oA fEeraT 3o et TRl O WPTeaaT , O el ferereT 3o o1t Wl o
HEITAT WeaT Shidel el ol 52l go?(1HA)

Subject: Com. Mathematics

Marking scheme

Grade: Ten

Full Marks: 75




Question | Items | Answer Marks | Remarks
1 a n(BUC) =20 1 6 marks
B C ¥
20
c n(U) = n(BUC) + n (BUC) 1
or 120=55-x +x + 60 —x + 20
n(BUC =15 1
no(c )=60—15=45 1
d n(BUC) : n (BUC) =15:20=3:4 1
2 a CA=p(l+ %)T 1 4 marks
b For account A, 1
CA =Rs 48620.25
For account B, 1
CA=Rs. 50176
c I will deposite the amount in account B 1
earns more interest than account A for 2
years.
3 a — Rt 1 5 marks
Vr=vo(l T 01?)
b VT - Vo(l - E)T 2
_ 20,
=80000( 1 - 100) 1
= 800009(0.80)>
=Rs 51200 1
sp with earning = 51200 + 30000
¢ —Rs 81200
Profit = 81200 — 80000 = 1200 !
Profit percent = 810200000 X 100% =1.5% !
4 a AUD 1 =NRs. 80 4 marks
NRs. 356000 = x (let)
X = AUD 4450 1
If Nepali currency was revaluated by 2%
then
b AUD1 = NRs 80 — 2% of 80
=NRs. 78.40
Again, 1
AUD 1 =NRs. 78.40
NRs. X (let) = AUD 4450
Then, x = NRs. 348880
c Loss= 356000 — 348880 1
=7120
1
5 a TSA=a? +2al 1 3 marks
b PQ=5

TSA = a2 +2al




=96 cm?

Appropriate Comparison

L*=h’+r
Area of coloring part= 27trh + 112
=565.5 cm®
Cost = 565.5 x Rs15
= Rs 8485.5

Volume of cylinder = nr?h
=1357.71 cm?

Volume of cone= § nr?h
=301.71cm?

Different =1357.71cm?- 301.71cm?
=1056 cm?

5 marks

Area of 4 walls  =2h(I+b) =21m?
Cost of coloring =21 x Rs 50= Rs1050
Volume of the tank=l x b x h
=15m’*=15000 1
Total Cost = Rs 7500

5 marks

tn= a+(n-1)d

7,12,17,22

No, because the sum 555 don’t have
natural terms.

N DN | = = e e e [

5 marks

ax*+bx+c=0

let, age of sister x and brother y then ,
x+y=34, and x.y=288

age of sister x= 18 years and

brother y=16 years

—

4 marks

10

Let, 5°*=a then a2-30a+125=0
a=5,25

x=1, 2

taking LCM

correct solving

value of m=2

6 marks

11

Area of Triangle PQR = 1/2 of area of
parallelogram OR other suitable answer
area of parallelogram = 24 cm square, with
reason

-for appropriate figure and state the given
condition

—_— — = = = = = = =

6 marks




- area of parallelogram PQTR= area of
parallelogram PQST ( label of the figure

may be different 1
- area of parallelogram PQST =2 x area
d of triangle PQR
- area of triangle PQR= area of triangle 1
QUR reason with
- area of triangle PQR = 1/2 x area
parallelogram PQST
- area of triangle PUR= area of
parallelogram PQST
12 a the sum of opposite angle of cyclic 1 3 marks
quadrilateral is 180/ complementary
b - for accurate figure 1
- for tabulation of value and conclusion 1
13 a -for the construction of triangle EFH 1 4 marks
- for the construction of parallel line with 1
the base of triangle EFH
- for the construction of 60 degree angle 1
complete the another triangle
b Yes we can (Proper reason ) 1
14 a angle of elevation 1 4 marks
b radius of the pond = 6m 1
c for appropriate figure and height of Shiva | 1
=1m and process
d the height of pole should decrease by 1
2.54m
15 a Cumulative frequency of preceding Class | 1
of Q 5 marks
b Correct c.f. table Class of Q1=20-30 1
First Quartile=20.41 1
c Correct table Mean=31.6 1
d Mean=31.22
Difference= 31.6-31.22 = 0.37 1
16 a For definition 1 3 marks
b Proper tree diagram 1
c Both ball yellow = — 1
d 15

Different = =
75




9 1. =T AL 9. 1 &1 10 HT STEIRd 98 ST foramefiesn 110 T @isHed & #1 us Wi
TITRITEhT TEHT ST TS 47 ST TR TS 75 ST HU) 5 SHT shigqi sieiH| I TTaems M T
TISATE A of SH1saT; In Kachana Secondary School, among 98 students studying in

Grade 10, when asked which fruit they prefer mango or apple, 47 students
preferred mango and 75 preferred apple. 5 students did not respond. If mango is
denoted by M and apple by A:

) Ith T¥eh! I Afe forameliewent gwATers MuMTeTsharT tieger|l Write the number of
students who did not answer the question using set notation. [1K]

@) I AHHRIATS S Te=HT Sqd el Represent the given information using a Venn
diagram. [1U]

) U3 %t UsH forgmeffent € e ermsgerd] Find the number of students who liked
only one of the fruits.[3A]

) e el Teien foemeffeset ufes 11 Aot SATquT 77 wrsH ferameffent e wmsam Usq
feremeffent =i wfcra giam? If the non-responding students later chose mango, then

what percentage of students who liked only mango compared to those who liked
only apple?

[1HA]

9 2. fauehel ST g3 B el TAATE SIrHiTshT SFTETET £.50000 ThHH SIS STER
fawesH) frefiet AuTet sferT Sfend 8% aTftier =Ifshar saTSTeht atet T S[etlet Ul ATforsa ST 6%
e TfShASATSIoh Xt 2 FNehT AT HEfd @rarHT ST aH) Dipak gave his two
daughters, Mili and Juli, a total of Rs. 50,000 as birthday gifts. Mili deposited her
share in Nepal Bank at an annual compound interest rate of 8%, and Juli deposited
hers in Rastriya Banijya Bank at a semi-annual compound interest rate of 6% for 2
years.

o) ATfYeh =ITsha SATST I TS & eiegerd] Write the formula to calculate compound
interest.[1K}

@) firet T S[efict 2 T SATSIETI ST STH T WA H0 & 2481.56 T A AT Hewel
Shid-shic e STHAT TTERT W2 I there interest difference is Rs. 2481.56 then, before 2
years, how much money did each deposit initially?[2A]

) Sttt FuTet sfehT fifeter Stfde 8% SaATSIeRT atet 3TelaTNeh =Ifsha SATSTohT et STHAT e T




fireft T S[eftwea sheret et sarrst s el If Juli had also deposited her share in Nepal

Bank at 8% semi-annual compound interest, who would have earned more
interest—Mili or Juli?[1HA]

9 3. T8 2078 HTeTh! FEHT 70000 Toh! SATH AT SHEEAT o 6 2080 ol ST=HT BT

65737 Witz At the beginning of 2078 B.S., the population of Illam Municipality was

70,000, which decreased to 65,737 by the end of 2080 B.S.
) fo.8. 2078 i Geafla fa.8 2080 T GEaHT FHi THATAT T2

What is the duration from the beginning of 2078 B.S. to the end of 2080B.S. [1U]

@) aTfNes e ggat e Find the annual population decrease rate. [2A]
M) Ffe for. & 2080 wreTafes ufeet SHEEAT ek STHT IF g B W fo € 2082 T ST=HT ST

sEE wiqeren?  If the population starts increasing at the same rate after 2080 B.S.,
what will the total population be at the end of 2082 B.S.?[2HA]

U9 4. AT U3 T ol Ao 2 99 STMTET STATHsT A9 2400000 HT TR h1T ot deehT

T F9Te BieRusRT B Manish, who was an NRN in Japan, bought a car for 2,400,000
Japanese Yen two years ago. He sold it and returned to Nepal permanently.

%) <ferar fsrgT™ =T oA YA AJeY| Write the formula to find the compound depreciation.
[1K]
@) AT I I 2031360 STUTHST AT AT sieiehl 9T HiLeh! dTMYeh HHgaet ol ormsged] If

Manish sold the car for 2,031,360 Japanese Yen, calculate the annual depreciation
rate. [1A]

T) SHICRT T AT TOTX 9TeT STTThT AWl FHISHTSHT 10 3= 9.52 -UTcl! F4TehT qlel H1eaT
=i uTeft &9 urssA| If he exchanged the money at the rate of 10 Yen = Rs. 9.52,
how much Nepali Rupees would he get? [2U]




a9 5. feguen! et TTeR! =Rt Tieah! fUaraTter TRaush! SRR ST A
queh! fUTfie ATeRIeR! SIfteh! ThHeh! 81| STHeh! TSR] TTFeITs

16cm T &€k 3978 10 cm B The given figure shows the frame

of a pyramid-shaped lamp placed on the gate pillar of
Rama’s house. The pyramid has a square base of 16 cm
and slant height of 10 cm.

) It TURTHeHT i 3T1eT FvSITRR ddees g7 How many 16cm -

triangular faces does the pyramid have? [1K]

@) SIS TeFeRT AT THT ISR TRTHT o e form 1) afe 1em? et 7t Rs
10 7 W ST frdTent 9o hfd 9e9? Rama plans to cover the triangular faces with

glass. If the cost of 1 cm? of glass is Rs. 10, what will be the total cost of the glass?
2U

L)a‘i%ﬁﬂﬁgﬁmm%% o Sergal T fieeht 3aTE 3et URST v Sgoh 39T hid

ferdet sigs? If the base length of the pyramid is increased by 25% while keeping

the height unchanged, by what percentage will the slant height increase? [1HA]

9T 6. TooHT fOgUaRT SRR FeraTieh! STEERT SATE 20cm T 318
= oS T

50cm B In the given diagram, the cylindrical flower vase has 1
a base diameter of 20 cm and a height of 50 cm.

50 cm

) GACHTRT T HARhT G T TS FrAhT Hagsh! &b

strgqaat? Which surface areas need to be added to calculate C, ;
the total surface area of the vase? [1U] e
@) I AR T i B 9.5, w1t 9 wfeh=s? How many cubic centimeters of soil can

the vase hold? [2A]
M) gocw-ﬂehl el HicregehT AT 32T STUR T 15¢m 3TTS WUh! "l SATheh! TAT Yohehl @ohd

formtor 7 et @10 % 15 o1 gt hid SUaT SR Ty
armawss ue? If a plastic lid with the same base and 15

cm height is made for mulching, and if plastic costs 3m§

Rs. 15 per cm?, what will be the total cost of plastic :

required? [2HA] L am
3m s o

9 7. T BISEHaIc ST STSITOTHT SHTTEhT e Hivatehl \-M a

TEATT TS STThTh! B STHehT TS, TS T39S p—

THAT:8m, 8mT 4m B| Af~elehl BT 3T STURAT 3m IS YUahT fUHE JATHATD T 3m x 1.5m
T IR elree &1 ¥+ The lower part of the Saraswati Temple constructed in the




courtyard of Kanya High School is prism-shaped with length, width, and height of
8m, 8m, and 4m respectively. The roof is pyramid-shaped on the same base with a
height of 3m. There are four doors of size 3m x 1.5m each.

o) Hi~aTeh! JU HEdeh! &he daTerTie g ciegerdl Write the formula to find the total
surface area of the temple. [1K]

@) Afreteh! STt IRt sTeeh Tfdert fHet & 125 1 et 1S g ST TfderiiHel & 350 1 it
STEATTT TRTISET g4 ST @ ot e If painting is done around the temple except

the doors at Rs. 125 per m? and corrugated sheet roofing at Rs. 350 per m?,
calculate the total cost. [3A]

T 8. Frel ASISHT Y FIHAT § ST HEHT WR S| Teish WRAT TohT FEUR! HEATATS HATR

TREAT U SA0ft 2| Ale =Tl T et WIHT ekl HElrsh! AT AT 54 1486 9 In the

Kanchenjunga Poultry Farm, there are 8 chicken coops. The number of chickens in
each coop follows a geometric progression. If the number of chickens in the 4th
and 6th coop are 54 and 486 respectively:

o) TUII 2ofterrs aiewTiya erg) Define geometric progression. [1K]

@) =il werdT aen eRmsTer] Find the 4th term of the progression. [2U]

T) Ik BIHHT TeohT FEUR! ST wgedT ot ermsgerd] Find the total number of chickens
in the farm. [2A]

o) IS TfEA GIERT FEUR! HEATATS QIoa T ST et TERT STHHT FHEeh! HEAT hid SReret
gfggran? If the number of chickens in the first coop is doubled but the same ratio is
maintained, by what percentage will the total number of chickens increase? [2HA]

I 9. T3 Siehed el TSN HEATHT Iehgtenl ATl 48 | Ith GEATohT 3fsheteh! T Titarc a1

S~ AT |l EETET 36 o el =91 In a two-digit number, the sum of its digits is 48. If
the digits are reversed, the resulting number is 36 more than the original number.

o) a7l wHieRuTehT & w9 oieterd] Write the standard form of a quadratic equation.
[1K]
@) i g3 3ishes - o T megerd] Find the two digits of the number. [2A]



¥ 10.
¥) 8 e Solve: 5% + 57% = 25% [3A]
@) T e Simplify: [2U]

2pq pP—q pP+q
2_.2 +
p?-q> p+q p—q .

9 11. 3T FemT ABCD U321 @491, 2| ST AB|[BC,

BC||AD B T AD ®I 5edfa=5 O B | In the given diagram,
ABCD is a parallelogram where AB || BC, and BC ||
AD. Point O is the midpoint of AD.

%) ABOC 1939, ABCD %! &% sl Hr-d efe 4]
Write the relation between the area of ABOC and
parallelogram ABCD. [1K]

@) o e Prove AAOC = ~ABOC  [2A]

mafe ACOD =1 &wat 28 cm? T ABOC =1 &%a sfd g2 If the area of ACOD is
28 cm?, find the area of ABOC. [1U]

a9 12.

%) AABC w1 AC=5cm , BC=4cm T LAB (=303 3t HIYSET SR &% 84 Bt BCD

= =t In triangle ABC, AC =5 cm, BC =4 cm, and 2ABC = 30°.
Construct a triangle BCD with equal area as triangle ABC. [3A]

@) ABCD <15 AABC %! 9vaT Slss &thel 139 o THua? v ied aieterd] What

should be done to make triangle BCD have double the area of triangle ABC? Write
with reason. [1IHA]



T 13. T AT PORS T PSTQ AT SIS &1 ST 8 e U g wamsuant 31 In the

accompanying figure, PQRS and PSTQ are cyclic u
quadrilaterals. ST is extended perpendicular to point U.

) ST S TR TR A s e g '«\

What is the measure of an angle formed on the a j
circumference of a semicircle? [1K] \/
@) £LQPS =1 aH v amsTe] Find the value of 2QPS.

[2U]
m® LRQT = £RST g7 SRR =] Is £RQT = £RST? Write with reason.
[2HA]

9T 14. THaT T ST ST Woh! SR ZTaReh! AT T 1.5m 3Tt et 60 m

I 2ZTaReh! THTHT Bal 60° i S~ATURT 10T 9= Wi Sita and Rita approach an observation

tower on a hill. Rita, who is 1.5 m tall, sees the top of the 60 m tall tower at an
angle of elevation of 60°.

o) Tl ZTaeh! HawT Bal 3 fohfeman! shivr a2 What kind of angle is formed when

Rita looks at the base of the tower? [1K]

@) {ieT=aT ZTeeh! 3T 3hidl TN siql &2 How many times taller is the tower than

Rita? [1U]

M) Tt T 2rer fererent g o i) Calculate the distance between Rita and the tower.
1A

‘Er) 131 3Tt FTer AT 3T ardere ZTeRMR TaT ITAIT iU 30° ST ZTaReh! JHTHT i q

equs? ue wegerd I Sita, who is 1 m tall, looks at the tower from the same place

as Rita at an angle of elevation of 30°, how much below the top of the tower is she
looking? Find it. [1HA]

9 15, AR AT e foRiTerasT Ho=Ticrd shell 9 ohi aTiNeh WITHT 50 ST foemelieesh! e

T st 9t In the annual exam of Grade 9 conducted by Adarsha Secondary

School, the marks of 50 students are as follows:

P

amrss Marks | 0-20 20-40 | 40-60 60-80 80-100

foemeff gt No. |3 10 20 10 7
of students




) FevaTele! U HUeh! foremeffe® 1 smi=qua Wt 12 In which class interval did
most students pass? [1K]

@) I qeATgehen! 7k Al armeqerEl Find the mean from the given data [2U]
M) #ieersht oo ersgeE] Find the median. [3A]

o) % Ik ATHIS el ATe2reh T {id U3¢ SuiiaT qai7sruMied aieger| Are the median
and mode in the same class interval? Explain.[1HA]

T 16. T3 HIAHT 5 ST T T 5 AT (e 3 T3 slefee B3I sTefee Thais
3! 714 U: TR 31T In a bag, there are 5 red and 5 blue balls, all
identical. Two balls are drawn one after another without replacement:

o) HATTEA =T 91Tt o 39897 What do you understand by dependent
events?[1K]

@) GRITIId HIeATeRATs HITeadT JeIf=rHreT S&qd Terd| Represent all possible
events using a probability tree diagram.[1U]

) g STeTge U1 U JRTsIdT <hid g ? ol emsgerdl Find the probability that
both balls are red.[1A]

o) AT Il s I TReR AT et T3t ol a1t Tral o §eITearaT O Tt STH §eTerar
=T et siet A =1 g2 If the first ball is replaced before drawing the

second, how much more or less is the probability of getting both red balls
compared to the previous case? [IHA]

Best of Luck!!!



e . 3, faww @ sfard vt
wreatae Rrem alrerer yeAe fRter qur aftArster e (R0aR)

IHT: ] " EUIEC R
q Jees A\ard B | Attempt all the questions.

1. TIAT FALAUHT AR qUH AiATes Te4 80 AT AfATesel raer AI=r3+, 85 5

2.

3.

AfTEEEe A1 TS T 75 ST AT g9 AAWRISH SAHERT f&ar 50 S "nidesd g9

HAhA HAYUAT |

Out of the people who participated in a survey, 80 people liked oranges, 85 people liked

mangoes and 50 people liked both, while 50 people did not like both fruits.

Q) AT HARIST AIHaeed THedrs O T A9 AARIST Adesd gqedars M g
FARA HAIRIGH AIHAEEH THEATS TUHTCHEAT FhadT J&Tard | Assuming the set of
people who like oranges as O and Mangoes as M, write the set of people who liked both

fruits in the cardinality notation. [1K]
b) wfrer SeRIArs AAfe=HT s@rsHard | Present the above information in the Venn
diagram. [1U]

C) FAT=ER TART T FAETUHT HESHT WU STHAT AAETH ST OadT R3erd | Find the
total number of people who participated in the survey by using venn diagram. [3A]

d) TSer 9T wARe WAIRTSH AIMHEd] @I T 39 Helthel HAURIGH HIMAesd TEel JoT
THer ™ | Compare the number of people who like only one fruits and the number of people
who like both the fruits. [IHA]

T ST fFarer 2 aver @it ¥ 50000 arfties 8% AtRT ATHERAT TEFRHT THT WS 1 A

farmer deposited Rs. 50000 in a co-operative for 2 years to get the annual compound interest at

the rate of 8% per annum.

a) I ABKT ATSTHT Teh aUHT Hiq Taeh TSI TUMET g, 7 dTeTe ™ | How many times the
interest is calculated in the quarterly compound interest in a year ? Write it. [1K]

b) fraTaer 2 aue! F=aHT Hid ATt AGRT TS T Tagd 2 9aT asTerd | How much
annual compound interest will the farmer receive at the end of 2 year? Find it.  [2U]

C) fepameer erefenfiier = =aTS OIS T W THH ST LT U B qEl AT I T Fag 7 o=r
w@ms=erd | Find out how much more interest the farmer would have received if he had
deposited the money at a semi-annual compound interest. [2A]

F ST stHagen 10000 1 I MSuiaser aifts SHasen gigar 2% EH @ |

The present population of rural municipality is 10000. The population grows 2% annually in

the rural municipality.

a) e gl sage P amiie giger R% wu T audige! sSagedn Py qdr @@ns= g
oetard | Write the formula to find Py after T years if initial population is P and the rate of
annual growth is R% . [1K]

b) =wfa v dfeg &1 TSR THagen 10404 975 ? o1 TRSHeE | [1U]

After how many years the population of the rural municipality will be 10404 ? Find it.

C) afe &1 MR 4% 1 &l Ifqad gig TUH AU 2 TUAT AT MSANABTR TAASEAT

Fiad @gg ? AT aemsderd | If the population increases at the rate of 4% per annum, by




what number will the population of that rural municipality be increased in 2 years ? Find
out. [2HA]

4. uF faerr AU Sahar srAfed et ($1) Fr Fedr s 9% 133.63 e fa4r 1 One day, In
Nepal Bank the exchange rate of US dollar($) 1 was NRS 133.63.

a) $1000 = wfa A9l w5 e Afebve, 7 T A MSTER | How much Nepalese rupees can
be exchanged with $1000 ? Find it . [1A]

b) e qAATHT FUTAr HErr 1.5% & eraqeaw ga1 $1 AraA Fdq Tl FYAT AFedE I 7
gar «mserd | While Nepalese currency is devaluated by 1.5%. as comparison to US
dollar, what will be the Nepalese rupees to exchange $1 ? Find it. [1A]

¢) wurer HaT 1.5% o sraqea+ ga1 $1000 Fedt 79 #fq 7w afe ar &7 99 ws 7 1 If the
Nepalese currency devaluated by 1.5%, how much more or less will it cost to exchange

$1000? Compare it. [2 HA]

5. Gs! o e ATHRH! AFaTH B | SEh! TR ATIRHT ewels 10 ft
g | Inthe figure, it is the pyramid shaped temple Which has a square base "/
with a side length of 10 ft. “

a) TTh WGTHT Bl PSHR Tqeee g 10em
How many triangular surfaces are there in the temple? [1Kk]

b)ﬂ%‘(‘aﬁ ATIR TR &TH ﬁd’ﬂvjﬁlﬂ\ | Find the area of the base of the temple. [1U]
¢) AT AFETH! G [HARHT ¥ 13cm WU T FAGH! &R Fblederd |
If length of the edge of the temple is 13cm , then find the total surface area of the temple. [2A]
6. BT BT Al T AN e T i F&q [2UBl § | FEAT AB=29cmT
0B=20cm<§ | An adjoining figure is a solid object formed by a cone and a
hemisphere, in which AB =29 c¢cm and OB =20cm.

a) |IEAT T AT FHEAT aeepl Fo<h 319 a&qHT Hiqadl ahaaees geagd ¢ aeferd | How
many curved surfaces are there in a combined made of a cone and a hemisphere?
Write it. [1K]

b) 3<h Ol d¥ehl Hdghl AAhel Ul Fl‘llg\:ﬂé"lﬂ\ | Find the surface area of the solid. [2U]

¢) I SIF ! qagdr W=t A.fH. 50 TrET et AEBT FeAT AMSH AR @ qwT

Gﬂll?@%"lﬂ\ | Find the cost of silver plating the surface of the solid at the rate of 50 paisa per
square cm. [1HA]
7. w3ar fearET 60 faer, 60 frex 7 60 faey qoies AUl HYSTdR S B | S |1 SIET 7

B ATEvSH | TF $.97. Hebel 9 aITHR 3TSes e | A Farmer has a triangular field with sides of
60 m, 60m, and 60 m. He wants to grow maize in the field. one kg maize is sufficient for 9 Sq.

meter land.
a) ST PSP STRITATS O3 TRT ST i .. Heb =NfeTeT 7 97 sWs+er® | How many kg of
maize is required to grow in triangular field? Find it. [3A]

b) It fFarTers wrarsr saren & 2,000 afeq ufq &5 qebar & 100 7 a0 STHT H{q @ el ?
g «serd® | What amount of total cost should the farmer bear paying as Rs. 2000 for labour
charge and Rs. 100 per Kg maize? find it [2HA]



8. T BRI GAHAT Afereall faepl qTeay g T THH STHAT TS | SHIel qi= GTHT STFAT Tl ThH Al
arfereeran feguert & | Anju deposited the double amount of money than the previous day in her
daughter's piggy bank. The amount she collected in the first five days is shown in the table below.

First day Second day Third day Fourth day Fifth day

Rs. 5 Rs. 10 Rs. 20 Rs. 40 Rs. 80

) ST BIKIHl GAHAT STFAT T IHAATE Tl ATHH AR a1 oz &1 & 7 Which is the
sequence, Arithmetic's or Geometric formed from the amount deposited by Anju in her
daughter's piggy bank? [1K]

b) afe FHHHT TEH TEAT Tx A &7 99 10 o fa7 T gEAHAr Hia 79 T & 7 | the
amount is deposited in this order how much will be deposited in the piggy bank till the 10%"
day? [2U]

C) WIfTd FTHA AR ThT ST 7 &1 9 gAar & 20,000 q=ms a7 2 fa 9u g ¢
FRu Ffed @&terd | If she deposit the amount according to the sequence to reach Rs.

20,000 will 2 more days be enough. Write with reasons. [2HA]
9. B d19 ¥ BRIH IHH! AR 145 @1 1 quuls el IH FRIET IATH 5 T[0T g |

The product of the present ages of the father and his son is 145. one year hence, a father age
will be 5 times as old as his son.

a) A FHIHTR A ¥ Feterd | Write Standard form of quadratic equation. [1K]

b) S¥res®r er@® SR Merederd | Find their present ages. [3A]
C) BRIH IHT ATAH! ETAR IHI & JTATAF dTaRe ATl FHI Hid I 93T 7 If both them
live till the son be comes as old as his father. how old will be the father? [1A]

10.a) & = (Solve): 25¥ —6 X 5* +5 =0 [3A]

a . oo\ X+ x— x2+y?
b) et T (Simplify)” = + > — 5 [2U]

11. e APQT * @R ot PQRS use amar S R T
PQ = 3f& s Y@es PQ T ST fa=rn aa o | \%
(In the figure, APQT and parallelogram PQRS are
f_ormed between the same base PQ and the same parallel P 4
lines PQ and ST.)

a)A PQT ¥ Fa™=R =Iqqst PQRS &%« fa=rer ava=a & g3 ? @eierd | (What is the
relationship between the area of APQT and parallelogram PQRS ? Write. [1K]

b) afe FHATR ATHTH AR 51 12cm ¥ I=15 8 cem 9 A PQT &1 &=ha o=
a3 erd | (If the base of a parallelogram is 12 cm and the height is 8 cm, find the area of
APQT.) [2U]
o)A MATH USer @M oIqus & | ST&wr
WSTEE HM T TH @1 [a7ge® e PTJTA |
AATP & &R =AMA) FHT AT TR TG J

T T Jlﬂélﬂ\ | (In the figure MATH is a

M P H

parallelogram. In which the sides HM and TH have A
points P and J respectively. Prove that the area of AATP = the area of AMAJ.) [2HA]



12.foar e O AU gaHr U3 =19 LK |r aiify woes AKNL 7 N
ZKML =1 3 1 (In the figure, in a circle with center O, the ﬁ\
K M

circumscribed angles #KNL and £KML are formed by the same arc . 7
KL.)

a) srgaaHr anel aRfaer AKLM & w19 #id g7 7 @eted | (What is
the value of the circumscribed angle 2KLM formed by the semicircle?
Write.) [1K]

b) x @ | 9T @msHeE | (Find the value of x.) [1U]

C) TS =Y At qfefasr Frores AKNL T AKML %1 GF=arg TammgRT G TR0
FIETAT 3cm ATAT TUH 2 AT aqee dard g 1) Verify the relationship between the
circumscribed angles £ KML and 2KNL based on the same arc by experiment. (Two circles
with a radius of at least 3 cm are required.) [2A]

13.a) AB=5.2 cm, BC=4.8 cmz £ABC = 60° wits1 AABC =1 T Ih MASTET aR1a
SR HUH! AR ATl 94T THRE, S9! T3ar 9o 6.3 ¢cm 3 | Construct a
AABC with AB=5.2cm, BC=4.8cm and 2ABC=60 and construct a parallelogram with the
same area as the triangle, one side of which is 6.3 cm. [34]

b) feemr ABCD U3er SHMIR ¥l &l | ST9ad! T3al A E
a1 BC @5 F w8 aveargua! g, el BC = CF w1
FHATR Id9 ABCD ¥ ABEF &1 &% sRTeR
g9 4T &4 7 #R a8 | In the figure, ABCD is a
parallelogram. One side of which BC is extended to F,
where BC=CF, are the areas of parallelograms ABCD
and AABC equal or not? Give the reason. [IHA]

14. U3 FAHR TEAHT TR 132mF | Ih TGB! [E=H 1 U3 @ MEuH g |
U3l SARhel WEH! FAREE @Fedh]  THMT g&l SAdiT HI 60° 90 | The

circumference of a circular pond is 132m. A pole is fixed at the center of the pond. From the
bank of the pond, a man observed the angle of elevation of the top of the pole to be 60°.

a) IH d@UAH! AYAY U1 TMSTe® | Find the radius of the pond. [1K]
b) [gUaT AT == é@lgﬂé"lﬂ | Show the given information in a figure. [1U]
¢) ITH WHATRT IATg 9l 3™ | Find the height of the pole. [1A]

d) AT DI 45° HUDT HY @FHT IA1G HId -2l ? If the angle of elevation was 45,
what would be the height of the pole? [1HA]

B i

15.%em 10 w1 sremaera faendiessr S=rg dete! difeedrar s@rgual & | afg At 3=mg 125.5 cm
g W [aguer geaewdl 97 faqerd | The height of students studying in class 10 is shown in the
table below. If the median height is 125.5cm, answer the following questions.

3=z (Heights in cm) 95-105 105-115 | 115-125 | 125-135 | 135-145 | 145-155
fermmeierr gear (Number of 9 15 25 p 16 10
students )

a) WA 99 F=a¥ &4 &1 ? Which is the median class ? [1K]
b) @fs=ra aRFaRar drfdewr HHT T | Construct the cumulative frequency table. [2U]
¢) P & |= yar @vmsHe | Find the value of P. [2A]




d) 125 cm sv=1 0 S8 TUH fq=ndt Feam 7 125 cm w1 961 398 At faandiewe
gg@ fa=r qaqr e | Compare the number of students whose height is less then 125 cm
and more than 125 cm. [IHA]

16.TST SRIATET 7 1T a7 ¥ 8 el TedT & T 37 qAeE AMGUHT B | TRl ToAe® UhUls,
Fepl T I AR WRfPUeT & | A bag contains 7 red and 8 yellow identical balls. Two
balls are drawn one after another without being replaced.

a) e A * B ggeier atua were® g1 99 P(A N B) = oWs" 9 % &9, qeterd | If
two events A and B are independent events, what is the formula for finding P(A N B).
Write it. [1K]

b) 75 =rer 2w o @waTeEar gar weeHE | Find the probability of both balls are red. [1 U]

C) wifaehl STIEIes FrATeraT FeTte=ar @rs=erd | Show the above information on a

probability diagram. [24]
d) g% =t rar o T g% Ao wEer g GwATedreTs e THErE | Compare the probability of
both balls being red and both balls being yellow. [IHA]
*kkk
THAT J9A (HATTHias

RIS &4, fefew @ e fefew w9, iR

TH IS Waee faganfent @r.fq, =reee 7. ), deqw
Ty wUery, faam #nfa. Rl moan. -, areee
A JA1E [, feweiwrst /. fa, seTar war.-y, ST



SEE (Question paper presentation and modulation) - 2082 (2025) Koshi Province
FfaTd T SR B ST
A Tepfedep AT THTAT GHTET THAT I AF F&TH I ) | STLHSSTBTHT Icdeh =RUhT ITATSH
q AT faaneiese AT THTETT TP AGRITHT TAT ATHIY FRTET (T THE) FE g7 TTHT THT 0.4
qIF YIH THIAS |

97 |99 A7 | S Ak
a) n(0NM) =75 1
1. |b) Correct Venn Diagram 1
C) N(U)= 5+75+10+50 2
= 140 1
d) 15:75 Or for any comparison method 1
a) 4 times in a year 1
: ) Cl=P - 1 R\ 1- :
= ( * m) -
I 2 .
= 50000 [(1 2 - 1]_ Rs. 8320 1
[ 2T T 4
) c1=P|(1+4)" - 1|=50000 [(1 ) - 1]: Rs. 849203 | *
| 200 | 200
Difference=Rs.172.93 1
Y P Pl1 R\ 1
3. r=P(1+375)
b) Py = 10404
1.0404 = (1.02)7 1
T= 2 years 1
C) Change Rate R = 4 % and get P = 10816 Increase 1
Population=816
a) For $1000=1000x 133.63 = 133630 1
4.1 b) 1.5% devaluation =133.63 of (100+1.5)%=135.63 1
C) Devaluation exchange= $1000x135.63=135630 1
Different amount=13630-133630=2000 more amount 1
a) 3 Triangular surface. 1
5 b) 100cm? 1
| ) i)l =12cm 1
ii)TSA= a? + 2al
iii) TSA = 340cm? 1
6. | a) 2 curved surfaces 1
b) i) CSA= 21tr? + mrl 1
ii) 2772+1914
= 4686cm? 1
C) 4686 x 50 = 234300 Paisa 1
= Rs. 2343




7.1 a) Area of land= 1557 sq.m. 2
Required Maze= 1557/9= 173 kg. 1
b) Total cost for Maze = Rs. 100 x 173 = Rs. 17300 1
Total Cost with Wage= 2000+17300= Rs. 19300 1
8.]1a) Geometric Sequence 1
b) S = ac-1 1
n r—1 1
= 5115
C) 12 days = Rs. 20475, 1
If added 2 days , Rs. 20000 enough 1
a) ax?+bx+c=0
9. 1
b) Father's age (x) = 29 years
Son's age (y)=5 years 3
C) Father's age 53 years , when son's age will be 29 yrs. 1
10. | a) 5*—-1=0and 5*—-5=0 2
Or, X=1,0 1
b) _ GpPHaeoy)?  xPy? 1
(x+y)(x—y) x2-y? 1
_x2+y?
=
11. | a) (i)  Areaof APQT = % area of parallelogram 1
b) (i) Area of parallelogram =b X h = 12¢m X 8cm = 96¢m? 1
(i) Area of APQT = 48 cm? 1
c) (i) Area of AATP = % area of parallelogram MATH .
(ii) Area of AMAJ = % area of parallelogram MATH
iii. Area of AATP = Area of AMAJ 1
12. | a) IKLM = 90° 1
b) 2x+3x=90°
X=18° 1
C) (i) Correct two circles with circumference angle as same arc 1
(i) Correct measurement with result and conclusion 1
13. | a) (i) construction of AABC 1
(ii) Drawn a line parallel to BC through point C 1
(iii) Construction of a parallelogram 1
b) Both area is same( base of triangle is two time more than base of 1
parallelogram.
14. | a) radius of pond=21cm 1
b) Correct figure with name 1
C) Height of Pole = 21+/3m Or, 36.33m

d)

Base= Perpendicular




15. | a) Median lies 125-135 Class 1
b) Correct C.F table 2
c) P=20 2
d) Less than 125 cm= 47
More than 125 cm =53
Difference =6 1
16. | @) P (AnB) = P(A) x P (B) 1
b) Let Red ball denoted by R and Yellow ball denoted by Y 1
1
P(RR) = P(Ry) X P(Ry) = c
C) Correct Tree Diagram (For first drawn + second drawn) 1+1
d) P(RR)=z, P(YY)== P(RR):P(YY)=3:4 1




SEE Model Question-2082

Subject : Mathematics Time : 3 Hrs Full marks:75
All the questions are compulsory.
1. t3er FHERYT Feart 70 51 geanlt 7ey 60 99 AteT gaaRted 50 SAter Wia ST #99 9wieH

T 5 ST A= ¥ ST gof TAAIRIST qTgAT A,
Out of 70 participants in a seminar ,it was found that 60 participants like dancing and 50
participants like singing,

a. Fie DT S & A AT T MIT AARST EARTH FHE 6e A9 N (D U S) & T0MTcHbAT
efard | IfD and S denote the set of participants dancing and singing respectively ,then
write the cardinality of n(DUS . [ 1K]

b. wdreRr SAERArE SAfEETHT gedd T
present the above information in Venn diagram. [1U]

C .U3aT | PhATHATT A WIS ARSI Iodl TSl
Find the number of participants who like only one activity [3A]

d. 3 BRATEAT 99 ARG FeuriEed ai Ae 9 TR 99 AT ARG ¥ ST HAIISH

TR AT FehTeTard |

If the number of participants who do not like both activities also like dancing then find the ratio
of participants who like dancing and singing.[HA1]

2. TSI el & 50,000 T3 YR AW F(qay 5 % I &l AdATHIE AT I T T3 (a1

SeFHT TERT ATRHAT @TATHT TTHAT TS|
A teacher deposited Rs. 50,000 in own account of development bank for two years to get half
yearly compound interest at the rate of 5% per annum.

a. AIAMNF TR AT AR 2 TUAT B Taeh TSRl TUMAT T
How many times the interest is calculated according to the semi annual compound interest ?
[1K]

b. 3% Rerde T3 AR ATIHAT AU F ATGHT AT ATAR F(A AT I Tl AT
According to the half yearly compound interest ,what would be the compound interest
received by teacher at the end of 2 years ? find it.

[ 2A]

C. ife ATSIELAT alftie AR AT AR Hid GHIAT & 50,000 FHT {rg= ¥ 55125 =5 7 Iaal
TSI |
According to the same rate of yearly compound interest ,in how many years will the compound
amount of Rs. 50000 to be Rs. 551257 [ 2 HA]

3.. ATEAEA TIAT FR % 25,00,000 AT fFsm 2 a9 T8 FRA A 5% FT 7 719 g5 T |
Sarthak bought a car for Rs. 25,00,000 price of the car depreciates at 5% per annum up to two
years.

a. TR ged V, e gl A Vi, @8a T 7 g9 R g1 eraufgs 9o Mt 99 aefere | If
initial value V, value after depreciation Vt,time T and rate of depreciation R, are given write
the formula to find the value after depreciation. [ 1K]

b. 3% FUulg FRFT A Hq g7 T TSR]

What will be the value of car after two years ? find it. [ 1 U]

C. X 1% & aaT 99 g9 IHH Hiq Tiqedo des7 depreciation rate is
increased by 1%, by what percent the depreciated amount increased? [ 2 HA]

4. Jurer fageT ST ATRT SHRHT o A S TAT | IFT Sehebl TR [GAHT TR AR AHRET SAX
1 & @eieex ¥ 131.35 7 fa=rez ¥ 131.75 & | Pranaya went bank to exchange American
dollar to visit aboard .The exchange rate of the day records NRS 131.35 for buying rate of 1
doller and NRS 131.75 for selling rate of 1 dollar.

a) g Jarelt =9at 1,00,000 1 HehT S A1eaT Hid ¥ 9ies ¢ How much American dollar

will Pranaya get for Nepali rupees 1,00,000 ? [2 A]




b) wormr ERTEET R faRer W AGH qUIE WAl &7 S ATEHN TARATS B TATAT FHAT JTed
NECTl
Pranaya cannot visit abroad due to house hold problem .How much Nepali rupees from the
dollar can he get ?2[1U]
C. TUIS TR TEh PRIARATE IAATS i T4IT ATRT T AR g7y HRY Afed  4fte THe«, How

much profit or loss will Pranaya from his transaction of that day ?explain it. [1HA]
5. AMER ATIR qAUH fRifags®t 3915 24cm 3 3arR et A7 20cm F |

Height of a pyramid is 24cm and measurement of square base is 20cm.

AT MER TR AUH MRITASH Hlqadr HIATHR Jages ga !

How many triangular surface are there in the square base pyramid?

b. S fRifAE® 1 Fags! daha o AR |
calculate the total surface area of the pyramid .[2A]

C. It MRITAS® ATgR sToiers 10cm Jersel Sk SaT8 Hid Iaerdd g &5 7 Iedl dSerdl
Increasing the length of base side of the pyramid by 10 cm find the growth rate of slant
height.[2HA]

6. & 3% UER AT fAgAeET i AT TR Arrae TR T avars EeTs ¥ 9

FHM: 3m,1.5mand 1.6m 3 1

The inner length, breadth and height of a rectangular tank for the drinking water for two

families are 3m,1.5m and 1.6m.

JHT TATSHMAT F(q fae? 91 w2i9s 7 Find the capacity of the water tank. [1U]

Ih AT AT =Raer faarar gfd avitaex & 100 &1 3=l 38 TMear STFT Hid @9 arg, 7

What is the cost of coloring the four inner walls of the tank at Rs.100 per square meter? [3A]

7. Tora¥n UQer g 3 g% Al T el (HelR Il @) STHHT
FIATHT =T T 3978 AT 8cm 14 cm T e
FgF 991 Scm )

In the given figure a combined solid object is made up of a cylinder and cone .

The diameter and the height of the cylinder are 8cm and 14 cm respectively
and slant height of cone is 5cm.

a. FIATRl AT (el g9 «&terdl ? write the formula to find the volume of cone. [1 K]
b. S IE TR THIAGH FTARA (BRI |
Find the curved surface area of the given solid. [2U]
C. I I FT&AH [T FACH TARA ThHATEH &R AT B TG g
By how much the total surface area is greater than the curved surface area?[1HA]
8. FHadrr e qrH [a7 TFH TRET @ D] ANAHHT [G3TH G,

In the table given below expenditure of kabita in first five days is given below:

[1K]

S

deer fad HEIRET] REIRES] =47 faq arer e
first second day third day fourth day fifth day
day

Rs.200 Rs.250 Rs.300 Rs.350 Rs.400

a. FHAAT @9 TFHI THAATE Th] ATHHA GHAMTIT a1 U & a7

Which sequence arithmetic or geometric is formed by the amount spent by Kabita?[1k]

b. afe wwHT @< w&r 15 foqar sw 1 Fq @ gy

if the expenditure is continuous as above ,what is the total amount spent till 15 th days?[2U]

C. 3z waar w1 ® 15,000 3w w0 a8 A @ @ A e @ T g g

If Kabita has Rs.15000 then is it enough or not to spend till 20t days as above sequence
?write it with reason.[2HA]

O . T3aT SNl ¥ =erg W=l 5m Hie? odl T8 | I bl &her 150 =9




ez wm
The length of a land is 5m more than the breadth . area of the land is 150 m square meter.
a. S TP qFTg T ASE Il STl |
Find the length and breadth of the land. [2A]
b.=wETg 7 HIETE SRIER WHATHT (. TQIEal A STl &he Uil Saheiehl aIeaR gy
By how much the length and breadth to be increased equally so that the area is double of the
previous area [2A].

10a. 2x0 &1 ¥ @&fE@™ : write the value of;  2x0 [1K]
C e x+y x% +y?
b. T« g simplify : o [2U]
C. 87 THe¥ : solve :2¥73 +247% =3 [3A]

11. Srer foHT AABC, ABCD ¥ JHTIRR IS« ABCM US< IR BC ¥ SeT
FHATR T@e® AD ¥ BC T SI=HT bl T |
In the adjoining figure, AABC, ABCD and parallelogram ABCM are standing

on the same base BCand between the same parallel lines AD and BC.
a. P11 ABC ¥ FHMTR IIqHST ABCM &1 &T9%d A9 & ¥¥7d 878 ¢ aeleld | What is the relation

between the areas of triangle AABC and parallelogram ABCM? Write it.  [1K] P
b. AABC & &@wa@ ABCD &I &R« sR1a% g3 9l YHINT THa< | Prove that
area of AABC and area of ABCD are equal. [2U] X V2

c. feguar fe=@r PX // RY, PR // XY 7 QR &1 5eafag M g 99 fsst APQR T 99MHT=R
=S PXYR &7 &thel sRTeR =g |1 JHIIG a4 | In the adjoining figure,
PX//RY, PR//XY and M is the mid—point of QR. Prove that APQR and the parallelogram PXYR are equal
in area. [2HA]

12. @F=fag O WUl t3ar gadn, A, B, C ¥ D aifgem 9 fa=e® &1 | In a circle with O as centre, A, B,
C and D are the points on the circumference.

a. THI ATHSTH TRATIT AeTerd |
(Define cyclic quadrilateral.) [1K]

b. afz =™ I ABCD W1 4A =3x° 7 4C = 5x°—40°, 9T, 'x*' &1 #1991 ST |
In a cyclic quadrilateral ABCD, if angle 4A = 3x° and 4C = 5x° - 400, find the value of 'x?'. [1U]

C. FHIAT 3 . HI. HAIATH AUH dl 8% adls =Aehld ATHA AABCD &1 (I Hores £A T £C &l
IRTHRS 180° IRI&UETE qfte A |
By drawing two circles of radii at least 3 cm, verify experimentally that the sum of opposite angles A
and #C of a cyclic quadrilateral ABCD is 1802. [2A]

13.a. QR=6 .41, PQ =4 ¥.91. T 4PQR = 60° qu&r APQR %I &A1 TR TR GTRAGT aRTaT
fARA g4 T UZel Arad STRU &l =T T |

Construct APQR in which QR =6 cm, PQ =4 cm and 4PQR = 60° and construct a rectangle STRU equal
in area to APQR. [3A]
b. &1 smaa STRU &1 &%« #id g 7(What is the area of the rectangle STRU?) [1HA]
14. wfewr fFaRm @t arer 51.5m et g ¥ gl fFarere 1.5m e Aifaa
T AT el o grarer & 300 @ A
A tower on the bank of a river is 51.5meter high and the angle of

elevation of the top of the tower observed by a man of height 21.5m
from the opposite bank is 309°.

51.5m




a. Il HIUT geATT G2 | Define angle of elevation . [1K]
b. AT w1 EER B ol g 7
How much higher is the tower than the man? [1U]
C. Al =SS T TSR |
Find the breadth of the river. [1A]
d. mrfraer S=TE ¥ AR TSR AITT TAT AR |
Find the ratios of the height of the man and breadth of the river. [1HA]
15. T« uger a=i® fGual @ | A data is given below .
SqTAT-wages in Rs 500-700 | 700-900 900-1100 | 1100-1300 | 1300-1500
FTHIR  F&AT  (no.of 6 a 14 13 9
workers)
a.afs ¥ 900 w1 HH SATAT 4T3 FTHIRE! €T 14 9T a F1 {1 H(d gy
If the numbers of workers obtaining wages less then Rs. 900 is 14 ,find the value of a [1k]
b. feguar dqediware Al gcar @S ed : Find the median from the given data: [2U]
FTHERET ATTT SATAT Teal s | Find the average wages of the workers. [2A]
d. 500 3f@ = 700 suren 99+ #FHeEREed #@9 & 700 3f@ T900 surer aised ?
1100 &1 9T FE SATAT IS FIHIREE 2eTerg, HA AT SATAT qfeelebl AT A= FfeT a@r a1
udl g If the workers who got Rs. 500 to 700 wages now gets Rs. 700 to Rs. 900 and the

workers who gets Rs. 1100 and more than 1100 are omitted by how much the average wages is
less or more then the previous average ?[1HA]

16. T3ar 9iSET 5 9a1 7Aar ¥ 4 27 AT & T 3T qA8e T |
A vessel contains 5 red and 4 white balls of the same shape and size.

a.afe A ¥ B 3zae R MUg® geAEE g4 A9 P(A U B) Il @RS 9 A&Tay |
If a and b are mutually exclusive events write the formula to calculate
P (AU B).[1K]

b. 3zaer aeEE FERET THAG AH T WGET BT g 99 qEATAAEEATE 8 A I@IeHE |
Two balls are drawn randomly one after another without replacements. Show all the
probability so formed on a tree diagram.[2A]

C. T I AT I FEATIAT F(T gragy
what is the probability of getting both red balls [1U]

d. fHfaTsr afeet aer O TCR AT TS g [AbTeaT g AAT I GEATAAT, I TG ggdel AT I
fepriiuesr w=a1 *fd aer a1 wdl g when two balls are drawn one after another with
replacement ,by how much the probability is more or less then the probability when two balls
are drawn one after another without replacement.[1HA]

£

THE END
Group -D
F 9 qH IR fermerar R TR
1. AT FHIATE = 9842061483
2. CICENERCE]] 9843423199
3. AT TMferes g 9849048720
4. IR TR 9860972646




g9 7. | SO T T
qgh
1a. n(DuUS)=5 1
1b. For proper venn- diagram 1
1c. 60-x+x+50-x+5=70
X=35 1
no(D) =25
no(S) =15 1
no(S)+ no(D) =40 1
1d. 60/55=12:11 1
2a. 2 times 1
2b. = R yor . 1
CI P[(1+200)2T 1]
5
= 50000[(1+E)4 -1] 1
=Rs. 5190.64
2c. — R
A l)(1+100)T 1
R
A/P —(1+E)T
(1.05)2 = (1.05)T
T=2
3a. —v(1 .- &
VeV(1 - 750"
3b. V(1. &
VeeV(1 - 750"
=2500000(1-5/100)2
~2256250 1
3c. —vi1-(1 .2
D=V[1-(1 100)T ]
=2500000[1-(94/100)2]
=Rs.201000 )

Increased percent =19.38%




4a. To exchange dollar from the bank selling rate used.
Rs.131.75 = Dolar 1 1
Rs.100000= Dolar 759.01 1
4b. Dolar 1=Rs.131.35 1
Dolar 759.01= Rs.99694.65 1
5a. 4 1
5b. L2=242+102
L=26cm 1
5c. TSA= a%+2al =1440cm? 1
6a. V=3x1.5x1.6 =7.2m3=7200 1 1
6b. Area of four walls =2h(1 +b) 1
=2x1.6(3+1.5)=14.4m? 1
Total cost = 14.4x100 =Rs.1440 . 1
7a. V=mrzh/3 1
7b. CSA =mrl +2mrh =22/7 x 4 x5 +2 x22/7 x4 x14 | 1
=414.86 cm? 1
7c. TSA - CSA = mr2 =50.29cm? 1
8 a. Arithmetic Sequence 1
8b. | 515="[2x200+(15-1)50] 1
S15=—X1100 !
8c. S20=="{2x200+(20-1)50]
=13500 1
She has Rs.15000,which is more than Rs.13500.
Thus Rs.15000 is enough to spend till 20™" day. 1
9a. X(x+5)=150
x=10,x+5=15(solving)
length=15m and breath=10m 1
9b. (15+x)(10+x)=300 1
or,x?+25x-150=0
~X=5
Thus length and breath to be increased equally by 5m | 1
10a. 2x%=2 1
10b. x+y x*+y’ 1

x—y x2-y?2




=(x+y)2—(x—y)2
xZ_yZ
_ 2xy

x2—y2

10c.

2% 16
8 2%

Let 2*=a.
a’-24a+128=0
or,(a-16)(a-8)=0
s X=4,x=3

11a.

Area of triangle ABC =% Area of parallelogramABCM

11b.

Area of triangle ABC =% Area of parallelogramABCM

Area of triangle BCD =% Area of parallelogramABCM

Area of triangle ABC = Area of triangle BCD(with
reason)

1lc.

Area of APQM+AreaAPMR =Area of APQR

Area of APQM= Area of APMR(with reason)

Area of APQR=2 Area of APMR

2XArea of triangle PMR = Area of parallelogram
PXYR(with reason)

Area of triangle PQR = Area of parallelogram PXYR
(with reason)

12a.

Correct definition of cyclic quadrilateral

12b.

3x%+5x%-20°=180° (with reason)
x%=25°

12c.

Drawing figure correctly and description
Filling table properly and Conclusion

13a.

construction of A PQR
Drawing parallel line to any side of triangle

Construction of rectangle having equal area with A
PQR

R R R R R R

13b.

By measuring length and breath ,area of rectangle
STUR=6 cm?

14a.

Definition of angle of elevation




14b. | 50m 1
14c. | Tan 30°= AB/BC
150
V3 BC

BC= 503 or 86.6 m !
14d. 1.5/86.6 = 15:866 1
15a. | 14-6 =8 1
15b. | Median lies in 25%™"item. 1

Median class=900-1100

Median =900+=—**x200

=1057.14 !

15c. | Y fm = 52200,N = 50 1

Mean(x )—52200—1044
15d. 800><1442-;L000><14=900

1044-900=144 more than the previous average. 1
16a. | P(AUB) = P(A) + P(B) 1
16b. | For proper tree diagram. 1+1
16¢. | p(RR)= P1(R)XP2(R)— 2x == 1
16d. | py(R)XP2(R)=2X 2 = =

leference—é-2 e '

72 648 648 162

A TAFE ARG T B AR 4fT FE IS dF JaTT TRA 3
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1. g functional group -OH g dT gé?ﬂé@% "llR“I%h("I{ Eb'é?ﬂ C,H,,.;OH 511
SIS W] 1 T T ol T ST T !
Chat GPT HT 5 <189 T 3t U3 dT Chat GPT HT STERT T4 30 T T J&d
o ferserh et st 7 T S e !
3 YouTube AT foRT forsrent foifsr=T arereqent It foqieeet qar ! it
TR o T TR ekt 9 T Hid e g3 st o A e e S 1
SICEI)
1. HohHT TSR g T ZAToRe B
1l.  WoheR! ITCHT ST THT g TIRIAT SITefIar T g maximum
4 1ll. Wl HEHT GAURT 3 FT AT 3 I AlCZUHT g dRWT e T | 2
HRICHT ¥/ 92 a9l TUeA g 1 mark_for
iv. b oz e g IR et g Fdee g cach point
TE 1 g3 T AT AGHT I £ 1 ¢ TG Higd 2 AgH
i. IRV AR maximum
> i, el s % mark for
WWW%@@?WW each point
A Trelt THI o S et T rEet g W Eres A ot
1. AR aRiETe we SATERT e THRI e HE ST T maximum
6 1. TR FoTehl T TR et T diehl Behet T SeaT T W= 21marks
N ) SeTE Sy AN S mark for
ﬁ%ﬁﬁaﬁq 2 S each point
+ S BICATSSIHETE T2 E GPHTSAATTS HAdIqed ST ol 3oef a3
TieTeR! TTGERAT ¢ et aet e 3fTe® Tfia TR et Fiehieh! TTSeRHT
e R smeres 7 3 daT stveged! e wd sifteE S 8 !
7. ot e
T AT 3T HThIRT JBhiche T hiehihl SAUST gl TTelohl QAT A1 FoITT T
ETATE%dTE G YIhiohe T W%‘s’@ﬁﬂgﬁ&ﬁ?wﬁqwq%w STE 1
USRI BT | T TGHT o7 T 372 TS ST AGHT
% AT AT TR STEL T AT e 1
8 g HAfdfte FENe, ATAEUER dUsHd Jig g, dRasHAT AraTd [we
ST foralTe® e, AT 1 T < U I T oo 3 U St e !
st (U) = Vdg
s (U) =2 %X 10Xx 1000 = 20,000N 1
9 foreenfia it dter = selemm (U) = 20,000N
afet ggme de = faeenfia ot e = 20,000N |
1000N + @ = 20,000N
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qUTEeh : WY

o ~

GHY 3 YUl

@re = 20,000N — 1000N = 19000N

10

T, TS [UUS HUGHT TEIh! ATISHAAT T TohTE ek TATS AT U dTaehi
TIHTOTATS forf3Tse aTa &I eqmaT W= =l SIEHT o TEd 9Te ST ST AGHT

11

fafiTee AT ermoT erareht Tt S1 somredtr J/K g°C g7 T oham

€L

=~

TET 3T Fehll TEcTdeh Aeplcdlehe] T HITCTSTEAT ST T doieh!
o | A A HHTT HarEatas TS g7 Hell AQAT a1 FE Ao I
AT

12

TUTe® Graph-I1 Graph-II

ht=eehl UREd(value of current) | = aRE TR | | TR aiEd STuent 29 |

ﬁﬁgﬁ YRTh! T (Types of current) AC DC

1+1

13

TRITUE Il T2l TaTiashIeTeh! g (big bang Theory) aﬁgﬁgﬂéﬁ
et

SIS FTeHAH T2 UTed - HEd il T FPITSIT et TRAT
F) e = Sheft ¥ &, Hieed Ufehe |
q) Jave W Es |
) STRIUSHI Herds=H (Big Crunch) 95 U3¢ forgT ufiord g

14

Tifezm (Na)

AIfSTH] TeHAT Tl W1 a2l §F T Al diael Hefge g1 3= |l
TEHEEHT Wl M TIE g e o T fire ST oieaT

15

ST SAToRASTeT SUEfITHT ohri-g e TIUSHT eTqehT UTSEaTs ToIeT g T et
TATIHH 2T FH ATTSHAAT TS T HISTecATs HTqeh! STFATESHT TR T
TFATATS Uftes Wi o1 Sfoasten! STaeefifaT shrdeg e TR Tt
HTSETCATS [oINST HEHT Wiet ATIshH W=l A ATIshHAT a1 STqeh! G13e%aTs
SITeRT STFATSSHT TIOT 7T THATATS AT W= el SIeT o o forey
I AGHT

ST HEHTSSAATS, HTqeh! STFATSSHT TRUT T HATRISTTET Sfcisha TS Tas
| el el HEWHISS LTSS SATFASTES T Ufes T i Wit eiamr

A
2M,S, + 3n0, - 2M,0,, +2nS0,

16

fEeTSI-eah SR W= TTeh! ST ATATEor H3fl © Wl ST

IS Sifefsh foreese g gaT JedTe dTTeRyT SgHUl gad R feateie foreese T
TaT FHATE AT FGHVT E65 AT AGHT

17
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T forgld STarier AT <R &1 9l cramT
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A @REsh! TEHT Tocdl TeAeh! HRUT Icq~ 8 TolTeITs Toedl Yol Hi-w A
ED IECLIN 1
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h =78.4m
formula
_1 .,
h = Egt 1
20 _ \/?h _ 2 X 78.4 _
or, t= |— = |— = 4sec
- g / 9.8
Lﬁ%ﬂl 2{drd gS"ll WH ANTehl GHIHAT & Hohvs WWWW GYhl HATITHT
ST ZTateht 4TS fHehTermT
t=4—-05—-0.5=3s
formula 1
1 1
h==gt?==%x98x3%=1441m
2 2
ST SHATETHT AT TEhl(FITTohT STTETHT FHRUT hiAT [oIThT) & A
T | o R ST A g v @ o o I+
387 Tarfohcaahct TTHCTTeh! JaTeh STTEToh! Hedshall T SINGRI dehl STRAI]
TTehcoh =g 3Tegl HISUSH! HEde! ZoRTEL Hehle T ceehl STSHT Tphietd
21 o1 ffereheTe et BT S SRRSO T U e o SHaHT o T 1
kc}
TeehT ST o
28T TeIfencHehet STRGT S TRehT HIHE TS HehTIoTUahT TIEe 3TTETehT ahil-l
YTHATER! SATETHT T TR STER TEa Wt ST a7 Jad sTaeh! S e 1
TSUSHEH FATEHHT G LTk TTcTsha
- Zn(s) + 2HCl(aq) = ZnCl, + H, T :
SToTt gt ST g TETRIE sk
2H, (g) + 0,(g) = 2H,0 1 :
qfeel ST feaRhT SIgeh TRRT THUHT © @il feashT SIEa™T s Ierlieh
22 AT SITCIT5RAT T o &Ihe STH G0 T STSSISH a7 LT SATATHT —ITH 1
- IS | T G
STET SRITTHT (SIS o ZohTe% ST TTUEhT B Teic] STEATHT ST3S et 1eh STRAaTTs
STAfsRaT T Gt &FThal TTH 570 T SR T3SISH 970 T 3ol SaTlTT #ITd aes | 1
= TEHT
3 NH;(g) + HCl(g) » NH,Cl(aq) 1
THIT T STS TATTRTCAT [ITerehl T I ITUT Hg ATHTeR0T T 1+1
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SET-1

HeT: %o qUligeh: WY

D ~

forser: forgm qer wfafy G 3 "0
sl YveE Afart B | All questions are compulsory.

©Us () (Section A)

E@E@EW | Multiple choice questions.

1. ARt 3R dieh fareheamT et favg © FI"TIB‘:@'F[I (Circle (©) the correct alternatives of the
following questions.)

a. Wﬁg@@;ﬁ%&m SATCRAT 497 9 | (Which of the following does NOT fall under digital
wellbeing?) (K)

i. A8 STRIIAT (Mental wellbeing) ii. TR STICT (Physical wellbeing)
iii. FTATISTR STRT (Social) iv.3ATfeleR STeaT (Economic wellbeing)

b. 213, BT T Y TR A HITHT IR Forvieh §1 AT @UE WUS T 8 SHIE ol HISAHAT T8 ?
(Animals whose body is divided into three parts — head, thorax, and abdomen — and have jointed
legs belong to which phylum?) (U)

i. tfferet (Annelida) ii. HieTe=hT (Mollusca)
iii. JATITaTST (Arthropoda) iv.faeteter (Coelenterata)

c. T3 foraTet ATEdforsh el IeATEH e Wi quTSet T Fef TST¥eh! foreart gt Wi e feied 78 2 (If a
plant produces a true fruit, to which division would you conclude it belongs?) (A)

i. STBTEET (Bryophyta) ii. Tl (Angiosperm)
iii. forreqst (Gymnosperm) iv.eiE®mEer (Pteridophyta)

d. TR HEY 5 WA ISt M 98 2 (Which of the following is a protected bird?) (U)
i = rferst (Cheer pheasant) ii. g¥%{ (Dove)

iii. 9T (Pigeon) iv. 31T (Crow)

e. w&rgﬁwaﬁaﬁgﬁaﬁww ﬁmmww% LIS 7 (If the distance
between two objects is doubled, what happens to the gravitational force between them?) (A)

1. a®_®|'(§¥§ | (will be doubled) ii. 3T & | (will be halved)
iii. T =g B | (will be one-fourth) v AR &S | (Four times)

f. T U TS SIS ATA-Hed BTa, I T AT ST & et shHST: Wy, W, TW; B ST et
TRl STEITCAT Tl 5h0 ‘gﬂ@ ? (An object is weighed using a spring balance in air, water, and
saltwater, and the readings are respectively W, W, and W;. Which is the correct order of weight
from lowest to highest?) (U)

1. W3<W<W, il. Wi<W,<W;
1il. Wo<W,<W; V. W3;<W <W,
g o SAThel SATH I8 R T +2.5 D BT U < T ST T8 | FEeHT STERHT Goteh! Hed o ks

fehTee |feh~s 2 (If a person uses glasses with a lens of +2.5 D power, which of the following
conclusions can be drawn?) (HA)

i. TS AT B T B T AR %lr_g"él'l'qm YT 21eT © | (The person has difficulty seeing
nearby objects, and the near point is farther than normal.)



ii. SUTS 13T & GHEAT & T AfSTohen! folg WIAT=Y =1 21@1 © | (The person has difficulty seeing
distant objects, and the near point is farther than normal.)

iii. SHATE 1§ AR~ GRS | (The person has difficulty identifying colors.)

iv. STATS 1T B4 TS § T AR %lr_g; U YT ANE B | (The person has difficulty seeing
distant objects, and the near point is closer than normal.)

o~ SITHIUS WWW@%@@ ? (What is meant by a closed universe?) (K)

i, 99 foar %;%Glﬁm | (A universe that keeps expanding forever.)

ii. foer §ﬁ T wferug 9 PIEWT-T \%ﬁl SIEHTUS | (A universe that expands to a limit and then starts
contracting.)

iii. STEATUSHT MR TAFT 33 THTH | (A universe with neither beginning nor end.)

iv. feer sremTUE | (A static (unchanging) universe.)

TSR foRTE%eT ST SITUSHT STCTIE®HT SR HIATHT hleATRTe STIVefig®sh! SNT TRt urs st
nﬁrsﬂgwéawmﬁgﬂwﬁgg@ ? (If you find that farmers are excessively using pesticides
on their crops, which of the following advice would you give them?) (HA)

i. ST Tt faem areft BT | (Choose crops that sell quickly in the market.)

ii. éﬁm«ﬁrt%&maﬁwmwnﬁ | (Promote organic farming and conduct farmer
awareness programs.)

iii. &Y T B ﬁ%wuﬁmﬁ | (Use cheap chemicals in large amounts.)

iv. WWWW@%&@ | (Do not interfere and let them continue as they are.)

T e o Tt SifshaTel Tohet foeerTom STdfshamerTs SMIS® 2 (Which of the following
chemical reaction represents a single displacement reaction?) (U)

1. NaOH + HCI — NaCl + H,O

ii. 2KCIO; = 2KCI + 30,

iii. Zn+ CuSO,; = ZnSO, + Cu

1v. H2 + C12 — 2HCI

©Us (W) (Section B)
T BT I AT IS | (Very short answer questions.)
TAR! TANTC FereaiTeh! TGHT I ST ForRrshl STEARIHT U3 SATTH =eh! ATH oiefer | (Write the
name of the dependent variable in the study on “Effect of fertilizer use on plant growth.”) (U)
T yarefe foo =ma wvafer uresherh! fm ieTeld | Write Pascal’s law related to pressure exerted
by liquids. (K)
T ATITehRTRT STTETTHT HeIH=T e HTEIH Rl a2 (Based on the given table, which is the most

dense medium?) (U)

e (Medium) | eRTSTeRT 1T (Velocity of light m/s)
X 2.00x10°
Y 2.25x10°
Z 2.19x10°




faguen ot IR qReeRTT W fortor T ot 90 7T | (Copy the

given diagram into your answer sheet and complete the ray ama Air

diagram.) (A)
ﬁgﬁﬁmgwﬁw W@H‘cﬁlﬁﬁ@:@'ﬁl (Write one function ’Cﬁ e 500
of the magnetic field in an electric motor.) (A)
= REIRCCI] Rl ‘5':§ “tforen afToT sfierent Ty SETSs 2 (What two physical quantities does
Hubble’s law show a relationship between?) (U)
TATHT ICTEH T JAHT Iedtied qrares 9 forggferar farferame sreve i | amment Seares mafs g
‘SI'FﬁWTEEﬁ‘OFITUT F B @WW@'@:@'&[I (In the copper production industry, the produced
copper is further refined using an electrochemical method. Why is copper refined again after
production? Write the answer in one sentence.) (HA)
HeATHeRT T3 WWWI (Write the name of one ore of iron.) (K)
fohT C, H, TS S IHTH &1 2 (Why is C4Hy g called butane?) (U)

Tue ()

T TEEh! DIl I (GTed |

3.

10.

s = u+%at2aﬁwsnﬁﬁaﬁwﬂ§%h{|m)

1
Perform unit wise analysis of the equation: S = U + > at?

T geIeT fomivare® wreged | (K)

(Write any two characteristics of a whale.)

SV e =Tl STeeraey Y € ek Fafeeren v o3 gdaier sifte cregeier | (HA)

(Mention any two roles that the study of the life cycle of a honeybee plays in agriculture and
biodiversity.)

HRTA.Y, TFe.u7.0 ffer 4 gafier %ok oieged | (U)

(Write any two difference between RNA and DNA.)

F TRITCTS el B TITg 1 WUohl © A [VF foer sherdt SuRift g wefes 2 51 g8 SlamT I8 UTfeid | (A)
(If a couple is having difficulty conceiving a child, how can the IVF method be useful? Explain in
two points.)

TTTTEeh! THE Tfee T ST B, f? 3 geeiier FRores dege | (U)

(Why is it important to identify a person's blood group? Write any two reasons.)

TISHT Ufeseall THa TR i, ST T STETeRT ST fhETe®en! STefl T8 e TTUh! © | TS
RTITHIEE e — “UfeelT T FHET G2 | Ioh THTeh! 10T T = (-ehTUTh! Teh/Th U Tl

(In recent times, crops in the village are being destroyed due to irregular rainfall, hailstorms, and

floods. The elderly people in the village say, “This kind of problem didn’t occur before.” Write one
cause and one solution to reduce this problem.) (A)

T o He{ehi o €17 Jealleh! STeIsaTH T Tocd JeRTeft=reh! Farel Tieged | (K)

(What is acceleration due to gravity? Write the relation between the radius of the Earth and

acceleration due to gravity.)



11. 35 orcifirert samse SRy farerers wicfior St s A gt i g7 2
(If a bullet touches an eagle flying at a height of two kilometers, what is the initial velocity of the
bullet?) (HA)

12. S50 hi TIHTIHICS shiwgeli=l GEailer ®ish Teged | (U)
Write any two differences between Direct Current (DC) and Alternating
Current (AC).

13. Feguet It o SRR €1 2 e hIC S TR 57, R (A)
(What type of transformer is shown? Why is its core laminated?)

14. F(Ca0) T ZoHT WTH! ToIhTAT 9 HTATHT qTHt TREAT fefst WTafshan 8 | (HA)

(A small amount of water is added to a beaker containing quicklime (CaQ), and a vigorous reaction

occur.)
a. 3th Eﬁmgﬂ%ﬁwﬁ% WW@'@-\@'F[I (Write the balanced chemical equation for this
reaction.)

b. 3l YehTeh! Tk Tfdfshar &1? (What type of chemical reaction is this?)

15. STOHT ! AT BTEg ST B1sgiade Ja(-OH) & foreerTd &t s Afiehsh! HtamTesh g oielt
FEH! Th JRNMT Seferd | (HA)
(Write the structural formula of the compound formed when three hydrogen atoms in propane are
replaced by hydroxyl groups (—OH). Also, mention one of its uses.)
16. e ETSUeh! TgHvTel TRISH TSI TETEeeeh! Ufe= T F6els e
T T3 3T Efe | (U)

(Identify one chemical produced by the pollution shown in the

diagram, and write one method to control it.)
@ug (¥) (Section D)

17. ot 3TEa T qeTehT Teeh! ST oeTerd | (A)

(Study the figure and answer the following questions.)

Analog Signal Media ‘{ Digital Signal

i) TTfr Sectfaa gfsiferent ST gﬁ ‘gl)ﬁ gé SEHRUIES @'@:@'&[ | (Write any two examples in which the
above technology is used.)

ii) TR T et Frfes é’@:@'{{l (Write the function of transmitter and receiver.)

18. BUSTTR! SANT forea a1 |1 THE SHTSHET Ui 7+ Giches W= qeeiTs U3 SeTevidied Ufeetl T argl serehl
I1E 5T fhTerg sk T fersfues SREIGE Hﬁﬁé’@ﬁ'&[l (Mendel's experiments can be applied not

only to plants but also to animals. [llustrate this fact with an example, and draw the chart for the

first (F41) and second (F3) generations, including the phenotypic and genotypic ratios.) (HA)

19. dcTeh! ATfeTehT ST THY TITRUhT J¥eseh! ST é’@\!@'&[l (Study the table below and answer the
given questions.) (U)
TR TR 3T (Shape) fdta@ | a1 313 (Formed at)

(Type of blood cell) (Nucleus)
A ATghh (Biconcave) @ET (no) CIER=IC] (Bone marrow)




B AT (Irregular) T (yes) I BRI T v (Bone

marrow and lymph)

C el T Eﬂg?ﬁ (Round & §év3f (no) EIER=IEN (Bone marrow)
spherical)

C.
d.

A ﬁ:rmé@@m (Write the name of A.)

B ! G TIGHT AT Sl é]%@iﬂ Rl T ATS? (If the number of B increases excessively in
the blood, which disease may occur?)

C @l e e F A (Write the main function of A.)

AT ﬁlﬂﬁg@" (What is the age of A.)

20. a. T3 forgfer fopget T Uah! 100° C dTIshweh 6 kg TTHIATS 20° C AT9sRHeRT 20 kg THIAT fHETSaT
AT~ qTIhH i BIAT? ﬁzﬁlﬂﬁ'{{l (When 6 kg of water at 100°C in an electric kettle is mixed
with 20 kg of water at 20° C, what will be the final temperature? Calculate it.) (HA)

b. T 0°C 2Ra 10° C @ qaTaT BcemT SR TREReTs W@TTesHT S@TSTerd | (Show the
change in density of water from 0°C to 10°C in the form of a graph.) (HA)

ﬁ@\@'{{l (Complete the given diagram and write two

21. feguent fert @ T I S SATeRfh! A foraiares /\
| T | : ]

characteristics of the resulting structure.) (A) o v \/ : 2F

22. feguent fcrent STeare TR TAITEHT TRAEERT 3T THETRI,

| (Study the given table and answer the following questions.) (U) Li

a.

fagueh deae® UfETS ATfcrehtent - JuHT wedd ? Na
(In which group of the periodic table do the given elements belong?) K
A K T Feiarg e fo=me e |

(Write the electronic configuration of element K.)

T T HTISTE TARR SHeT qeaiehl HfhTHT o HTh U8, foh?

(What change is seen in the reactivity of the elements as we move from top to bottom in this
group? Why?)

23. TATTRITETH SEASTETAATES TTe sTS farfeeht AT fend fom TS et 35 3 ST TATe® Sreger |

(Draw a labeled diagram of the method used to prepare carbon dioxide gas in the laboratory, and

write any two uses of it.) (A)

The End



Answer key

SET-1

Subject : Science and Technology Class:1
Section A

1. a.iv. Economic Wellbeing 1 mark

b. iii. Arthropoda 1 mark

c. ii. Angiosperm 1 mark

d. i. Cheer Pheasant 1 mark

e. iii. Becomes one fourth 1 mark

f.iW3<W2<WI 1 mark

g. i.He has problem in near vision and near point is farther than normal range. 1 mark

h. ii. A universe that expands to a limit and then starts contracting 1 mark

1. ii. To conduct farmer awareness program about organic farming 1 mark

j. iil. Zn + CuSO4 — ZnSO4 + Cu 1 mark
Section B

2. a. Plant growth (Dependent variable) 1 mark

b. Altitude affects temperature 1 mark

¢. X (Most dense medium, since lower velocity = higher density) 1 mark

d. Complete the ray diagram (No key; requires drawing) Imark

e. To produce rotational motion 1 mark

f. Velocity and Distance or (V = Hj d) 1 mark

g. To remove impurities from extracted copper 1 mark

h. Hematite (Fe;O3) 1 mark

i. Because it contains 4 carbon atoms (but-) and is an alkane (-ane) 1 mark
Section C

3. Dimensional Analysisof s = u + (1/2)at?:
LHS: [s] = [m] RHS: [u] = [ms™], [a] = [ms2], [t*] = [s?] 1 mark
So [u]+[at?] = [ms!]+[ms2][s?] = [ms']+[m] Thus, Dimensionally incorrect 1 mark
4. Two differences between fish and whale:

a. Fish are cold-blooded; whales are warm-blooded.

b. Fish breathe through gills; whales breathe through lungs.
Or any other correct answers 1 mark for each item

5. Roles of honeybee life cycle in agriculture and biodiversity:



a. Helps in pollination which increases crop yield.

b. Maintains biodiversity by pollinating various plant species.

Or any other correct answers 1 mark for each item

6. Two differences between RNA and DNA:
a. RNA is single-stranded; DNA is double-stranded.

b. RNA contains uracil; DNA contains thymine.
Or any other correct answers 1 mark for each item

7. Two points on usefulness of IVF:

a. IVF helps in fertilizing egg outside the body when natural fertilization is not
possible.

b. It can bypass blocked fallopian tubes or low sperm count problems.
Or any other correct answers 1 mark for each item
8. Two reasons to identify blood group:
a. For safe blood transfusion.
b. To prevent complications during pregnancy (Rh factor issues).
Or any other correct answers 1 mark for each item
9. One cause and one solution of crop damage due to weather:
a. Cause: Climate change.
b. Solution: Promote climate-resilient farming techniques or crop insurance.
Or any other correct answers 1 mark for each item

10. Acceleration due to gravity & relation with Earth's radius:

a. Definition: Acceleration of a freely falling object due to Earth's gravity. 1 mark

b. Relation: g = (;—Azl 1 mark

11. Initial velocity of bullet hitting eagle at 2 km height:

v? = u? — 2gh, Final velocity =0 m/s



02 =u?—-2x10x 2000 1 mark
u=6325m/s 1 mark
12. Two differences between DC and AC:

« DC flows in one direction; AC changes direction periodically. 1 mark

o DC isused in batteries; AC is used in household supply. 1 mark
Or any other correct answers 1 mark for each item

13. Transformer Type:

e Step-up transformer 1 mark
o Core is laminated to reduce eddy current losses. 1 mark
14.
a. CaO + H,O — Ca(OH), 1 mark
b. Exothermic or combination reaction 1 mark

15. Structural formula:

H H H
H C|‘ é é H 1 mark
OH OH OH
(Glycerol)
Use: Used in making cosmetics and medicines. 1 mark

Or any other correct answers 1 mark for each item

16.

e Chemical: Sulfur dioxide (SO.), #= drmare (CO), =wA erammre (CO,), Fimwrsq (CFCs) Or
any other correct answer 1 mark

Control: Use of scrubbers or catalytic converters in industries, Plantation around industrial
areas, Use of clean and sustainable technology, Reuse and recycling of materials, Awareness
and training programs for workers and industry owners or any one suitable answer 1 mark

Section D

17.
i) any two examples

e Mobile communication

e Television broadcasting



¢ Radio communication 2 marks for any two examples.

ii) Functions of transmitter and receiver:

e  Transmitter: Converts the information (sound/image/data) into signals and transmits them via
electromagnetic waves. 1 marks

e Receiver: Receives the transmitted signal and converts it back into the original information.

1 marks
18. Mendel’s experiment applied to animals — eg. Guinea pig
¢ Dominant trait (R): Black
e Recessive trait (r): White
T

gamets

gamets

crossing
crossing

e Genotypic Ratio: | RR: 2 Rr: I 1r
¢ Phenotypic Ratio: 3 Black : 1 White
7/ Chart and correct ratios must be shown clearly. For full chart: 2 marks

For genotypic and phenotypic ratio: 1+1 =2 marks

19. Study the table and answer the questions

Answer Marks
A=RBC 1
If B increases excessively: Leukemia (blood cancer) 1
Main function of C: Blood clotting (Platelets) 1

Life span of A (RBC): Approximately 120 days 1



20. 6(100-T) = 20(T—20)

1 mark

Final Temperature = 38.5°C 1 mark
For correct graph 2 marks
21. For complete ray diagram 2 marks _
Resulting Image Characteristics: = 7\5*1
® Real and inverted 1 mark : X
® Larger than the object (magnified) 1 mark
or any other correct answer 1 mark for each
22. a. Group 1A (Alkali Metals) 1 mark
b. K (Potassium) =2, 8, 8, 1 or 152, 2522p6, 352 3p6, 45t 1 mark

c. Reactivity increases from top to bottom because outer electron is more easily lost due to

increased atomic size and weaker attraction from the nucleus

23. Labeled diagram for preparation of carbon dioxide

¢ Y Dil_He

Oil. HCl ).;:'_' CIITTII
Marble chips —=2
Fig: Laboratory preparation of GO, gas

—= GO, gas

Chemical Reaction:
CaCO3 + 2HCI — CaCly + CO3 + HR0
Any Two Uses of CO3:

® Used in carbonated drinks

® Used in fire extinguishers

Or any other correct answers

2 marks

2 marks

1 mark

1 mark

1 mark for each correct item



Subject—Science

Model Question
WUS (h) (Section A)

TEaB AP UHES | Multiple choice questions.  10x1=10
1,90PT UYD! f&P IRAT il faeg TSI | (Circle the

correct alternative of the following questions)
(a)1GB T i T §13C G5 ?
How many Megabyte are there in 1 Gigabyte ?
(i) 512 MB (i)1024MB
(i) 2048MB (iv)3072MB

(b), T I3 g NI I BiaT IRITHT SRSHT TSI
& gl ?Why Moss and Fern both found in moist and
shady place ?

(i) TBTRT TRAYOTH! Tl TRS TpT=T AR |
Do not need sunlight for phptosynthesis.
(if) P H dTUYhHHAT HIF dld T |
Survive at low temperature.
(iff) OYSUTSRT QAT Y&H ShadT 4R Ue |
Depend on microorganism for nutrition.
(iv) THTYTTSRT T T =fe |
Why mosses and ferns both found in moist and shady
places ?
()[R Iy faUTSehT At et 48 $+ UATE foh
© ? Which of the following Statement correct for
meiosis cell division ?

(i) T P fAUTSH ThUcHHT g3l ST §6 |

Two cell are formed at the time of cell division.

(ii) T DI fAHTSAT eSS IV T |
Diploid cells are formed at the end of cell division.
(iii) T PIY YT TS IV § |
It has the main role to form gametes.
(iv) a’rmﬁumﬁmg:rﬁnfwmﬁ I
This cell division helps to repair tissue.
(d) B et T feSufes urees A
I ST ANAT qeTehT T & B HiET YIB! Y 2

A person feels tired after walking in short time, Which of the
following is deficient in this body ?

(i) RBC (ii) WBC

(iii) Platelets (iv) Plasma

() TAPT U F RITTHT JUIRH! did HIYF TTe] GoH<T HH 53 ?
At which of the following place do you weigh the least ?

(i) WW?\E@ | Peak of Mt. Everest.
(i) SITUTh! HaHad | Kechankawal of Jhapa.
(iii) 310 fg9reT | Mt. Api.
(iv) I=IRRY fgH1d | Chandragiri Himal.
(f) GATAT 980 N TIe HUD! HIHh! I-HTH g aid Bid §76 ?
(EASHTD] T UdT=1.63m/s)
What will be the weight of a man on the moon, If his weight
on the earth is 980N.(Acceleration due to gravity of the
moon=1.63m/s>.
(i)1.6N (i) 16 N

(iii) 163 N (iv) 1630 N

(g) Fr=HT CETSUD! SRl SMRATh! HHGIRI fb1 § 2 Why does
the effect of vision occur in the given figure ?

()T A B HUT g1 Bl Ia= |




Eyeball is short, the focal length is short, night blindness.
(i) TSI BIC, B I-%HRUT Gl B, AHGE |

Eyeball is short, the focal length is short, shortsighted.
(iii) TS ATHI, b hRUT gXI BIe!, THMIR [HRUES 3MacH

gfes e srmat Afes |

Eyeball is, the long, focal length is short, parallel rays meet

A

(h) SFRIR®! I H 81 ?
Which of the following is transformer formula ?
N _ Ns Vs _ Ns
W Ve  Ng (i) Ny W
Vs _ Np Vs _ W
(i) v, = (iv) N, N,
(i) T feu®! deadh! Sgodl $ 81 ?
Which is the valency of given element ?
1s2,2522p6,3s°sp°
(i) 1 (ii) 2 (iii) 5 (iv) 7

() T U3 HYF I ggdcl db [agud! S ?
A statement and two arguments are given below.

Y- FTATGR UM Yt S [IuTet u3er fawdie! UeR & |

Statement: Insecticide collecting in the environment is a type of

insecticide.

da ¢ fawife araraxom fs e g |

(Argument 1: Insecticides not degrading quickly in the
environment)

deh R: BTAT R UTiieh! Jreh U foa &g g¢ o |

(Argument X: Degrading gradually when it comes in contact

with air and water)

() HYTI qDH R ﬂ'%?ﬂﬁ* R TIcdd I(Statement and argument 2

are correct but argument 1 is incorrect)

(i) PYAX R RIdA d} ddb i |(Statement and argument 2

are incorrect but argument 1 is correct)

(iii) PYA X 'g'ﬁ GCa ﬂ'% ©I(Statement and both argument are
correct)

(iv) hYd X zga db TTad &I(Statement and both argument are
incorrect)

WUS (W) (Section B)
2. 3ifd Biel I 3181 UYTS I(Very short answer type

questions) 9x1=9

(a) TeToTea TURAT FfC HH g7 T3 HRUT TReTa Ny |(Write any
one reason for fewer error in digital communication.)

(b) SedTTT YT & B ? (What is upthrust ?)

() T ST safardal UTa STt T THadT Idl @ S S d]
SUYdd HIRU aiejs\li-l\ | (A person usually wear white clothes
during summer seasons, write an appropriate reason for it.)

(d) BTATHT YT BT 30° § I UHHT SHTafcid HIor 220§ |
TS SIS (R0l XTI S8 I8 | (Draw a ray

diagram to show that when angle of incidence in the air is

30° and the angle of refraction in water is 22°.)

(e) SERIHTHT fAaRUT g1 A.C.3! 31Mgfd 60 Hz 6 YD T & §
& Bl ? (The frequency of A.C. in America is 60 Hz,What
does it mean ?)

(f) G I I SEATUSH] ST T THAD] = W3 UTh
@ﬂ'{ﬂﬂ | (Draw a graph showing radius of Universe and




() TP fCHT ek SFARIAT U U1 T+ &1 2
(Which metal is found in pure state in nature ?)
(h) TR wigaTs A g O uiAws fae 2
(Methane gas is also called marsh gas, why ?)
(i) SUTHT XgH! T3CT BIRSISHD! BISHT U3 TSNS S T8
U] F DD D] TS G Ao |
(Write the structural formula of the compound formed by
the displacement of one hydrogen atom by hydroxide
group.)
WUs (M) (Section C)

DIl ST 313 UYET |(Short answer type questions)
14x2=28
3. AR g= 23 AT UboUdl ol B+ HiH Silel T+ TehreTrd
WWUTE@"TT@H |(Use unit wise analysis to check if the

question g= —I:' is either homogeneous or not.)

4. wﬁm‘cﬁaﬁaa@ﬁﬁw ey |
(Write any two main characteristics of class Mammalia.)
5. TRIGSH] A o & T8 Hed 2
(Which group belong to bird ?)

SdaR(Aquatic) | T sl Bd O
WHIID(Viviparous) | (Oviparous)

vicTd}(Aquatic) A B

?-I'[%‘I?J(Terrestrlal D

6. M ARY I HHT ARY fod 1 R sﬁ?ﬁﬁé@aﬂ |
(Write any two difference between queen bee and worker bee.)
7. Tl X Ydl Xg D! GUIEIC SIS Ja-H1 Uigdl SeHT ¢ama-
AfaoT ACgRT GES e |
(Draw a chart to show the result obtained in first generation of
the offspring of a mouse having black colour and white colour.)
8. STAIaTg URacderT SRUTC AaTeHT g &R fawar &y g e

B | I [IBaThT TREUHT TUTSH! YoITd Ao |
(Many plants are being extinct in Nepal due to climate change.
Write any two roles, you can play to protect such plants.)
9. BT SIS THWT THIYM T H gadel IUFe Ao
(Write any two solution Of the Problem shown in figure.)

10. O fafeTa1 g7 F gaacT SITRIES dBle N |
(Write any two condition of weightlessness.)
11. T HIHTA ATae e ars guHT IReal ad! ARA!
SUSIH! U X gUf ST | g9aTe & Fpd T Ifers 2

(When a person puts a lactometer in to the milk, whole parts
Of the narrow stem sinks in to the milk. What conclusion can
be drawn from this events.)

12. lizu®! femre! wganTare 9 use! IR aeie |

(Study the given diagram and answer the following.)

PRI
&2
()T 1 RIEGTaPh! TINT USB DI S ?
(Which principal is being tested)
(iafe grdd! i Afdbar 1A FHed fes, fd 2
(If the motion of magnet is stopped, deflection will be
stopped, why ?)

13. THAD! FRRRTEP! A 73km/s/mpc B HIH! 3 H g1 2
(What is meant by the value of Hubble’s constant is
73km/s/mc.)

14. 31f TpT 41ge® I S1fa ThT SRS D! TRHTI! BRI




fafrgee! afdadl fog Traw Uy gy |
(Clarify the relationship between the size of atoms of very

active metals and very active non metals with their
relationship.)

15. T3l ! It War1 @l | Jad 3Nt fa Afer ufes Weear
T G+ TRIGCH STEH, {2
(A gold ring was lost in field. When the ring was found after
three months, it was found no change in its weight, why ?)

16. AUTED! JaTc] MG IGI3Teh! il WATRITT AT

HETET IS Jd T 483 | I9! FANTETe U+ ggdcl
APRTHD ARSI FATTs JIAIIE N |

(Your father use excessive chemical fertilizer to increase

productivity. Mention any two negative effect of using chemical
fertilizer.)

WUS (Y) (Section D)

ATHT IR 3181 UYEe I(Long answer type questions)
7x4=28
17. Mr Z B! BagHHT Tahdl Wl © | 31%dTs fUsT TH I

STFPR feuft 7 I T T 78 aR 3ifgS O Aahelt @I
Mr Z 3 81 42 UTgT 4T |

(Mr Z has a fake account on Facebook. How uses it to follow

other and makes hurtful comments. But the friends now
knew it its him.)

(i) ST AR YR & Tfed TRB! & 2 I & U] ?

(What wrong did he do as a netizen ? what should he have done
instead ?)

(i) S ITA T TS UIST YR T & T+ Tl ?
(What can he do to improve his online reputation now)
8. T3Cl WRIARHAT gaorl BRIgS HE &+ | & Iad URIaRAT

ST YehfdhedT Y SHIHSH IdTe go ? fag Feufor ard
ied SaReAT T |

(A family has only two daughter. Does it mean that the
husband does not produce sperm with Y chromosome ?
Explain with sex determine chart.)

19. 3 G §IHT T & HRUI I JHGEIC §¢ F gs IUTIES
TR |

(Write any two cause and two preventive measure of high
blood pressure.)

20. P! ATHHT GERTD| UMHIDT STATA I ATIHHD] THI=
Y TRI delD] UHeh! IR fSge Iy |
(Study the relationship between volume and temperature of

water shown in the given graph and answer the following
questions.)

() ITHHT /TS UH U] faRIY T[Urars & HiAS ?

(What is the special property of water shown in the given
graph called ?)

(i) TUT 3T RAD! Heal HIR] T & ?

(How does the property of water shown in the graph differ
from other liquid ?)

(i) TP H Uh BI3al Ao |
(Write any one advantage of it)
21. dcm HIEHROT GRI HUD! HUG A~THT SIS 6cm I GRIAT
IReET 9 Mp ! fpur Y@ R g3 faRvdes dega |
(An object is placed 6¢cm from convex lens having 4cm focal

length. Draw the ray diagram to show the image of object
form by the lens and write two character of image.)




22.fegus! ImfE ISR THR A Tgferd e |

(Write the type of given chemical equation and balance
them)
(i) N2 +H2 —NH3

(i) KCIO3— KCl +02

23. TRANTRIQATH] HIESISHRIRS TN F 13 HaRID I +eh
AR Afed W1 fol SIS $A ggdeT HITe! 1 aReja Yy |
(Draw a diagram for the preparation of Carbon dioxide gas

with required chemical equation and label its any two parts)




SET-1

HeT: %o qUligeh: WY

D ~

forser: forgm qer wfafy G 3 "0
sl YveE Afart B | All questions are compulsory.

©Us () (Section A)

Sgeihiee 8% | Multiple choice questions.

1.

TR T3 3k Tersheumt Miell fag © FI"TIB‘:@'F[I (Circle (©) the correct alternatives of the
following questions.)

A feguent wea 1 fefSreet sTRimraT 31 9&H | (Which of the following does NOT fall under digital
wellbeing?) (K)

i. A8 STRIIAT (Mental wellbeing) ii. TR STICT (Physical wellbeing)

iii. FTATISTR STRT (Social) iv.3ATfeleR STeaT (Economic wellbeing)
TSI, BT TUE TR A1 AITHT IR 97 B T WIS WIS GgT 8 SHTE Ff BISTHA 06 2
(Animals whose body is divided into three parts — head, thorax, and abdomen — and have jointed
legs belong to which phylum?) (U)

i. tfferet (Annelida) ii. HieTe=hT (Mollusca)
iii. JATITaTST (Arthropoda) iv.faeteter (Coelenterata)
T3 Tt AT foreh el SCATe 716 W qUTsel il 3T fefsTent forealt 1 9 ke fehted 879 2 (If a

plant produces a true fruit, to which division would you conclude it belongs?) (A)

i. STBTEET (Bryophyta) ii. Tl (Angiosperm)
iii. forreqst (Gymnosperm) iv.eiE®mEer (Pteridophyta)
TR el I WUETd UBT fi 9% 2 (Which of the following is a protected bird?) (U)
i = rferst (Cheer pheasant) ii. g¥%{ (Dove)

iii. 9T (Pigeon) iv. 31T (Crow)

w&rgﬁwaﬁaﬁgﬁaﬁww ﬁmmww% LIS 7 (If the distance
between two objects is doubled, what happens to the gravitational force between them?) (A)

i. 3SR &9 | (Doubled) ii. ST E | (Halved)

iii. TR =g 8 | (One-fourth) v AR ES | (Four times)

Tl T3 SReATS RIS STt BTE, AT T AT STeat g4 diet s60sT: Wy, W, TW; B WE sigal
TRl STEITCAT Tl 5h0 ‘gﬂ@ ? (An object is weighed using a spring balance in air, water, and
saltwater, and the readings are respectively W, W, and W;. Which is the correct order of weight
from lowest to highest?) (U)

1. W3<W<W, il. Wi<W,<W;

1il. Wo<W,<W; V. W3;<W <W,

T kel ATFT 38 GUR T +2.5 D WA ! <IEHT ST Te | FEehT STUTCHT qerehl 7edl e Freard
fehTee |feh~s 2 (If a person uses glasses with a lens of +2.5 D power, which of the following
conclusions can be drawn?) (HA)

i. TS AT B T B T AR %lr_g’ HHATT <1 2Tl B | (The person has difficulty seeing
nearby objects, and the near point is farther than normal.)




ii. SUTS 13T & GHEAT & T AfSTohen! folg WIAT=Y =1 21@1 © | (The person has difficulty seeing
distant objects, and the near point is farther than normal.)

iii. SHATE 1§ AR~ GRS | (The person has difficulty identifying colors.)

iv. STATS 1T B4 TS § T AR %lr_g; U YT ANE B | (The person has difficulty seeing
distant objects, and the near point is closer than normal.)

o~ SITHIUS WWW@%@@ ? (What is meant by a closed universe?) (K)

i, 99 foar %;%Glﬁm | (A universe that keeps expanding forever.)

ii. foer §ﬁ T wferug 9 PIEWT-T \%ﬁl SIEHTUS | (A universe that expands to a limit and then starts
contracting.)

iii. STEATUSHT MR TAFT 33 THTH | (A universe with neither beginning nor end.)

iv. feer sremTUE | (A static (unchanging) universe.)

TSR foRTE%eT ST SITUSHT STCTIE®HT SR HIATHT hleATRTe STIVefig®sh! SNT TRt urs st
nﬁrsﬂgwéawmﬁgﬂwﬁgg@ ? (If you find that farmers are excessively using pesticides
on their crops, which of the following advice would you give them?) (U)

i. ST Tt faem areft BT | (Choose crops that sell quickly in the market.)

ii. éﬁm«ﬁrt%&maﬁwmwnﬁ | (Promote organic farming and conduct farmer
awareness programs.)

iii. &Y T B ﬁ%wuﬁmﬁ | (Use cheap chemicals in large amounts.)

iv. WWWW@%&@ | (Do not interfere and let them continue as they are.)

T e o Tt SifshaTel Tohet foreerTom STdfshamerTs SMIS® 2 (Which of the following
chemical reaction represents a single displacement reaction?) (HA)

1. NaOH + HCI — NaCl + H,O

ii. 2KCIO; = 2KCI + 30,

iii. Zn+ CuSO,; = ZnSO, + Cu

1v. H2 + C12 — 2HCI

©Us (W) (Section B)
T BT I AT IS | (Very short answer questions.)
TAR! TANTC FereaiTeh! TGHT I ST ForRrshl STEARIHT U3 SATTH =eh! ATH oiefer | (Write the
name of the dependent variable in the study on “Effect of fertilizer use on plant growth.”) (U)
T qaTeet foo =T weaf-e ureshereh! T el | Write Pascal’s law related to pressure exerted
by liquids. (K)
T ATITehRTRT STTETTHT HeIH=T e HTEIH Rl a2 (Based on the given table, which is the most

dense medium?) (U)

e (Medium) | eRTSTeRT 1T (Velocity of light m/s)
X 2.00x10°
Y 2.25x10°
Z 2.19x10°




fagueh et IR qReRTT wRE fortor T ot 90 7T | (Copy the

given diagram into your answer sheet and complete the ray ama Air

diagram.) (A)
ﬁgﬁﬁmgwﬁw W@H‘cﬁlﬁﬁ@:@'ﬁl (Write one function ’Cﬁ e 500
of the magnetic field in an electric motor.) (A)
= REIRCCI] Rl ‘5':§ “tforen afToT sfierent Ty SETSs 2 (What two physical quantities does
Hubble’s law show a relationship between?) (U)
TATHT ICTEH T JAHT Iedtied qrares 9 forggferar farferame sreve i | amment Seares mafs g
‘SI'FﬁWTEEﬁ‘OFITUT F B @WW@'@:@'&[I (In the copper production industry, the produced
copper is further refined using an electrochemical method. Why is copper refined again after
production? Write the answer in one sentence.) (HA)
HeATHeRT T3 WWWI (Write the name of one ore of iron.) (K)
fohT C, H,, TS o S 9T 81 2 (Why is C4Hy g called butane?) (U)

Tue ()

T TEEh! DIl I feTed |

3.

10.

s = u+%at2aﬁwsnﬁ%ﬁwﬂ§%h{|m)

1
Perform dimensional analysis of the equation: S = U + > at?

TS T e 3531l H aeged | (K)

(Write any two differences between a fish and a whale.)

oY S TRt STeTTe! i € e T 9T 3 qdatter i et | (HA)

(Mention any two roles that the study of the life cycle of a honeybee plays in agriculture and
biodiversity.)

HRTA.Y, TFe.u7.0 ffer 4 gafier %ok oieged | (U)

(Write any two difference between RNA and DNA.)

F TRITCTS el B TITg 1 WUohl © A [VF foer sherdt SuRift g wefes 2 51 g8 SlamT I8 UTfeid | (A)
(If a couple is having difficulty conceiving a child, how can the IVF method be useful? Explain in
two points.)

TTTTEeh! THE Tfee T ST B, f? 3 geeiier FRores dege | (U)

(Why is it important to identify a person's blood group? Write any two reasons.)

TISHT Ufeseall THa TR i, ST T STETeRT ST fhETe®en! STefl T8 e TTUh! © | TS
RTITHIEE e — “UfeelT T FHET G2 | Ioh THTeh! 10T T = (-ehTUTh! Teh/Th U Tl

(In recent times, crops in the village are being destroyed due to irregular rainfall, hailstorms, and

floods. The elderly people in the village say, “This kind of problem didn’t occur before.” Write one
cause and one solution to reduce this problem.) (A)

T o He{ehi o €17 Jealleh! STeIsaTH T Tocd JeRTeft=reh! Farel Tieged | (K)

(What is acceleration due to gravity? Write the relation between the radius of the Earth and

acceleration due to gravity.)



11. g3 Tepetifeteht S=TgHT SfStesh! foieTetTs Tietlct BRI ¥ Tiefishl Geehl Tid id g ? (If a bullet
touches an eagle flying at a height of two kilometers, what is the initial velocity of the bullet?)

12. STEEE hiE T ATHANLE HlrZele GEAI Hleh e | (U)
Write any two differences between Direct Current (DC) and Alternating
Current (AC).

13. frgUeht ZT=ereRait T SRRl &1 2 T0eh! ShiR S TR 57, o2 (A)
(What type of transformer is shown? Why is its core laminated?)

14. F(Ca0) T ZohT VTSI Torahaa oI w1 art Teat forst wfafsran g7 | (HA)

(A small amount of water is added to a beaker containing quicklime (CaQ), and a vigorous reaction

occur.)
a. I UfcfshaATehT Hr—c\lj'%lﬁ e FHiRT @'@:@'@[ | (Write the balanced chemical equation for this
reaction.)

b. T Rl ehTeh! Tk Tfdfshar 817 (What type of chemical reaction is this?)

15. SO-HT TRt AT BISGISHTS SIS Ioee Ju(-OH) o fereo et s 2firehent TramTereh 6 et
FEH! T SR g | (HA)
(Write the structural formula of the compound formed when three hydrogen atoms in propane are
replaced by hydroxyl groups (—-OH). Also, mention one of its uses.)
16. TreaT @TSTehT TN TS TS THREEEeh! Tl TR FEeTs =t
T T3 3T AT | (A)

(Identify one chemical produced by the pollution shown in the

diagram, and write one method to control it.)
gvusg (¥) (Section D)

17. ot 3Tea T AeTehT Teeh! ST oieTerd | (A)

(Study the figure and answer the following questions.)

Analog Signal Media ‘{ Digital Signal

i) TTfr Sectfiaa gfsrierent ST gﬁ gﬁg‘sﬁ SEHREUIES @'@:@'&[ | (Write any two examples in which the
above technology is used.)

i) ‘Q.'FH'&IZ'(I fiferer wdew @I’@:@'{I (Write the function of transmitter and receiver.)

18. HUSTERT SR foReaTHT W1 THE SIS G T Hiche W= TeATs T3 IaTeUTHIed qieal T QI8 Semehl
1e 5T fTergues T fomersfues SREIE Hﬁﬁ@l’@:@'ﬁl (Mendel's experiments can be applied not

only to plants but also to animals. Illustrate this fact with an example, and draw the chart for the

first (F1) and second (F3) generations, including the phenotypic and genotypic ratios.) (HA)

19.  qetoh dTicTsht STEa T HIUehT Je%sh! 3T &l | (Study the table below and answer the
given questions.) (K)
TThHhITeRT T 3THR (Shape) fder® | 131 (Formed at)

(Type of blood cell) (Nucleus)
A ATghh (Biconcave) @ET (no) CIER=IC] (Bone marrow)




B AT (Irregular) T (yes) I BRI T v (Bone

marrow and lymph)

C el T Eﬂg?ﬁ (Round & §év3f (no) EIER=IE (Bone marrow)
spherical)

C.
d.

A ﬁ:rmé@@m (Write the name of A.)

B ! G TIGHT AT Sl é]%@iﬂ Rl T ATS? (If the number of B increases excessively in
the blood, which disease may occur?)

C @l e e F A (Write the main function of A.)

AT ﬁlﬂﬁg@" (What is the age of A.)

20. a. T3 forgfer fopget T Uah! 100° C dTIshweh 6 kg TTHIATS 20° C AT9sRHeRT 20 kg THIAT fHETSaT
AT~ qTIhH i BIAT? ﬁﬁﬁlﬂ%ﬁ'ﬁl (When 6 kg of water at 100°C in an electric kettle is mixed
with 20 kg of water at 20° C, what will be the final temperature? Calculate it.) (HA)

b. T 0°C 2Ra 10° C @ qaTaT BcemT SR TREReTs W@TTesHT S@TSTerd | (Show the
change in density of water from 0°C to 10°C in the form of a graph.) (HA)

ﬁ@\@'{{l (Complete the given diagram and write two

21. feguent fert @ T I S SATeRfh! A foraiares /\
| T | : ]

characteristics of the resulting structure.) (U) o v \/ : 2F

22. feguent fcrent STeare TR TAITEHT TRAEERT 3T THETRI,

| (Study the given table and answer the following questions.) (A) Li

a.

fagueh deae® UfETS ATfcrehtent - JuHT wedd ? K
(In which group of the periodic table do the given elements belong?) Na
A K T Feiarg e fo=me e |

(Write the electronic configuration of element K.)

T T HTISTE TARR SHeT qeaiehl HfhTHT o HTh U8, foh?

(What change is seen in the reactivity of the elements as we move from top to bottom in this
group? Why?)

23. TATTRITETHT SIS TTd 1S farfersht AT fend fom TS et 5 3 STRTaTe® Sege |

(Draw a labeled diagram of the method used to prepare carbon dioxide gas in the laboratory, and

write any two uses of it.) (U)
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(Answer the following questions on your own words.)

Group A (1x10=10)
9. 99 ¥-ar 399 faehea e T LAhTHT § \3 g | Choose the best alternative and

copy it on your answer sheet.

1.

11.

1il.

1v.

AT Well ST HTEA BHE F &1 2 Which of the following is audio file
format? [K]
F) SVL @) MP3. T) MP4 ) 3GP

TRYT STEITCHT U fege et SToITeh U3eT SHTar STt M | 3 e foh
G AR T 31 "iedeh! goal 16, FeelaR IR 3 AT Tost for |
T FM T Hig T | It STh! SHTR ARl o AT TGS 2 [A]

On roaming along the jungle, Mukesh saw an animal run away inside the

bush which has a long mouth with sharp teeth, dry and scaly body with a
long tail but without any pinna (external ears) and horns. In which class
does the animal seen by him belongs to?

%) 39T (Amphibia) @) 09T (Reptilia)

) 9&ft (Aves) o) THIRT (Mammalia)

STUfEEeR! AR i §aT deteh! WEll Ff ShIh! Y foTSH g 2 Which

of the following type of cell division occurs to body growth of an

@)
X N /® L {®% ./
9O dp  ©0,dd O do O,d
F) A v) B M C =)D
e U YRRl TR TSR © | I ThehiNehl

F aat feguanr aey Rl & 2 Given figure is the
figure of a kind of a blood cell. Which one among

organism? [U]

V1.

Vil.

the following is the function of the given blood
cell? [U]
) TO BIFAIFTS HITEEAT JfRASH T3S | It transports the oxygen
from lungs to cells.
) WWW@IWW | It destroys the pathogens
and protect us from disease.
) Ta Th 98 frerftor 7165 | It determines our blood group
) TG IS FANCYZHAT T ST HEd T T a=aTE S90S | It helps to clot

the blood on wounds and cuts and check the bleeding.

qR! AR AT T Seewah! fUvg T srdemees fauh o |
T fugnT ush ST amﬁamﬂaﬁeﬁaaﬁ@? Masses and radii of

four different astronomical bodies are given in following table. In which

astronomical body does an astronaut's weight be maximum? [U]

Mass = M
Mass = 2M Mass = 4M
Mass =6M
A B C D
F) A v) B M C o) D

TqAHT A oHe IR T @&l ® ? In which of the following contains
largest amount of thermal energy? [A]
<h) 0°C dmIshH TR SR ¢ o ToTet ferdt U1 weTe™T In 10 liters frozen
cold drinks having 0°C temperature.
) 10°C ATISHH YUY LRTehT JTEN foteX feret 9T In half liters of tap
water having 10°C temperature.
) QE%FEIT firema o= ara O Ina tea-cup of warm water.
) 300°C WWWWW In a burning match stick
with 300°C temperature.

GECER] AT AN & AT Seifrgan il dTeal THeT Tieh AT TRERieh
TTHA TSHT ZoT AP SR | TehTRTeh! Ff TohaTehl HIored J&l STTh!




&2 The tip of each transparent and flexible thread of the given decorative
electric lamp twinkles brightly when it is switch on . Which phenomenon
of light is responsible for this? [HA]

. JSRTITeh! T (Reflection of light)

. RIS SATad (Refraction of light)

. TehTITRT LTﬁ IR C A C (Total internal reflection of light )
. ehTeTeR! fomeRed (Dispersion of light)

0 o6 o W

Viil. ﬁ%\l:d ST % TTE® 2 What does Electric generator do? [K]
h) TG T IfReATS %!E\Iff TIRRAT TR TS | (It converts kinetic energy
into electric energy.)
) pLc) ﬁ'é\l)?f TIRREATS Tfer TTFRHT TR T (It converts electric energy
into kinetic energy.)
) Tt Tefifa wifherts %!E\Iﬁ FRFATEITR e (It converts potential into
electric energy.)

) TG O AHeATs ﬁﬁ\lﬁ TIRRHT TR e (It converts chemical

energy into electric energy.)

IX. ! IS ATCTeRTHT WUehT IEeT 3ictH-ee® 7ed d-block element - &1

| Among the four elements of the given periodic table, which one is d-
block element? [U]

Long form of Periodic Table

%) M ©)N MmO o) P
X.  3TTSTohel 6 IMTE%eh! SHRVT JE0T T Hif-reeent we fa ufd i agar &
ET S N | Human mortality rate due to non-communicable disease is
increasing day by day because ...................... [HA]
%) QAT AT T TEE e et T qErfen formdt s feT whafed aear @ |
(The use of Chemical fertilizer and insecticides on the crops is
increasing day by day.)
Q) WWWW@W%WG@@ | (The use of
synthetic preservatives in preserve food is increasing day by day.)
M) T frafa Stgh Be st | (We take junk food regularly.)
) TTH SfiarRiell NTefdehaTe. ST g Th ® | (our life style is
changing from natural to unnatural.)
RIGCARE ELT ) Wﬁg@'@[ | Answer the following questions.

a. A AT (V) i ThTE T2 (L), A9 (P) I TS ATHUS [T =19 (atm), TaTefeht
TieTeh! HE&AT (n) T TehTE AT (mol) T ATIHHHT THTS hiewd (K) U qeteh!
IR e HHERT TR I TE FE2aT= (R) 1 T3 * & 2 If
unit of pressure (P), volume (V), number of moles (n) and temperature (T) is
atmospheric pressure(atm), Liter (L), mole(mol) and kelvin (K) respectively
then derive the unit of universal gas constant (R) on the basis of given
universal gas equation? [U]

PV
T

b. feguet Aide® AT FROEE F HRAT A HH T o OR wE ufeer 3 Frew

= ? If Bee A is expired unfortunately then how does hive run as usual? [A]




fague géaa T T Teeqed T I B HIHA HeH D, fT 2 Between two blood

vessels given in the figure, only blood vessel B contain valves, why? [A]

inner layer

middle layel
outer layer

ClETN S Ca) WWT@E . State the Archimede's principle. [K]

e. U3 AT 9 U ® | Afe g grieRT ddske BeiT 9t a1 gere afy it

SR

HIMTFAT §7 A1 TR A Ik TATEHT WUeh! WTTshl ATT56H i B 2 There is

fully filled a glass of water. Water will be overflow from glass either on
increasing or on decreasing of temperature. What is the temperature of
water? [U]

g fereger e et € o s et 7 eoTd 3 77 2 How do

you determine the north pole and south pole of given electromagnet? [U]

FTE1h! T3eT G T1H I e | Mention the name of an ore of silver. [K]
faguant wTEMite FFaSehl [UPAC A0 &fei¥ | Write the [UPAC name

of the given organic compound. [U]

H

HS I
/C=C—C—H

H" W W

CH;CH,CH,0H T CH;OH T3¢ family T SHIANT g Hw U32T TR I
T@Eﬁ? | CH;CH,CH,OH and CH;0H are homology of same family. Justify
with a reason. [HA]

Group C (2x14=28)
ACTeRT T2TE6ehT 3T T | Answer the following questions.

fegUenT gEareT T o FeT feeret i S g uftcTehaeset quTs. o
forerarent feehTSaTS et FeNT 16 2 Fedshoh! U Uo SaTT 3eeid TT{erd | How
does these given two applications used for ICT help you to learning science?

Mention one points for each. [A]

ChatGPT 3 YouTube

Heh LA g ToRealTHT et %o | ool ST, U8, UTd, Fel Tohed §70 | A T Heh T
ﬁmwwwmﬁﬁaﬂmm@m Flowers are
bloom in both maize and mustard plants. They have roots, stem, leaves, flower
and fruits. But both plants belong to different classes. Mention any two points

to separate them in different classes. [K]

A AR Higcl ST el TETE USST SHTAR 9 | 3HATS S6 3th SHTaR |l
ST &Y 3eT THRT SHTERETS S6H/3TEITT TH Hobe a U B9 7 99 "T 1 A @
TR SR @ 1"
3, T I SHTHT o6 oh G3ae] FUIEE G Ith SHTER Tl WTehT Afeh T
? Last Saturday, Mohan saw an animal in the forest a little bit further away but
The animal ran away immediately after seeing him. As a result, he could not
observed the animal properly but he whispered himself "oh! it is a mammal."
Now, what two things may he noticed on the animal that made him to
conclude the animal was a mammal? [HA]
IAT IAT HiCeEHT AT FHAT AR St T FFeIg ATETIF T AR
WET&[H‘TI’&C%E ﬂﬁ??ﬁﬁﬁrﬁg@ ? iﬁg‘s‘iﬂ@'@\lﬁ'&f | What would you
say to motivate the farmers who commercially cultivate mustard in wide large

areas for commercial beekeeping also? Write any two points. [U]

fHRT HehTehT fTe TRt o4 o eaeaT af aa gt swuaht fores | Sefct gy
iceTESE Sieerane g deft ars uler 7 2l | rereht ST shreht hrshl g
farforeaeRentT ST s12T T SMMET BiEasiem fafieTe siehraT THemer s | ™
T SiHET T Fes A |

) SHTehIETE JFeTel sl ST |

) ST  hTehT STl ORI ¥ ShTehl SR T | ST shrehT T shTeht weat freepet

e oI |

3, % TG §Ih! Uh-Uh AT faqed | [A]




The neighboring uncle have not gotten any birth even though he had married
uncle and aunt went to the doctor for invitro fertilization and the aunt got
pregnant through this technique. But the following things happened when the
child was born.
A) Twins were born from the aunt.
B) Both children were neither as like the uncle nor the aunt. The children
are completely different than both of them.
Give appropriate reasons for arising the case A and B.
Tt R0¢2 AT 20 7Td CIN aTe TR TSI GarHT THTNG T3T Gaieh! shie 3731 F&dl o |

".oee. FITE £ o ToITCTERT T AT FeTe 2Tt | TSl ATerehiar Tt aRawent shreor 7 ok
it forg waeh il @ Al AISTT=s S TIges W aX IS  festient ot siforen(a fes wwa
AU | 79 ARG W | T ST HgTed! JreTed el T |

"2y o T o forerR e o SaversR fenteft dmer T swoe for 1 foee
A |

%) 2T o 1 STEL I 2

@) A IfecTRad 3T AT FEeh! TITCHT GRITH F 3Tohi T STEL 3ecid e |
A part of a news broadcast by CIN in Sajha Khabar on 10 Magh, 2081 was as
follows:

".....Even after the 10th of Magh, the Machhapuchhre mountain is still
seemed black. Yesterday it was little bit white, so I was very happy because
tomorrow we will see a white Machhapuchhre, but today even that little snow
from yesterday has melted. My heart was very sad." Mangali Maya who lives
in Pokhara said to CIN.

"Not only this year but also in previous years, there was less snowing
in the Himalayan regions of Nepal." Experts say
a) What is responsible for this effect mentioned above?
b) Besides the above-mentioned effect, mention any one other effect of it
faced in Nepal. [U]
ST 0 STRIA 2m’ HUHT T3 FHI3H! SR AT 1000 N B | AT Toeasron
10m/s* 9T Hish! &Fcd 1000K g/m’ WTEhT ATAHT H ST TSI shidl IS &F
T TFS ? A wooden boat having external volume 2m® has weight 1000 N. if

the value of acceleration due to gravity is 10 m/s* then how much maximum

q0.

9.

R

3.

load can the boat hold if it is floated on the lake having water with density
1000Kg/m*? | [HA]

Tl A TaIfRTE qTT IO &FHAT Weh! o &1 2 JWeh! S| TS Tiegerd | What do
you mean by specific heat capacity? Write its SI unit. [K]

FHH AHh] hrsio 0T g F T 31fteshed Ut O ol ToremT g Treat 3 &bl
AT et a7 2 Fortor Tafer R IETSTRI, | 3 STThf STamedfae STefd &
ot E{FQ T@Eﬁ?[ | Where does an image is formed when an object is placed
between focal point F and optical centre O of a convex lens ? Show with ray
diagram. Justify the image formed in this case is virtual. [A]

2T fered HIAaTE STH HLZoh! HT T feeroh UThes det fe3uenl & | 2ft TTheseht
HTYWHT qAH! CAAHT WA SSe® Hel dhiel We™ | Graphs obtained by

plotting the value of current against time of two different source of electricity

are given in the figure. Fill in the blanks of the following table on the basis of
these two graphs. [A]

current current
3
4A -
/\ ’
N »
U Time [ Time

Graph-1 Graph-Il

TToTE® Graph-I
el TiEd-(value of current)
ﬁﬂ\l;cr RTRI T (Types of current)

Graph-II

Tgfor geaaTel TRITSTE® U SThiaTE AT 2T8T 53 TTSiaehl © W Il oI, | F8et
aE w5 frgraens qfte 1w 2 e A et greet AR
;ﬁ Th A EGuic) T@'E?RT | Edwin Hubble found that galaxies are separated
from each other continuously. Which theory about universe does this
phenomenon verify? Mention any one prediction of scientist about expansion
of universe. [U]



9%.

9.

%

q0.

ﬂ@i’%ﬁﬂziﬂiﬁ ? @WWW&W | Among the elements in the
given part of the periodic table, which element has the largest atomic size? Give
a suitable reason for this. [HA]

Group—>
period »Jr
Period 2 Li| Be | B C N (0] F Ne

Period 3 Na | Mg | Al Si |p S Cl | Ar

IA | IA | IIIA | IVA | VA | VIA | VIIA| O

TUftee T FRATEAETHT T HF AETRI | TR FHIFS TSNS HA(FISTES T
Tftes e SIERIEEN 9, TR 2 What is the difference between roasting and
calcination process? Roasting process is used for oxidation of metal sulphide
ore, why? [HA]

| T fSesi=e g Whrgeh! AT ST TR ToTEee g | o ai | T feesi=e 7
OIS AT T SRART 7T ATrarer 851 75 2 ST ST deh T e | Both
soap and detergent are used as cleaning agent. But which one is more eco-

friendly for use? Give your logical views. [A]

Group D (4x7=28)
TR T¥TE%ehT IR TSTE |
TS ATl qReh! forea STeRie el AvalTg T Aehl HICTS (ARh! 3 Haer
&FTTReT) AT ¥R 94 | forpd STarie T aTen! qrwalTs, forereh! Ewaer ot @Tis et hd
T & AT T HF B AFATSehT U3¢ HTIehT IRaeT aRes fg T Teish
Wﬁmmtﬁ%ﬁmﬁﬁwwrﬁﬁﬁlRitarealizedthe

electric resistance of a wire depends on the length and cross-sectional area of

the wire. He took four wires of same metal with equal and uniform cross-
sectional area but different length. He determine the resistance of each wire by
measuring the value of current on providing certain voltage across them and
determine the relation between electric resistance and length of the wire.[A]
o) {dTe THhT 78 FIEIUHT &= =1 F &1 2 Which is independent variable
in the experiment of Rita? 1

) Tt TEhT I8 TEeaurT AT =X SWE\T ? Which is dependent variable in
the experiment of Rita? 1
) farer et 7@ wdieromT fafd =X % 8 2 Mention controlled variable in
this experiment? 1
) AT TR Statre T{aret fRrm=romT Tkt Frarfra =R foresht srary wenfua
Tﬁmmwm@ ? What activity do you perform
to establish the relation between electric resistance of wire and variable
that controlled by Rita? 1
9z, BT MISHT (SFTeAT % T BdT HISATE STHehT) Il TS T AT MSAT (Tl ME T
Td HISATE TR AT e S | BT ST HIAT TSATS SHHATSRT Tl e e |
U AT UfS M USST AT STHEAT | e, HrSeAhl MRl STERAT deteht
mwﬁaﬁa | In Hari's farm, there was a black cow (born after matting

between a black bull and white cow) and in Kamala's farm there was a white

bull (born after matting between white bull and white cow). Hari mated his
black cow with kamala's white bull. The cow gave a calf. Now, answer the

followings question on the basis of Mendelism. [HA]

a. TI%TWTT@W%PW Which one is dominant character? 1
b. WWWW@Q@H | Write the genotype of Hari's black
cow? 1
c. i 3fcaifad sheeTs et =enT sErsTe |
Sketch the filial chart of the given cross. 2

9%. EEIETA §Io! Tl ok ShIL0T Soci TR | FHHT Fof G5 T&T0T T LhHATHhT F Th
U ﬁ'@jﬁ'&r | Mention any one cause of heart attack and also mention two
symptoms and one measure of prevention of it. K] 1+2+1

R0. %) TRCANGNT WIahT o Bl ? Tw5HT T Jealiehl SR ST 1:4 B | Al qeefiang
G T STHRATE TZHTRT ST TS BT H Teeal THTHT o BLeh -5 2 What

do you mean by acceleration due to gravity? The ratio of radii of moon and

earth is 1:4. What difference arises in acceleration due to gravity of earth if
the size of earth is shrink up to the size of moon? [HA] 1+1

@) UM ZEA AT S | Ul TTaRehl IS 78.4m B | A W Ul Eh! gHTEE
T32T G Eq=1 WHTCTsh! SATHT HehUg ey STET ZTeReh! e B o Ui T3er
ZS T T | e B o WHThl G A o T GG WeaT 3TTelT
YU AT o SIHAHT SATZTAT W B T (1) TEhT 3473 T ST |




9.

R

There are two towers beside to each other. Height of first tower is 78.4m. A
drops a small stone freely from the top of the ground. After half second of
dropping stone by A, B also drop a stone freely from the top of the second
tower. If stone dropped by B strike half second fast than another. Calculate
the height of the second tower. [HA] 2
T ST B | e ATHAT W HshHUTERT SHIL0T T32T AT eh! Tl AT YL Hell Wl
Mg T I B | Pupil of both eyes of Pramila's father have turned gray-
spotted and now he is blind. Again whole black part of one eye of Pramila also
turned gray totally due to infection and she is one-eyed now. [U]
EF)H'EIETIWWWW%%W? What are the eyes'
problems of Pramila and his father called ? 2
@) 3 = forioset ft 33 a1 SR Aol TR =R FEd Fa 1e 2
EjreaitI @'@\Iﬁ'{{ | How does eye-specialist cure the problems of those
both father and daughter? Explain in brief. 2
TeT 1™ Experiment T 2" Experiment WWWW@IWW
WUEhT SR STAATAT SIS e 10 UHS SRINT STThT | G TATHT Sfeterdt Zgarehi
Aererare. =mE Rl © SHaTs garsenl JEEd afuRS | 3Fa aeeh
TYTEEeh! Wﬁf@'&[l Here, both in 1* experiment as well as in 2™ experiment,
same amount of Zinc and equal volume of hydrochloric acid having same
concentration is used. In both experiment gas is escaped from the nozzle of
delivery tube and ignite with the help of burning match stick. Now answer the
following question. [U]

Zn-Piece
N . {
15t Experiment 2nd Experiment

a. Sé Experiment HT RB Flask fimr T ey 233}[@ EISKEI ‘HQGhlf
Tt TSR ST AfteRorT SErsTe | 2
Show the balance chemical reactions that take place inside the RB
flask and at the nozzle delivery tube.

b. Ist Experiment AT 92T 2" Experiment HT Sfenr Qaaﬁ ST
eIl RTHR! ST 3T T SISl Seteh! SRaws | THeh! FHRUT ARG
TR | 2
The flame of the gas arising from the nozzle of delivery tube of 2™

experiment is longer and forceful. Explain its reason.

33. TTET ETEIFAleh UHSHT Slfauen! T TSaTs Ueh Jehiah! ®ITE YUhT WM™

TERT Tl gaT Rl o Fel g (ORI AAihaTeTs @xqiord. SiHeRtugRT
TEISTEY | I W@ SIS SR foferent @t qrmrglnd fomr T aeqiord
FI'&IEIWUT@'@:@'H | White fumes was appeared when a glass rod dipped into
concentrated HCI was place into the vessel containing a kind of gas. Write
the balance equation for this reaction. Sketch neat and labeled diagram of
laboratory method of preparation of the gas with balance chemical equation.
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11. %) DBMS= database management system ™) sub-national treasury regulatory application
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Bl 3a¢ 33 9&Ag% (Short Answer Questions )
Ts gl 3R fEeJerd ( Attempt All Questions) 8x5=24
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SO
ar IES 3T 9 fAegled QAT @ 9 JFN &
13.
IEEELS Detail Amount
Balance as per cash book 100,000
Add 20,000
a) cheque issued but not presented for the payment 4,000
c) bank credited wrongly in pass book 6,000
e) debtor directly deposited into bank 30,000
less: 130,000
b)cheque paid in to bank but not collected by bank
d) bank charge charged by bank but not recorded in cash book 5,000
1,000
6,000

Balance as per pass book 1,24,000

TR uig 9¢ AR AT IRAT Ui FATYTT ¢ &7 &3t @ 9 Aol &l



14. 3

Date | Particulars Dr. Cr.
A Plant account dr. 2,000
To machinery account 2,000

(Being depreciation on machinery wrongly debited to plant
account, now rectified )

B Office material account dr. 3,000

To purchase account 3,000
(being office material purchased wrongly debited to
purchase book , now rectified )

C Suspense account Dr. 72,000
To furniture account 72,000
( being overcast in furniture account, now rectified )
D Purchase account 5,000
To suspense account 5,000

( Being undercast in purchase account, now rectified)

gfgell T arEY T S 2.9 & el T
agr T Tt J1fr ¢ FEateT o SEAT ¢ AFR feo

3¥ar (Or)

Mo SHEAE YR AR BB dUT SRS FATWR IRT Fefos Aftes F simfes
wEfog Afaes | a7 I8 3 33 39X AT ;¢ AR

Brsal

- e W

- BIBd dled T

ELAEAS

- &A Mufagar

- aﬁaﬂﬁ%amagarmﬁr

ar I g5 - g3 dCl ISl dBISET oIWHAT ¢ FAFaTehl alol = ¥ FAFN

15. TIHRE! AW FATAAR HTUR FHeld; AT T TAT 0 Flofed A g | ReTerrs qgrasa s
goTeT e Efhes |
- Tedufas e
R
- AU YR
al I 3T el 4 G IMUR AT 0T FAT IRAT ¢ 7oAl alel © 9 TFR




16. 3

Exp. code Annual Release | Exp.Up | Exp. Exp. Up | advance | Exp. Balance
name budget | upto to for to Magh Except of
Magh Poush Magh advance | budget

21111 | Employee 3,00,000 | 2,30,000 | 2,00,000 | 30,000 | 2,30,000 2,30,000 | 70,000
remuneration

22211 | Fuel for 50,000 25,000 20,000 5,000 | 25,000 25,000 25,000
vehicle

22311 | Office related | 60,000 | 40,000 30,000 10,000 | 40,000 40,000 20,000
exp.

28142 | House rent 1,00,000 | 75,000 60,000 15,000 | 75,000 75,000 25,000

31123 | Furniture and | 2,50,000 | 2,10,000 | 1,80,000 | 30,000 | 2,10,000 | 8,000 2,02,000 | 40,000
fixture

grand total 7,60,000 | 580,000 | 4,90,000 | 90,000 | 580,000 | 8,000 572,000 | 1,80,000

Compare with annual budget 76.32% | 64.47% | 11.84% | 76.32% | 1.05% 75.26% | 23.68%

3ryar (Or)

17.

HET JGT gdieTeheh! HATIT Teh HaUTAeh AT & | AuToleh TITTeT 106 &Y AT R AT I
g sgaEdr & | faer dger el srfforaen e fharaet owr aRefor ) a8 Fem

HT A 8l |
IJES IR 3T GUaAr © 2 FAFsR
I geT R

J@T gIT&ToT ISt
@ gRefor T WA o

THIR W@ &= agey
r@r gReTor o diea

amgﬁma@m:xw

HRIT IV TXRRHT 7T T g | THAT TR YISl Il T 3Heriel, FoT

,3felcTel AT 39ER IHAT [Eooel [
ar IJES IR 3T AT ; ¢ FFR
ATTETHAT T TIET

WHERH [T TarhReRdr T 9018 STaTh fRaT HIFH I,
qrastters S it ¥ aRaresT areRff s=m3e

Thiehe T o gfddes TR g
T gfshar gear 9137




18.

ar TJES ¥ JeT NEEThdl JWAT © ¥ FFaT

AT FETAAHT FHFegel ittt gaar
- HEATEIH! A T Sl T3
- FeS TAed YOTSHAT deoet
- YHIGHIRAT FeT3T
- UEH THRY o3
al 3 Feol ¢ geT GAT 90T AR WA ¢ FFR et

ATAT 3T T3 YEA6S (Long Answer Questions )

S yeT I ﬁ'ﬂ%’lﬂ' ( Attempt All Questions)
19. Aifgeh T AfhIT STTEUTITRT AT FATIAT HUH S2rhT YAE fAamafey g qeurens o

Hfem I swfaes | Sy At gomel syafeya s9aT Tt 91, SifosT gor 3eg dahdr

20.

fagasr T s a1t gur S dfhg yomelr fawra IR @wer nfdes forarrery gome

3x8=24

T3 o AfAers ggaer o= At AT TR af *F FiT daha KT |

aT JES IR 3 ATTCAT © 3 AFaK
F
- Hel fAeRreT
- WHPRA dF T TealghR
- foeeh Rfas
al 3 Feol T H JUI Fled WA © 4 37k

Trading account
Dr. Cr
Particulars Dr. Particulars Cr.
o Oping stock 30,000 By sales 3,00,000
To Purchase 2,00,000 By closing stock 30,000
To wage 15,000
To gross profit ( B/F) 85,000
Total 330,000 Total 3,30,000
Dr. profit and loss Cr.
Particulars Dr. Particulars Cr.
To general expenses 10,000 By gross profit 85,000
To salary 20,000 By net loss (B/F) 4,000
(+) outstanding salary 5,000 | 25,000
To insurance 5,000
To depreciation 49,000




Total

89,000

Total

89,000

Liabilities and capital

Amount

Assets

Amount

Capital 2,30,000
Less: net loss 4,000
General reserve

Bank loan

Creditors

Outstanding salary

2,26,000
70,000
1,50,000
40,000
5,000

Furniture 490,000
Less: depreciation 49,000
Debtors

Closing stock

4,41,000
20,000
30,000

4,91,000

4,91,000

SR QIaT AT @ R &
AT AFaTT fAeT @ 3 FJFs

qraeTd AT @ 3 JAFa

A) ) Dr. B.E. Furniture and fixture

21. Cr. DTCO TSA

B) Dr. B.E. house rent
Cr. DTCO -TSA

C) Dr. Kharidar, Mr. Raj Fuyal, advance for Furniture and Fixture

Cr, DTC-OTSA

D) DR. Employee Employee Remuneration

Cr . employee provident
Cr. Income tax
Cr. Social security tax

Cr. Citizen investment trust

Cr. DTCO-TSA

E) Dr. employee provident
DR. Income tax
DR. Social security tax

DR. Citizen investment trust

Cr. DTCO-TSA

550,000

1,00,000
4,000
5,000
20,000

421,000

1,00,000
4,000
5,000
20,000

Al $RPT PRAAT Dl TaR0T AT e ITRTHT HTAT

A dg 8.9
B el 2.9
C dls 2.9
Domg:T

F 1S ¢.9 &7 eXol e |

129,000




22.

Particulars | Cash Bank balance Budhet exp. advance Misec, Remark
balance
dr | Cr | Dr Cr Ch. | Balance B.H. | Amount | given Cleared | dr Cr.
no NO
M- | Paid for 5,000 (5,000) 5,000
2 dress
material
m- | Adv. For 1,00,000 (1,05,000) 100,000 | 1,00,000
5 | furniture
purchase
m- | Advance 10,000 (115,000) 110,000 1,00,000
18 | cleaared (100,000)
M- | Salary 178,000 (293,000) 220,000 40,000
25 | distributes 2,000
M- | Received 293,000 0
27 | payment 293,000
order
fagaredier wfg 3ov feuan,
A= 2.9 oot
B= ¢.9 feat
c=t.9 oo
D=¢. f&a¥

E=R o



aa

: AT HHETeleT T T

quiTE: by AT : 3 gUer

g 'S’ (Group -A)

Ifa Blel 3T A3 AT (Very Short Answer Questions.)

TS TAHT I ﬁ?-l,?m'( Attempt All Questions) 11x1=11

1.

10.

11.

AT SYTEATIAHT el G TCl Hecd 3oold el ( Mention any two importance of the
office management.)

SIf0IsT d& =i & & ? (What is commercial bank?)

Il dAFsR Hoollel & T51g=0 ? | (what do you mean by PAN? )

&R F#afahT Fot g5 T 3EERUT 3eald@ IEId | (Mention any two examples of fixed assets
by

AUTThT AXHRT AEAT JUTNHAT Heldel Pl g5 el AR oRFEd | (Write any two agencies

that involved in government accounting in Nepal.)

TSIET @M Haia! & 8 ? (What do you mean by revenue accounting?)
@Rg 3 T &= ? (Who gives the purchase order?)

ERIE A el areTenl eRIET TEaRT iRl FHAT TIR 9eigid | (Prepare the retention
journal voucher at the time of returning the retention amount .)
ATTCTAT STGTORIETOT 31ef Fafed fehra Tl 8 ? (Which is the apex auditing body in Nepal?)
Database &I Fei g$ 3HIeT JINWT / Heed ool Iigid | (Mention any two uses / importance
of database. )

TR FF R | (Write the full form.)

-DBMS
-SuTRA

HAg '@ (Group 'B')

N

B! 3 334 9eA8% (Short Answer Questions )

¥ geeTh! 39T fETEIN( Attempt All Questions) 8x5=40

12.

13.

gicidesl sl & g1 ? Yiddes daR UleT €t feefde INIew é?é?g?[a\—nﬁwma%’n{l
(What do you mean by report? List out the aspects to be considered while preparing a report. )
(1.5+3.5)

YT Gra 31T Aegledes BlehiAT aule e | (Explainany 5 principles of tax in brief.)



14.

15.

16.

17.

FAa Feor el oaTe GREcshTl & ¢,00,000 deh Hiseld S@IVH | I Fohaler Hs3ar Sg1d
FAITSH ®F QAT ( Cash book of Sunsari supplier showed Rs. 1,00,000 in bank balance but
while making comparison with pass book / bank statement, following discrepancies were found.)

A. % 0,000 HI deh ST TR R T HFclleliehl AT SeheAT TEJT TR I | ( Cheque
issued but not presented for the payment of Rs.20,000)

B. Udh AT TUSTUHRI TR dhel TSHheled sT9RPI T 3,000 (Cheque of 3,000 paid into bank
but not collected by bank)

C. Sehel oIl ST TRAI & 8,000 (bank credited wrongly Rs 4,000)

D. d% Yoh &.8,000 WY dehed WIAMEIC Heel IR o 9Te WITHAT TS FAMRTh! ( Bank
charge Rs.1,000 directly deducted by bank but not recorded in cash book)

E. 3mmareter @gr o aIf@ar ¥ &,000 IRAI (A customer/ debtor directly deposited into
bank Rs.6,000 )
Required: &% Ramea fAamer f&9Tor ( Bank reconciliation statement)  (1+1+1+1+1)

Todolsl GAET0T IR I3 <grd SAIfSIAS aifed 9aT dmlet o=l | (Following errors were
detected after preparing trial balance.)
A. ARG T 2,000 HeUGHATS Tollee WIATHT 3TTHeIW HTeRT | ( Depreciation on
machinery of Rs.2,000 was wrongly entered into plant account )
B. FTATCT AR & 3,000 & @RE IRVHAT @R TIAHAT ATHe@ HTHT | (Office
material purchased for Rs.3,000 was recorded through the purchase account.)
C. T. ¢,000 T BTk WRE IRPIATE ¢o,000 HfFA@ TSI | (purchase of furniture
Rs.8,000 was debited as Rs. 80,000 in furniture account.)

D. foshr QIEARTAT T 9,000 Fa AW #TH (Purchase book was undercast by
Rs.5,000)
Required : ITfed A3 e (entries for rectification ) (1.5+1.5+1+1)
31ygdar (or)

sfianforeh wIstolg siienl & g1 ? silonferen wisfeigar oo g$ -g$ der wger T Swigar
3oold ?IF-l%TH I (What is geographical filing ? Mention any two advantages and
disadvantages of geographical filing.) (1+4)

AUTel IhRP! AWT HeTelelehl Pt YIAIET YR U I | ( Explain any five basis of
government accounting in Nepal government ?

el foroe TRI6T HEardesh T f4aoT 3uelstl IRTSTHT ©: (The detail expenditure of

Sankhuwa Sabha district education office are given below.)

EEN EECANILE] ¥ Fore dweEEe @ | ATEE @9
feara . | Budget head [CICRIcC) Expenditure up | Expenditure of
B.H Annual budget | to Paush Magh




21111 FHAR iy fEs 3,00,000 2,00,000 30,000
Employee
remuneration

22211 AR T Soered 50,000 20,000 5,000
Fuel for vehicle

22311 FEATT &y @ | 60,000 30,000 10,000
(Office related
expenses )

28142 T HATST House rent 1,00,000 60,000 15,000

31123 BieTay aar e 2,50,000 1,80,000 30,000
furniture and fixture

U9 AR (_additional information)

1. BiAaR 99Fr T F. ¢,000 HAT TR | (Furniture advance Rs. 8,000 is not cleared.
Required:
TR THEN. (Required):
AT AR WIS BieaiR (Statement of expenditure for the month of Magh)
3rygar (Or)

HETIGT GI&Teheh! rATerenl TR=T eI | TR Fol TR HrdgEen! qoTe
31?:1%1{ | ( Define auditor general. Explain any four functions of auditor general. )

18. EIRICTRIY $1eiohl o 8T ? JHHT RIS T GAT dR GU eIgIe What is consolidated fund?
Explain about necessity and use it ? 1+4

19. HRATET HATSIAHT FAAT JTAhT ot ¢ 3iTeT T goTe (e | (Explain any five uses of

information technology in office operation.)

HAG "M (Group "C")

N

JHA 36X 33 9EA8% (Long Answer Questions )

¥ geeTeh! 3T fGTeTH (_Attempt All Questions) 3x8=24
20. HAIT dh AR & g7 JHHT Fol Gl e HIEE I I{ER | What do you mean by
central bank ? exp it's any five functions. (3+5)
21. TRl fIaR0T Fol TIET sTGATASR HEUETE  forguent g | ( Following information are
extracted from a business organization )
faavor (Particulars ) Debit Credit
AR HISEId (Opening stock) 30,000
@RE (Purchase ) 2,00,000
foshr  (Sales) 300,000
Wi (Furniture) 490,000




3METHT (Debtor) 20,000

gl (Capital) 230,000
QTI§' (Creditors) 40,000
ST (wages) 15,000

FIYUROT WA (General expenses) 10,000

deld (Salary ) 20,000

STAT (Insurance) 5,000

S F|UT (Bank loan) 1,50,000
ATYROT IAfd (General reserve) 70,000
SIFHAT (Tatal ) 790,000 790,000

YT SHTdhl (Additional information )

a) 3fead HAlSeTa (Closing stock 30,000)

b) fdeT STehl deld (Outstanding salary Rs, 5,000)

¢) Biaaamr 9fa av g0 % Hedeld (Depreciate furniture by 10% p.a.)

IR tﬂﬂﬁﬂ' (Required):
1. <IM9I Wrdl Trading account,
2. (ATHT qUT sAleFdTe @TT) Profit and loss account

3. Hodeled gR&TuT (Balance sheet) (2+3+43)
22. Following are the transactions of district health office, Morang :

A.

Ro¢g-02-03 BTtk WRE T Yo,000 FI HFlA TG SIRT IINAT | (2081-0103: Issued
payment order to DTCO of Rs.50,000 for furniture purchase. )

R0¢8-08-83 ENHTST FTUAR T o, 000 T Fcllell IS SR aIRAT | (2081-01-.12:
Payment order to DTCO for the payment of house rent Rs.70,000)

Ro¢g-02-20 : Wietek R AT WRER A AT FATATS & 2,00,000 URET Fcllall
AT | (2081- 01-17:dvance given to kharidar Mr. Raj fuyal Rs.2,00,000 for the
purpose of machinery purchase.)

0¢8-08-s : FFEARIPT dold 9,930,000 ( FHAR! FIT HIY FAA ) ALY FHART TIT
HIY ¢,00,000 , IR T ¥,000 , HAIH F&TT FX T 9,000 T AW AT HIY &
R0,000 T INT HFAT MM SR IINAT | (Issued payment order for employees'

remuneration Rs.550,000 as per rule (including provident fund ) after deducting EPF
Rs. 100,000, income tax Rs. 4,000, social security tax Rs. 5,000 and citizen investment

trust Rs. 20,000.)

R0¢%-08-3R : FHeel INHN (A FFAfeYUd  HIATIAT STFAT IRAT | (2081- 01-29:
Deducted amount are deposited into concern office,)

Required : journal voucher 1.5+1.5+41.5+2+1.5




3yar (Or)

el [Tl STTehrIeh! JTURAT A HTY HATeTel deb F7TET Fohcdlel TIR i |
(Prepare bank cash book from the given information of sunsari agriculture office.)
(1.5+1.5+1.5+1.5+2)

A. ATE - 2: 9T FHEA WRE SO § 9,000 =l AL ST (Magh -2: Paid for
dress material Rs. 5,000 .)

B. HTH -o4: &R IeT IR BieTer @Reh! aml F, ¢,00,000 YT HFcllell ARAN
| (Magh -5: Advance given to officer Raj Adhikari for the purchase of furniture of Rs.
100,000 .)

C. AT -2¢: Blelax TWRE Tl & 290,000 &I ITURAT IFHEAX ST IFTRIRDT IHT HSAT
IIRAT | (Magh -18: Advance of Officer Raj Adhikari was cleared on the basis of furniture
purchase bill of Rs.110,000 .)

D. HTH - 9: SFAT dold & Ro,000 HEY AYAGTAR HHAUN HIF IV, HATSIH F&i
Y T 3,000 Heel INT dold R HFarEr 3Meer f&gar | (Magh —25: salary
payment order for the month was issued after deducting employee provident fund as
per rule and social security tax Rs.2,000 out of total salary Rs.220,000 )

E. #TE : AT Higalrnl TaifieeT @il dreifciehr ATthel sl foleprem 3Eer yred $1av |

(Magh 27: Received payment released order through treasury and comptroller office for
different expenditure which are made for the month of Magh.)



RE-ELE4421
SEE Examination
Basic Electronics
Time: 2hr Full marks: 50
fRuar Feemsr e 91 e e 39 e
w“$” (G roup “A”)
TART TAgEale IuH faFed FTIe T STLYRAHAT TG :
Choose the best alternative from the following questions and writ it in the answer
sheet: (9%x1=09)
1. 3T weer ot sareest Numeric value % 21 2
Numeric value of Yellow color band in resistor is
a) 3 b) 4 c)5 d) 6
2. Semiconductor #T Forbidden gap wfa gr?
Forbidden gap in semiconductor is
a) 0eV b) leV c) 3eV d) 7eV
3. W SEE FATIANT T T ?
Photo diode can be used in
a) Smoke detector b) Voltage regulator
c) LED bulb d) Frequency controller
4. Forward Bias #T# g=g?
What happens in Forward Bias?
a) Depletion area Increases b) 1% increases and then decreases
¢) Remains as it is d) Depletion area Decreases
5. Varactor =s=atE & AME?
Varactor diode is also known as
a) Capacitor diode b) Rectifier ¢) Tuning diode  d) Power diode

6. DC Power supply =t Filtering &= s ?

Filtering in DC power supply is done by

a) Capacitor b) Diode ¢) Inductor d) Resistor
7. Center tapped full wave rectifier 77 #fqaer Diode g==?

In Half wave rectifier number of diode used is

a)l b) 2 c)3 d) 4
8. BJT & Emitter &1 & g=?

Emitter of BJT is

a) Moderately Doped  b) Lightly Doped
c) Highly Doped d) Very Lightly Doped
9. JFET &%t Device g1 ?




What type of Device is JFET?
a) Tri-Junction  b) Bipolar ) Unijunction d) Unipolar
7 “@” (Group B)
T TIZEE Flel IAT AGaH
Attempt all short answer questions (5 x5 =25)

10. Resistivity ¥=#r & g2 & THE a@e™l &=uar colour code ate Resistance
4l ('I*II\‘SQ'QIHJ
What is resistivity? Write its unit. Find the resistance from the given color code.
Red Brown Yellow Gold
11. Semiconductor T TFREE TAlag e T fadigedars AT T
List out the types of semiconductor and explain them.

12. =T=AT aEfEE FE0 TR ATl e |
How Biasing is done in Diode? Explain them

13. NPN zrfesteeat &1 ffgra e T
Explain working principle of NPN transistor.

14. P-=amrer JFET &1 &4 Frgaars 960 @r=e qied ATedT el
Explain the working principle of P-channel JFET with neat diagram.

w 6611-” (G roup “C”)
T TIZER ATHI IALT AGRH
Attempt all long answer questions (2x8=16)

15. smaem AFfad T smeeqe a9wwH a@fga Full wave bridge rectifier v 7=#1 #1& frgr
T SATEAT TR
Explain Full wave bridge rectifier and its working principle with necessary figure
and output waveform.

16. @S TegeE *® g2 AT T Ag@ ®? Symbol FERIE™ T He egshl

Truth Table I™TTEM |
What are Logic gates? Why it is important? Draw symbols and truth table of

following gates.
a) AND b) OR c) NAND
All The Best




SEE Examination Question Paper preparation

F&7-10 quris : 50
fawxr —Floriculture and Nursery Management &5 — 2 hrs.
(Group ‘A’)
fRzuaT ReeTge 7ey 94 AT e ST SR
Choose the best answer from the following options: [9%1=9]

9. Te=arer ST Sias =oh T2 9 UF 99 TS dTs & Aidwg 2

Plant which takes one year to complete their life cycle?

a) TF afa=(Annual) b) T= aft=(Biennial)

c) 9g atua(Perennial) d) I=TagZ(Evergreen)
2. FAN %1 7 7 5 21 ?

What is the full form of FAN?
a) Floral Area Nepal b) Floriculture Association of Nepal

c) Flower Asian Nepal d) Flower Association Nepal

3. QAT B ATe F TATEETRT TH0 T ?

Which propagation techniques is common in Gladiolus?

a) Leaves b) Stem c) Corms d) suckers

. Tuberose &I T=ATH ATH & gl ?

What is the scientific name of Tuberose?
a) Tagetes erecta b) Polianthes tuberosa
¢) Rosa rubiginosa d) Gladiolus tristis
W, FTFETE 961 F 38 dTe Icqid AUHT 2l ?

The word bonsai was originated from which country?
a) India b) America c) Japan d) England
%. T AT Ao e ?

Which pot easily breaks?

a) Plastic pot b) Clay pot c¢) Cemented pot d) Metal pot

w. faere T 91T sare B a9 Te e ?

Why is hotbed mainly prepared?
a) For fruit cultivation b) For vegetable cultivation

c) For flower cultivation d) For raising seedlings



¢. GA F FT 1R T30 T ?

Use of GA induce?

a) Seed dormancy b) Seed germination c¢) Both d) None

?. Carbendazim TeTshT HeT F Avaiid Taw ?

Carbendazim belongs to..........c.cooviiiiiiiiiien. ?

a) Fungicide b) Insecticide c) Herbicide d) Rodenticide
(Group ‘B’)

I TIEEE! Gl I AGR

Attempt all short answer questions: [5%x5=25]

Q0. ASTATE AEaATATS AT STLTTHT ARG T2 ? FLHIAR]
SAEATIA FHEL T AL ?

Classify ornamental plants on the basis of lifespan? Write in brief

about maintenance of lawn? (2+3)
9 9. T fazuaT TowanT T2/ el I g=ae Ta

List out 2/2 varieties of each of the following. 5
i) Gladiolus ii) Rose
iii) Chrysanthemum iv) Gerbera

9 3. THATRT (AT THEGe AGe [M7? TEL (HISITHT TN 9 FFA ]
T 3 FA€raT g 2

Enlist the types of pot? Write any three properties of compost used

in nursery media. (2+3)

9 3. T FOATE TR T € | FATSHI T 3 Taerwar age i |

Define epigeal germination. Write any three characteristics of

Sphagnum moss. (2+3)
9. AN TSIAT AT T Fel T AT FIUZE AGR 9 | FieThl 3/3
ThIEal T dhISalg® dgaH

Write down any two reasons of using sexual propagation. Write 3/3

merits and demerits of Cutting. (2+3)
Group ‘C’

TS TIEEH ATHT SAL AG

Attempt all long answer questions. [8*2=16]

LU, FIT | WA AT TART JIEEHT F49T T2
Highlight the cultivation ‘marigold flower’ under the following
headings: 8
i) =T 919 (Scientific name)
i) graTaTT T 7Tef(Climate and soil)
iy  SITa(FT 3=)(Varieties-any two)
iv)  @ms« gaA(Planting time)
v) T feg(Pinching) vi) Harvesting(f¥r=ams+)
vii) FReT-F T2 (Pest-any two) viii) TRT-F = (Disease-any

two)

9%, AT fo=aT ITUTE T 3Tt (e JETor fohey ey 2 St a7 fafosr
TATEgsahl aTCHT TG M | ATHEITHT 3/3 HIEET T dhalge d@gd |
Give reasons for using vegetative propagation to produce new

plant? Explain in short about different techniques of layering. Write

3/3 advantages and disadvantages of grafting. (2+3+3)



